2 PAPER CODE : PL-1 (SHIFT - 1) Question Booklet No.

Series Code :

Write this code in OMR Answer Sheet.

N 39 I I OMR 3T e & 3iferd L |
| A ‘ ‘
— 1. Roll No./ T F. 2. OMR Answer Sheet No./ 37.TH. 3R, 3R 1< i
* 3, Candidate’s Name/ 31%32ff =61 91 *4.&‘1‘%%Wﬁﬁ@€3ﬁﬁ%{$ﬁiﬁ%m%|

Candidate’s Signature/ 31%eff & BERT
* As per Application Form./ 9T e U § 3Afhd TR B |

Invigilators’ Signature/ (1) (i1)

Sierhi < EaTa

S.No. 1,2, 3 and 4 are to be filled by the Candidate himself. No. of Pages in Question Booklet /
A 1,2,39 461 qid T srwrefl gr B o R T giEdehl § $A T3 : 96

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following five Sections : Section — I,
IL, 11, IV and V of 30 — 30 questions each. The candidate has to attempt all Sections. Each question is of one mark. No marks will be deducted
for wrong answers. For unattempted questions kindly see Point Number 4 of important instructions given on last page.

3 Y- § FA 150 TS e Y & | - o Ui @uel H faiforg § qen wefi @ug e e 7 | S @vs-1 I 11,
IV @ VH 30 - 30 J& & 41 Y 1 37k 1 B | T I o 13 RIS 37k hIC &1 T | STA ST o ey | gfeaent o 3ifad

T m kA e P A wen e I e
PAPER CODE : PL-1 (SHIFT -1)
Total Questions : 150 Time Period : 2.30 Hours Maximum Marks : 150
Sections Contents No. ?f Question Nos. Page Nos.
Questions From To From To
(1)) Child Development and Pedagogy 30 1 30 3 12
an Language-I (Only One Language)
As selected by the candidate as medium of instruction in the 30 31 60

Online Application Form as Language-I from the Languages
given below :

Hindi 30 31 60 13 18
English 30 31 60 19 22
Sanskrit 30 31 60 23 26
Urdu 30 31 60 27 32
Sindhi 30 31 60 33 36
Punjabi 30 31 60 37 40
Gujarati 30 31 60 41 44

Language-I1 (Only One Language)
As selected by the candidate as Langauge-II (other than the 30

() Language-I) in the Online Application Form from the Languages 61 92
given below :
Hindi 30 61 90 45 48
English 30 61 90 49 52
Sanskrit 30 61 90 53 56
Urdu 30 61 90 57 60
Sindhi 30 61 90 61 64
Punjabi 30 61 90 65 68
Gujarati 30 61 90 69 72
(IV) Mathematics 30 91 120 73 80
) Environmental Studies 30 121 150 81 90

Note : In Sections II and 111, a candidate has to attempt the questions of Languages compulsorily, selected as Language-I and Language-II in
the Online Application Form. For Hindi version of the above Table and Note refer to Page No. 2

|Read the instructions in English and Hindi at Page No. 96, last page of this Question Booklet|

PL-1 A [N M)




PAPER CODE : PL-1 (SHIFT - 1)

PL-1

Fauw: 150 ety @ 2.30 gue qutier : 150
FATHA & e
e e —ammht & kil i
k| h ke h
(I)  |sr-Ternmm wa v faftmt 30 1 30 3 12
(In) | -1 (e o )
grerefl gr1 s e % wem o i e 30 31 60
wrret # @ wiwr-1 % &9 H AT 3TeeT T H 3Afehd
R
=R 30 31 60 13 18
SR 30 31 60 19 22
TR 30 31 60 23 26
39 30 31 60 27 32
faen 30 31 60 33 36
TR 30 31 60 37 40
TR 30 31 60 41 44
(1) | -1 (et ues )
reeff gy SAieTET 3reed o 8 =atid w11 S wer-1 @ 30 61 90
= it e frmenr = feferfaa wonsti 8 9 foen w2
=R 30 61 90 45 48
U 30 61 90 49 52
R 30 61 90 53 56
35 30 61 90 57 60
Taeft 30 61 90 61 64
O 30 61 90 65 68
TR 30 61 90 69 72
av) |nftm 30 91 120 73 80
V) | weieor siemam 30 121 150 81 90

e : anefi gRT WU - 11 Tal 111 T SIS STTae U=t T fT 7o SRt = WTeT—1 Uel Wie—11 3 &0 H foha 2 Seit 9 o U9 o
FfEmE

A

| 3o som—gfeere & siftm g v 96 W siish aen R A RA g PEm A wE | |

@)



PL-1

SECTION -1
wus - |
CHILD DEVELOPMENT AND PEDAGOGY
e faera ua e it

There are 30 questions in all in this Section.
All questions are compulsory.
30 @UE H FA 30 I & |
aft T A § |

In Hull’s formula for effective reaction potential, which symbol represents reaction
inhibition ?

(A) sHr (B) D <) Vv (D) Ir
& o TuTelt fdfshan Gvrear g | yfdafsean fue o1 wdfies w2 2
(A) sHr (B) D © Vv (D) Ir
How does Gardner suggest Schools should implement the theory of multiple @E"
intelligences ? (==

(A) Focus solely on linguistic and logical mathematical intelligence

(B) Train teachers to present lessons using diverse methods like art, music and
role play

(C) Standardize 1Q testing to identify intelligence types

(D) Limit the teaching methods to traditional classroom approaches

e % 3ER 54 foga =l formeri § fhe TR o] e =mfey ¢

(A) had WTSTE 3R dTfehes TR fgHar W e ik

(B) foereni =l et wfla 3R yftrerr-a1fi S fafay alient 1 3w *eh e
T % fore wfwférd e

(C) TfGHTT YhR hl &= oh fordl 1Q TEIT I HIehichd hich

(D) Toreror faferli ohl qRATR Shed oh GiEehivl Teh HA Sich

What is the term for adopting someone else’s behavior or personality traits as one’s own ?
pting p

(A) Sublimation (B) Identification

(C) Projection (D) Compensation

foreht 3171 & =IIER A1 SAfaded AV bl T gRT 31U hl FIT Had & 7 *'EI?
(A) SeTefreRT (B) T&=H
(C) & (D) aferyfd

3) A
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4. What is the primary feature of “Action Research” ?
(A) Itis a dynamic process
(B) [Itis a theoretical process
(C) Itavoids problem solving approaches
(D) TItrelies solely on self-evaluation

“fopaTeaeh IEYM’ < e fereivar wm R 7
(A) I8 U TIlershiet wiskan 2

(B) IZ U TgTiaeh Wik &

(C) ¥E THET THIYM gfSCehlvl § S=al &
(D) I had T-HeARh W ¥ o &

5. What indicates difficulty in understanding or remembering what was read ? ] F
(A) Forgetting the book title
(B) Inability to recall basic facts from reading
(C) Reading with high fluency but low comprehension
(D) Excessive note-taking

e T UTS ol HAGH AT ATC Hid H hiSATS 1 Hehd AT & 7
(A) TE I S & ST

(B) UE T UIS ¥ WA AT I AlG T H AT

(C) 3I=9 YATE o T1Y YT TATeh HH THSAT

(D) AT Fred SHMET

i

(=]51[s]
Bl

N

Which of the following is not included in the Guilford’s three basic parameters of the
structure of human intelligence ?

(A) Specific factors

(B) Contents

(C) Products

(D) Operations

Ffiad § & -1 fdwiS o AHd g i 981 o dF gHAE queeE § e
TRI7 7

(A) Ty e

(B) o =g

(C) 3cU1g

(D) TN

A @

EE
i
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What does the “Comprehensive” aspect of continuous and comprehensive evaluation
focus on ?

(A) Only academic subjects

(B) Holistic development, including cognitive, physical and socio-emotional aspects
(C) Focusing solely on co-curricular activities
(D) Limiting evaluation to classroom activities

T TF ST ooioh o Jaiid STk’ Uge] 1 T BIhd F1 8 7 g%@.
(A) haet Segfires faw

(B) @y foepm, fam damTcTe, Sifeh 3R AmTioeh - WTeHTcHs T8e] a8
(C) hael T8-Sefires TRl W S shiegd &

(D) TR I el hl TR qeh HiHd e

What type of adjustment mechanism attributes frustration to external sources ?

(A) Extrapunitive (B) Intropunitive

(C) Compensatory (D) Sublimation

ST FHRISH 3 AT i STad ial T a8 7

(A) wf&cueTensh (B) 37d:CUSIcH

(C) wlidqeh (D) 3Tty

[=]#[=]

According to Maslow’s hierarchy of needs, what is at the top of the hierarchy ? "Iil__';"
(A) Safety needs (B) Physiological needs -
(C) Self-actualization (D) Self-esteem needs
HIEAT <hl SRRl UETshH o ITIHR, TSR o MY T T g1 & ?

(A) & JTETIHATL (B) IRk mmagaehard

(C) 3ATcH HT&TTehR (D) ATCH-THM Sl ATIITHATL

Which of the following is a characteristic of a backward child ?

(A) Above average educational achievement

(B) Higher intellectual capabilities than peers

(C) Below average mental and educational age compared to peers
(D) Strong language skill

ﬁmﬁﬁﬁﬁﬁﬁ'—r ot we fUme arerenl 6t foRivar 2 7
C(A) 3THd A IR A fers Suafsy

(B) HWaeh o1t § 3= Sifgeh &

(C) 3ftaa THfdes 3R SAferes 31 ageees it & fm
(D) WTST shierel <l Fgqorar

®) A
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11. What does the “basic potential and capability” of the learner include ? Eig
(A) Mastery over the subject matter e
(B) Readiness and will power
(C) The inherent abilities and skills of the learner
(D) Adjustments with the teacher
tferTaeRal <l Hod &HdT T A | I e § 7
(A) Tora ot quf srfereRn
(B) AT 3T STBIAfH
(C) Toremeff <t sfafifed emamd it Hwa
(D) et & |y wEESE

12. Which is the primary factor in shaping behavior according to behaviorists learning
theories of motivation ?
(A) Instinct (B) Social interactions
(C) Reinforcement (D) Cognitive skills

O AN o STTERATE! 3erg fgidi & AR SIEgR il R ¢ a1l T & SR
[ET PH—T 8 ?

(A) vy (B) @R 37q:fsham
(C) YseH (D) HIHTH I

13.  Which of the following is not included in the concept of personality ?
(A) Psychophysical system
(B) Dynamic organization
(C) Determination of unique adjustment to environment
(D) Static organisation
SAfddcd 1 Heheu 1 # Fefetfad & & siq-a1 afftferd T8 8 7 gﬁ?%
(A) HATETER aF
(B) TcATcH BTG
(C) aTaTaR § 31qd FHRISH b1 e
(D) feer T

A ©)
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15.

16.
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What is a key emotional challenge for disadvantaged children ?
(A) Inferiority complex and negativity

(B) Overconfidence

(C) Hyperactivity

(D) Foresightedness

mwr%ﬁa—cﬁéﬁmg@rwgﬁw%?
(A) EFar Uty 3R ThrreTehar

(B) 3Afd—3TeAfavam™

(C) 3TcafYeh Afshaal

(D) Qeff

What is the formula for calculating Educational Quotient (EQ) according to Burt ?
(A) CA+=EAXx100

(B) EA+CA x100

(C) CA+EA

(D) EA+CA

o ITER ek Afey (EQ) < TUMT 1 G F1 & 7 FE’
(A) CA+EAx 100 =
(B) EA =+ CA x 100

(C) CA+EA

(D) EA+CA

Which ability develops during the pre-operational stage ?
(A) Logical reasoning

(B) Symbolic thinking

(C) Concrete thinking

(D) Hypothetical thinking

- e 3 A F-a e e A 2 S
(A) drfches qoh '
(B) YdiehlcHeh i<

(C) 7o fom

(D) HIeUlh A=

) A
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17. What does the RTE Act state about teacher responsibilities for assessing students learning ?

(A) Assess the learning ability of each child and provide additional instructions as
needed

(B) Focus only on completing the curriculum without assessing students abilities

(C) Conduct assessments only at the end of the academic year

(D) Limit interaction with students to classroom teaching

CIEE 37RELE. srfule ol o Hied o qeihd o fore feresi i ettt o swd

' hEdl & 7

(A) TIH T hi TG i SHAT ST odTohd hi I STTTLIHRAT oh IR TR
fgw g

(B) B Uil i Jearehd fohT foHT Shael TTewishd I i T &I higd

(C) <hact ANeaforeh ¥ o 37d § HeATeh i

(D) BT % T qTa=ta hl HeTl 311 qeh diftra @

18. Which one of the following is not a projective test method of personality measurement ?

19.

(A) Word Association Test (B) Thematic Apperception Test
(C) Rating Scale (D) Sentence Completion Test
frfetfad & @ - tsh safdaca Ao & gamor gher 6 fafy 78 8 2
(A) Sreg-TTE=d e (B) Tarsr-3meraneq qdieqor

(C) ¥ A (D) I qfd we

According to the principles of development, what does “Cephalocaudal @—
=

il.

Development” signify ?

(A) Development proceeds from the lower body to the head

(B) Development starts from the head and moves toward the feet
(C) Development begins with the limbs and moves inward

(D) Development has no specific directional sequence

[F1%[E) forepra = fagr=di & 38R WW fe@m™@’’ (Cephalocaudal development) T
EES o e 2 7

(A) TommE st o et feed @ i 61 IR sgan @
(B) foepra RR @ % BIa1 @ 3R T &l IR 5eal &
(C) faerma 37T € & BIa1 8 3N 37eT ! AR o&dl 2
(D) Torerr =1 1E fafdmse fosm s 7 gran 2

@®)
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21.

22,
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What is the primary focus of “child-centered pedagogy’ as per NCF — 2005 ?
(A) Memorization of textbook content

(B) Giving importance to children’s experience, voices and active participation
(C) Strict adherence to traditional methods

(D) Encouraging competition among students

NCF — 2005 % 38R ‘‘STA-hi=d e’ 1 7&d ®hd =1 3§ ?
(A) UTSIYEAeh Shi TTHIUT I ATG HEAT

(B) sl o IFMEl, AT 3R Afsh it i Hged ¢

(C) urufeeh faferat o1 a&dt @ urerd

(D) Bl % s gfdeast i s ¢

What teaching method is suggested by students with ADHD to help them learn ?
(A) Using only verbal instructions

(B) Providing lengthy assignments

(C) Avoiding use of any visual aids

(D) Using lots of pictures and visual clues

ADHD 978! w11 1 Hia & Weg % fore -1 e afe ggen w7 o
(A) Faet e FrEei 1 I we =
(B) <& 3TETEHS AT

(C) Torelt ¥t goa |l o6 ITART & §=T

(D) ¥&d | TER 3T g3 Hehdl I ITAMT HLAT

c | 3
B

What term did Bandura use to describe learning through observing other’s behaviour ?
(A) Direct learning

(B) Experiential learning

(C) Vicarious learning

(D) Cognitive learning

G0 o GEUl % SAAGN I eIk hich HIGH hl w1 A fem ?
(A) veI& Afm

(B) 39as AT

(C) TYFMY= AfeRm

(D) TAMTCHS TR

&) A
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23.  Which type of imagination is classified under pragmatic imagination of James Drever ?

Eﬁ‘EI

=]

(A) Practical and Theoretical
(B) Aesthetic and Fantastic
(C) Artistic and Creative

(D) Constructive and Creative

E, ﬁm@m%mqﬁwm@mﬁﬁawaﬁwﬁaﬁ%%mw% ?

(A) STTEETNh 3R Agifaes
(B) digaTeaeh 3R ARG
(C) HATHS R TS
(D) TTEATHS IR FoTcH

Which mathematical model is used to describe the relationship between heredity and
environment ?
(A) Addition (B) Subtraction
(C) Division (D) Multiplication
CEIEE smafierar 3fit waferwr < deg 1 9vi w1 & T wH-a1 T wtea swe fme
R 39
(A) S (B) ®erd
(C) wm (D) Tom

25.

What does the NCERT’s document ‘‘learning outcomes at elementary stage” state about
purpose of learning outcomes ?

(A) To promote uniform teaching methods across schools

(B) To prioritize rote memorization of concepts

(C) To ensure that students achieve age appropriate competencies

(D) To focus exclusively on theoretical knowledge

LA A, F e R T W ey % ke Hie F uRee e
% 32w 3 AR A @ wE 2 7 5
(A) Toamert § weh aue freqor fafeert st serer o

(B) 3TEERUMSAT sl Te4 1 Tgfd I TAfEhal <1

(C) 9§ gHfaa e foh B 319 U G&AaT3Tl il UTed ohi

(D) <had HgIf~ieh FH T LH higd AT

(10)
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26. What is the main difference between growth and development ?
(A) Growth refers to quantitative changes, while development includes both
quantitative and qualitative changes
(B) Growth is related to mental development only
(C) Development stops at maturity
(D) Growth and development are completely unrelated

gfg 3 forerm o e T Siat w1 #

(A) Ffg AmTeHS TG Sl HEfHd HLAT &, TaTh [oohE HATCH 3T TOTTH GHI
Ui sl STt LT 3

(B) dfg ad gHfees g @ wafid 8

(C) fapra uftasardt T ek SITT 8

(D) 3fg 3R o qoia: smwafya &

[=]#[=]
27. What is the correct explanation of ‘individual differences’ in psychology ? [l
(A) Variations or deviations among individuals in regards to a single or multiple
characteristics
(B) The resemblance among people of the same species
(C) Similarities in emotional responses among individuals

(D) Similarities in thoughts and behaviors among individuals

TR | et fafir=rarsti” s ot sawen = @ 2

(A) AT | Tohet AT 3k faransni & wedl o fafaeand = foeem
(B) T & USITdl % <N & sfi= FHMAT

(C) AT T TaATcHeh JiATshaTati § o

(D) SAfddt # foemi 3R SIagii § Fudr

| |
Ayl

ol

28. Which theory emphasizes the influence of environmental contexts on private speech ?
(A) Vygotsky’s theory
(B) Piaget’s theory
(C) Both theories equally
(D) Neither theory

:E: -4 faga fsht Ty w gferefts Teyl o YuTd =l Hgcd <dl 8 ?
(A) TRt &1 fag

(B) ot =1 fagra

(C) ¢t faga v &9 9

(D) i3 ot fagra T8

[§8)) A
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29. B.F. Skinner emphasized between measurable behavior and stimuli to
explain learning.
(A) Fundamental analysis
(B) Functional analysis
(C) Basic analysis
(D) Language analysis

EIEE Y. U, THT A 3R shl SAET i o fou AHEE sTaER qen IEgeh o o
e ESRCRIEN

(A) 3URYd faersor

(B) wrfcgeh fergermor

(C) et fereersor

(D) w1 feget

a1

[=5i[E]

30. What does ‘monitoring’ involve in metacognitive skills ? Gt
(A) Deciding how much time to give to a task
(B) Asking questions like “Is this making sense ?”
(C) Completing tasks without feedback
(D) Ignoring the task’s difficulty

S e e % s o 8w wi d
(A) Teret st =Rl fepaT Twr AT B 3EeRT fAvt o
(B) TH B H ‘TN AGEHA H @& 7
(C) wfefshan o fomm Rl g e
(D) R 1 HISATS I IHCET HAT

A (12)
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wug- 11
i1 |
=it
T @UE H HoA 30 TH B |
Tt w9 et § |
S

few : frafafaa meme & 3YR W yH-EE 31 9 34 9 o I ST e

S8 U9 UEA, Teh W A AT al Tl 3hi 35heal o TTST 3T 3T el <l | 30 TohR 36
Teh AR @Il hl; T &9 <IN 38 ST ol 919 T&f IHd 8 | B3 Toh 9o, foeid ol
groft o1 S foh o W hl WIS H Tk TIW W g TIH 11 B o1 | TRt § wdl-srdl
QIS sl | 319 38 5 W@ 72l @ | 3HY 0 6 & o & § Th HgH qidad A1 | 98 Th
Torg™ &9 TRIT 3T 3199 @ o TIU 3T I A | 3T 3Y HISH hl @IS § 3U-34T WIohd
1 AT el off | HIhl T % g et 3 afed w1 snfaser foma |

ElEE
31, ‘Hrhl Gug uver RRE 3 ORd 1 snfaseR fR | R o At B e R

(A) dfey yaehra (B) 3TE— YdhIcl
(C) HMH= MdehTel (D) U YdehTd

32. T H Yeam 9§ W W6 & &
(A) §U@ (B) I
(C) 3 (D) uroft

33. f=fafigd o @ "ea wge=a’ § ygwd g aren e @ ;:I%?
(A) @ (B) fram
(C) WA (D) "I

34, TS § WIF T Ieg 1 37 B
(A) TS o < =g
B) s FE WA
(C) Toumer == aremn
(D) S ®d 9Tl =W
13) A
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35, IESS ThE 7 T aUT U’ o AR wlie o fmfor § fehdw | st SigEeer fema

(A) g B (B) =R BT %7 el
(C) = |IaHT (D) < |E

o [aNE aN

36. T=fafga @ @ ‘enifed’ @

(A) TIT-YUHAT shTHAT

(B) 3@ <hl T TSI Tl
(C) difaar Sam
(D) ST T a1 BT

i

El'ii‘iEl

E.'ﬁ-i:.:

L4

37. TH-aer % fore Shd e 3

(A) T T [WcHAT 3Tl B |

(B) HWH-IM=F ¥A 9 Y&H GHI TR o LR H g-h Bl & |
(C) UH-ar=F "fgeh areq % &9 § a1 31 Tehar 7 |

(D) HF-ar=H JaTeRd 9T id W = & gy gen = |

. . . [=]#[=]
38. Tr=feifad § 9 “Gsi-veay’ =1 3¢ 2 g

[=]gs
(A) 9RA % JGTHA
(B) I % TUN TN
(C) <o 1 4N o8
(D) ferefi-a-forelt Tt

39. IUEICHe 3101 o & § fyafafga o @ s Haites 3w 8 ?
(A) e
(B) cfifors
(C) R
(D) faa-fawares a=

A (14)
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40.

“TST-TIETT o T 3Fa YA @ El%’

(A) ‘waT-frerr’ o fofu ‘3vqd & g4’ g9 WA 7 |

(B) ‘wrST-fareror’ @ fofu ‘Sifedt & W@ 1 STER0T @I gial & |
(C) “wrr-foreqor’ & ‘3 @ fema’ g foreiy 3wt g 7 |

(D) ‘WIWI-Tr&r @UE § YU GF h YR W AT 0T & |

41, oA S’ T8 7 S 2

43.

4.

Iucfeyr adteqor St ER@T & qLd I YT A dehd @ 7

(A) Tt (B) ffreh
(C) T (D) =mTEt

. ‘TieeHd yunet § [ o wiem o fien & St 8

(A) 3 ¥ 6 a4 % ol i
(B) 4 ¥ 599 o d=dl &l
(C) 49 799 a=di &l
(D) 5% 7 a4 % sl i

TEA T BT 3 I ICHA HA ATAT HFET B

(A) Il T
(B) el @R
(C) et fafean = @ fmm

(D) 3 =

=l
Gfd
(A) Taw-a&q 1 316 favrem

(B) <&-faerfor st amo=

(C) A&l % HEw o faea

(D) 9 @it

15)

PL-1
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I-I..r
2100

fereft o gTa el TRt 9T Sl ST 1 & o S W ffafea @ @
S ot ‘foow fo R

(A) I g

(B) oo fug

(C) frcers form

(D) Sg =

oix0

‘T TTeq0T ST FEY had T YGH AT 8 YIHTG TGH AT I a1, Sfoh W HieH

EIEE aret Wi 39 9N fafag wiwel ¥ g8 SHET 35 S8 GAA1, e ged 3R foraar |

e

47.

48.

49.

SR afwTeT € TS R
(A) T dEl g
(B) 9mTgHT

(C) TH. . e[ g
(D) e faard gra

‘TS TR F 37T |

ST ITe 1 TR &
(A) HEE HIh (B) F=BTEIU
(QIRELICIPES (D) Tef®

= a9 goearl < e dielt 7 S 2
(A) & (B) e
(C) wTel (D) erel

T 318707 o foTu S1eaTaes !

(A) Soaor gEet Jfedi i Frager T8 we =Ry

(B) Ternfefai gru fopu U 3131 W= 6 3fud wmgs it SAEvTehdl TEl @
(C) T Sieft o THTEl I G T8l AT =118y

(D) STRI-T=HT W HIs &I T8I <1 1T

(16)
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ST <k TaTET fewes aIel | E o & |
;s e H Cfad
(A) féae g
(B) e o faamedt
(C) SiTed
(D) TEue uget @ 7 =@ 8 -
féw : faferfaa mearmer 6 snuR W yvE-TE 51 9 58 9% % IW AT | E,fgr

JTfereRat AT forsu] Bt qTeTehtl HTHeRt 3eh! IUTEHT hid @ ; Tors0] ITei ohid & a1 Hes e id
3 | 39 W Torvam ek afg wwek i & fasy w2 o 18 rfarifed 7 gnft | 3R | I 9Tt
T e, 9ot W =R S ot 7, I81 9 b Sore Wt Suehl W M @ | qoe wa
T, A Ted ISRt 3R Faitd Wed Fiem w1 afe = &1 2 a1 379 IRA™ 69 i ¢RaT |
97 T A W GBI ol RG] 8, T 7 TETeht GOl ! o GaT & | 38k STIIH AN %1 JHHAT
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31. The correct passive voice of ‘He draws a sketch everyday.’ is @'1@_
(A) A sketch is drawn everyday. [Eless
(B) A sketch was drawn everyday.
(C) A sketch is being drawn everyday.
(D) A sketch was being drawn by him everyday.
32. The phonetic transcription of the word ‘description’ is
(A) /deskripsAn/ (B) /discroplen/
(C) /dr'skripbn/ (D) /diskrip/n/
33. is a drawback in the implementation of the direct method in teaching of
English.
(A) Use of mother tongue (B) Familiar texts
(C) Lack of facilities (D) Charts
P F Nos. 34 to 40) : R
assage (For Q. Nos. 040): @E;

The old man sighed and picked up the chisel and the hammer. He loved his work and did not want
to change it for any other work in the world. For days together, the man worked continuously
without taking rest. His one desire was to finish the sculpture which would be his last. He worked
till his hands began to tremble and his shoulders started to ache. His arms grew heavy and his
eyes grew tired. And then he couldn’t see anymore.  E&E[E

il

[eleS%

34. 1S a noun.

(A) Picked (B) Desired

(C) Chisel (D) Tremble
35. In the phrase ‘... any other work in the world’, the word ‘other’ is

(A) noun (B) subject (C) object (D) determiner
36. ‘Continuously’ is

(A) adverb (B) noun

(C) adjective (D) conjunction

(19) A
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37. The sentence that is incorrect due to the use of wrong determiner is
(A) He worked till their hands began to tremble.
(B) He loved his work.
(C) His arms grew heavy.
(D) The old man sighed and picked up the chisel and the hammer.
(=] =]
Ty
DRl
38. is that incorrect sentence.
(A) He loved his work.
(B) It would be his last work.
(C) His arms grown heavy.

(D) He worked till hands began to tremble. EEE
39. Cotton is than wood. Choose the correct adjective. ﬁ%
(A) heavier (B) lighter (C) heavy (D) light
40. The comparative degree of ‘heavy’ is
(A) more heavy (B) most heavy
(C) heavier (D) heaviest
41. The correct word with this symbol (0) sound is
(A) brother (B) laughter
(C) great (D) higher

42. ‘Unit of teaching is a word’ is a feature of
(A) direct method
(B) indirect method
(C) grammar cum translation method
(D) communicative approach

[=]#% =]
43. ‘Reading is a process of sight, sound and scene.’ is quoted by rl‘ji_%
(A) P.B. Ballard (B) Dr. West
(C) W.SS. Gray (D) Jesperson
44. ‘They will not help their needy neighbour.” The correct question for the sentence is
(A) What did he do ? (B) Why will the neighbour not help ?
(C) Who will they not help ? (D) What did the neighbour do ?

45. In learning English as L2, the following skill is acquired independently
(A) vocabulary (B) listening
(C) none (D) all
A (20)
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46. In CCE, the focus remains on
(A) progress, process and product
(B) course, test, performance
(C) time, process, assessment
(D) formats, product, record

47. ‘When we learn a second language, we tend to filter the universe through the @EE'_
language already known.’ is a principle of it
(A) Using mother tongue (B) Exposure
(C) Habit formation (D) Motivation

48. The Communicative Approach develops
(A) the speech and expression ability (B) grammar skills

(C) knowledge (D) vision of learning
49. The use of multimedia aids such as T.V., radio, computer etc. in teaching is also
known as approach.
(A) visual (B) software
(C) audio (D) hardware

50. ‘The doctor has given her a good treatment.” The passive voice of this sentence is
(A) She was given a good treatment.
(B) She gave the doctor a good treatment.
(C) A good treatment was given to her by the doctor.
(D) A good treatment has been given to her by the doctor.

e

Passage (For Q. Nos. 51 to 57) :

He began to believe that most of the diseases were caused by bacteria. Many other scientists
also treated bacteria as the enemy of man. They could not be seen but are present everywhere to
cause mischief. Dr. Jenner in England had already discovered vaccination for small-pox. Here
Pasteur was trying to discover a cure for a terrible disease called anthrax. It killed lots of cows
and sheeps in France. He tried to give the cows and sheeps some weak germs of the same disease
to make them safe against disease for the future. It must have seemed a very dangerous idea in

those days. Many scientists were angry about it. ,I_El:%:
(=]
51. ‘... but are present everywhere......” According to the passage, the underlined word
means
(A) sold (B) lost (C) found (D) forgot

1) A
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53.

54.

5S.

56.

57.

58.

PL-1
The correct spelling is
(A) Mischievus (B) Mischievous
(C) Mischeivous (D) Mischieous
The noun form of the word ‘discover’ is %%
(A) invention (B) discovery =1
(C) discovered (D) invented
The word opposite in meaning of ‘present’ is
(A) everywhere (B) absent
(C) attendance (D) gift
‘danger-dangerous’ is a pair of
(A) noun-adjective (B) noun-pronoun
(C) noun-adverb (D) adjective-noun

“To act or behave in a certain way towards somebody’ is
(A) treat (B) inject
(C) cure (D) wvaccinate

One word for ‘illness of body or mind’ is
(A) disease (B) healthy
(C) bacteria (D) vaccination

: : [=]#% =]
There are tests in education system ?&%
. O f Rt
(A) to fail the learners
(B) to pass the learners
(C) to grade and rank the learners
(D) to detain the learners

‘I am sick.” The correct question tag for this sentence is
(A) Aren’t1? (B) Areyou?
(C©) AmI1? (D) Amyou?

One of the features of the portfolio in CCE is

(A) Objective tests

(B) It promotes diversity in the assessment method
(C) Partiality

(D) Record maintenance

22
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SECTION - II1

LANGUAGE - 11

ENGLISH

There are 30 questions in all in this Section.

(=] =] All questions are compulsory.

[elees
Poem (For Q. Nos. 61 —67) :
Sticks and stones may break my bones
But words can also hurt me.
Stones and sticks break only skin
While words are ghosts that haunt me.

Slant and curved the word sword fall

To pierce and stick inside me.

Bats and bricks may ache through bones
But words can mortify me.

Pain from words has left its scar
On mind and heart that’s tender.
Cuts and bruises have now healed;

It’s words that I remember. g'i-r_
61. The correct example of alliteration is
(A) Bats and Bricks (B) Slant and Curved
(C) Cuts and Bruises (D) Mind and Heart
62. Identify the literary device used in the line ‘Slant and curved the word sword fall’.
(A) Personification (B) Assonance
(C) Alliteration (D) Rhyme
63. ‘The words fall like swords,’ the device used in this line is a
(A) Alliteration (B) Simile
(C) Personification (D) Hyperbole
64. Identify the literary device used in the line ‘Stones and sticks break only skin’. @EEJ
(A) Simile (B) Metaphor it
(C) Alliteration (D) Rhyme
65. The rhyming words in the poem are
(A) Tender-Remember (B) Fall-Bones
(C) Bones-Skin (D) Scar-Healed

(49) A



66.

67.

68.

69.

70.

71.

72.

73.
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‘While words are ghosts that haunt me’ the literary device used in this line is %%

(A) Metaphor (B) Simile
(C) Alliteration (D) Assonance
‘Pain from words has left its scar’ is an example of
(A) Simile (B) Personification
(C) Alliteration (D) Rhyme
is an example of cluster-sound.

(A) L (B) sk ) s (D) k
Ours is a country of many languages, so 1s the suitable approach
for teaching of English.
(A) Project approach (B) Communicative approach
(C) Multilingual approach (D) Situational approach
The officer is keenly the murder mystry.
(A) looking into (B) looking after
(C) looking for (D) looking out

: : . oL [=]zk[a]
According to the nature of obstruction, the following are the fricative sounds "ﬁ%
(A) p,b,t (B) m,n ©) frs D) t,d3,J |

1s a merit of objective type test.

(A) Deeper surface knowledge (B) Answers are short and definite
(C) Short term preparation (D) Descriptive answers
You pay your debts.
(A) will (B) can (C) ought to (D) may

Passage (For Q. Nos. 74 — 80) :

ap0|

oF

For better relationship the first and foremost factor is mutual interaction and regular

communication among the members of a family because through communication only we can
understand each other’s aspirations, expectations, desires, strengths and weaknesses in a better
way. It is essential that parents should spend time with their children. They should give them
freedom and opportunities to express themselves. Parents should give them respect and due
attention to boost their self esteem and self confidence. Children don’t like when parents/elders
thrust their view point and decision on them. This attitude curbs their free thinking, creativity,
independent decision making ability, in other words the spontaneous development of personality

A
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gets hampered. Another important factor affecting relationship is that each member-child or
parents should feel the necessity of fulfilling responsibilities towards one another. Otherwise
things don’t work and there cannot be mutual understanding and comfortable atmosphere in the
family. [=]5[E]
(el

Choose the appropriate option :

74. Mutual understanding an important step in building healthy relationship.
(A) have (B) has (C) are (D) is
75. The parents the needs of their children.
(A) are fulfilling (B) fulfil
(C) has fulfilled (D) is fulfilled
76. A number of factors for better relationship.
(A) make (B) need (C) contribute (D) makes

77. The suitable title of the passage is
(A) Good family
(B) Healthy family
(C) Necessities of a better relationship
(D) Making peace

(=] =]
78. It is the imposed decision of the parents that responsible to spoil the ’Eﬂiﬁ
o . e =l
child’s free thinking.
(A) can (B) is (C) held (D) would
79. If the parents lack to fulfil their responsibilities, they cannot expect the same from their
children .
(A) either (B) neither (C) or (D) nor
80. Mutual interaction and regular communication can make atmosphere in
EIEE the family.
(=]
(A) needful (B) developing
(C) comfortable (D) sad
81. The correct transcription of ‘soon’ is
(A) /Jun/ (B) /su:n/ (C) /son/ (D) /san/
82. Idon’tthinkI be able to go there.
(A) can (B) shall (C) must (D) should

(D A
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(=] [=]
83. The following is not an objective of remedial teaching. T

(A) to segregate the students ET

(B) to prepare suitable assignments including easy to difficult tasks
(C) to prepare items to test the learning that should take place

(D) to highlight the weaknesses of the students

84. In order to learn a foreign language
(A) One must adopt many approaches judiciously and rationally
(B) One must master many foreign languages
(C) One must select the students
(D) One must be subjective

85. The robbers the defenceless travellers.
(A) setup (B) setupon
(C) setin (D) set out

86. The remedial teaching strategies include
(A) Peer support programme
(B) Reward scheme
(C) Feed back to the students, parents and teachers
(D) All the three

87. 1s an example of velar sound.

(A) z (B) o (C) h D) 1
88. A sonnet is a short poem of lines.

(A) fourteen (B) sixteen

(C) thirteen (D) fifteen

89. While working with communicative approach, the Indian students lack = E
(A) Confidence

(B) Adequate exposure to the target language

(C) Facilities

- (D) Audio visual aids

[=]%[=]

s

90. ‘In the nick of the time’ means
(A) when the time was over (B) when they needed time
(C) just at the right moment (D) just after the accident

A (52)
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. E N
CEREN GRS Rl
od I GHIEAT: |
61. ““IF: WA (6.15) aTed AfE Tesfd’ | gi;‘

[m] efr
(A) HreivgaTed (B) HUTENgaTE
(C) FgugaTed (D) UGHYgHTE
62. TEYU-HIAY HfqT Hivre fopy Afeq ?
(A) YSTHIEH (B) SI@ehISIe
(C) WTYUThISTe (D) SEvThISTa
63. ‘‘TOUH I WA WTEE:”
3T ey, 3faq-ged
(A) fem (B) HRUH,
(C) Sfraq (D) UM
64. ‘w3l TR Fuil: wafd
(A) AHFgeE (B) ;M H I
(C) 94" (D) I
65. dEY 9TE YeheHa Toh whivrery 3= ?
(A) HTHTUThTITAY (B) UaehIe
(C) TEThITg (D) HEUThISTY

66. HYT TR fg-T srecy wepusrei & wafq ? EE
(A) TITEHTTHH
(B) aEssHM
(C) ST MM

(D) fisreTersRATy

(33) A
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68.

69.
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“F: 99 qelfd’ 3caE I IreauiEd dqd

(A) §: & R | (B) o & ERid |

(C) o & earfd | (D) T 9 Erd |
SR GEAA TR ead: iy Iy fowrsifag s 7 Eﬂ%

(A) 7Y (B) 9§

(©) g (D) ¥

* STTCATeRTd. TATH: FIqa: 3Ieq’’ T@TgaueHTIThed SRAH-E $Hed

(A) =& (B) o

(C) =fE (D) T

TSI IR et = U ST YR sk 3t e ared: vafd ?@fﬁ;"
(A) TEETE (B) W e
(C) Trieqor=r (D) uftteror

FfaRaay afed TamRHIURISe T (71 — 75) THTET:

foarg dmd = TewenaH et | At gew foge S = faememn wafa afs a0 graersted
@R 7 Wald | forrn Svmarq i TR shaed 7 S, 37d U9 Sgal MeAeaye a9 €&
Fdfed | 31a: Samfy e gamon frerace smavesh add | e wrgee: sdean: @t

JTAEATET TS THHM: S | 1)
Bl
71, “famR gema”’ g 1 fawfed:
(A) Tt (B) gt
(C) =geff (D) S
72. ‘“‘etEca’’ 3= & | ?
(A) SRcaE: (B) Tcdmf-d:
(C) T (D) sgeaEfea:
73. “OIqREd:” 3O h: GHE: 7
(A) 3repfvE: (B) HHUT:
©) &= (D) dcges:
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foremmn s1uTaTq St TR Sded 9 AT | Seaferd e ooy fog ¢ EE
(A) Temmm: (B) haesm
(C) 3rETq (D) Thrm
“HON:" 3 o T ?
(A) I (B) =
(C) 3+ (D) 3fy
“IIR: g8 fassfd’ aTeRIfie e - R -diEaad gﬂ%
(A) IR g fafsssafa | (B) aT: 9&i TUrEafy |
(C) oL g& Tt | (D) It g4 fafsssafd |
FuieHTE -Igfa: &: fafy
(A) =Ty (B) vefafy:
(C) drerferfer; (D) srefafa:
(A) U3~ (B) T=ilaH,
(C) huaresH, (D) 7
HRIIT ¥ Fraf-aHg-ae a1
(A) g (B) HHEMGT:
(C) HRgssrifig: (D) TRl fEga:
‘o qitq: &= afa’ dTethie. SeneEd
(A) el ufa: esnfor = | (B) @1 uita: amfor | |
(C) 378q uitd: &mir af | (D) @1 ufa: ganfor af= |
JEIETYGAY ATTEd
(A) JATRRETN (B) wMUE:
(C) TqAThREA-UTE: (D) ea=alera:
[=]#:[=]
“H 38 T | 31 | ST AT §EhdTae: waftd it
(A) 3789 3H I TesIH | (B) 378q 09 I 31Ty |
(C) 3189 39 U 3TT=eq | (D) 3789 39 UG ATT=sY |
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Ul HEUT, TEA T WU IR ed e sk st e ek
foreror fergreaer R 7 =

(A) Tifgs wEi-frgrae (B) Imae fagras
(C) % Trgra= (D) wHaE-fagrae
“95” AT &I H&hd fo@d |

(A) Yseard: (B) UseaHdfd:

(C) vsaHafd: (D) USEGIHald:

‘g AT yeaudl” geaferd fagt wia: st wafw o

(A) P (B) @R

(C) -EEaHIH (D) IeaEITT

FrfeTRad YeeRHTERIhed FHTTohdT: TET: (86 — 90) HHTSA:
U TTEnE fagr Fa=rs ey Wa fuaay | O]

W autewashy A sR-ye= aferel e 1] e

86.

87.

88.

89.

90.

ST Tl b BG: SFH ?

(A) 3H: (B) st

(C) U (D) wreem,
‘WA’ A U¢ %: b ?

(A) g TABR: (B) fafufarg eer:
(C) g I (D) T TABR:
“W: g 3o T fagy @

(A) TIHHITFT (B) e

(C) gfeersH, (D) 3I9IfeTEq
“INA-TE= Hird "ehiieq’ geas fomrsaae fopy 2 gﬁ%
(A) FE=T (B) ¥, |
(C) =hiiEd (D) Hfete™
‘I IS h: G 7

(A) T |f: (B) 3mfe af-d:
(C) <rd afe: (D) vy e

(36)



ﬁ PL-1

1§ )
- b

Y (3[)
EEE w y .
i _émeyrzéﬂwQ¢uf o e L i o L e et G130 o2 K

Dy oy Z (64 61) wulréé/@quﬁl Ll
Jﬁ)&ﬁJuLJJ%UJ//—é&)/;[fﬁi&"ﬂlg:w(lf"u’:'/‘é»/%yig—/mbéﬁgﬁuul"
d/k”/i/(é@k«‘ufu’ﬂf%kf-éL"l?u@ﬂu’?%?ést«?u’s'féf’vgufuuwf_@g/uﬁ”
ot § 0 3 o e 37 e L8 i ot ot e s s, G

S s g ey & Uz b et F DS S 7 e (B il =

S .
e e g S U 61

S (D) Sef (© Sdu o (B) Sl (A)
St vl ety £ Ubrgbp U s (F 62
& ij U’KJ-*" W s

2 (D) & (0) A (B) S (A)

e L;:‘J/(/"’Kiﬁﬁé‘/ﬂﬂuu fl;Lfﬂ” .63
< S £y

Ul (D) 7 (©) fs/F (B) 4200 (A)
FEVL I
Al (D) Lo (©) S B) sk (A)

[E1Z[E .
B s d L G e
Jbz (D) A 1 (C) AT (B) A osfy (A)
(57) A



ﬁ PL-1

&bk U/,*“K“.é»' v'fl‘mtaJul‘(f‘;»ﬁ’/u:u%M/"uf .66

PG S D) mpGh (© vk B) ezt (A)
[=]#[=]
'@E, ¢b/d'¢&vu LY b osr 67
Jl:}g:/.,/i’ (D) e (C) £ (B) L‘Jbﬁ J[ (A)
g by JUVI l{ﬁuut(&écﬁkg;/’ .68
Lz (D) =+ (0) 5+ (B) £ (A)
e Je dUe Ut 69
<lt (D) (O Fob (B) € (A
o0
IE'PE ﬁé—UU/ﬁJj&,«g b/u)"w J,wl;" .70

2/ 813 (D) 27381771 (C) 2P 6&5 (B) 2/ dBL (A)
G- Gb é’/(}v JU:/;’}":.AI U/ ‘Usb} g i} J(Lc‘_loL Lﬁg J1

2PEUd D) A ulek (©) 2 Eustl (B) 27 64l (A)
‘éu&lﬁi J_/u/’ S b e b,

»» (D) () U (B) £ (A
qe b O Ui v E et 73

44 L el (D) o A1) ks B) bt Lk (A)

@% Lol ' 74

AdbrEF D) L g dm © whlorad B) 6o (a)
s G bWl e b e nt T
3 2 b (B) AL g

2b i3 (D) e (©
A (58)



PL-1

B a L 19676) iy Loy £ S on 131 s o
At A W ihe D (”‘JUTL%JJUEU;;U%
ub«,macj-if%u’!’b.«'/(u', I ulf‘m‘f—b/@;c‘_didf
fueenforde LE psureioru s L ued
G o e S ST Ut e U L G

s &L e 76

Sz (D) S © & (B) G (A)
e g AL RGP e 77

&t (D) LT (©) Sk (B) 7 (A)
%%w-w%wu:u'w@w 78

el B dededs (A)

oo £ F (D) Sy Lat (C)
te J8 0 2 GATL RGP e 19

urd (D) A (0) U (B) (A
eSS Uds 80

¢ (D) J (©) 3 (B) U (A)

G L/uﬂc J:C 81

- (D : (C « (B ¢ (A
(D) ©) (B) ()EIE:'EI

e

te el U diee 82

Ligm et (B) e T T (A)
v o 4 T (D) Uz A (C)

(59) A



DA
=y (D)
g (D)
£ (D)
ok (D)
OE{o
i
5 (D)
A

C‘,&ﬁw/)ﬂ({dg"’/iérﬁj%|/u;d”u

SN

OeN(®)

Fe (©

b St (B)
317 <t (D)

s (C)

s B) A )
el

B g ¢ WL B

5 (B) =T (A)

ol Velv 6 216 P amw 2

Je (B) Js (A)

s Gn 5 o Ur 05 Ut S O

ey £ sl (A)

&« (C)

st b A O/ S ek LS JE g

“eUl (B) b U (A)

i(umu S {

- (B) el (A)

4 ©

s (et § 05 P e e S P8 U 0

sl é/‘" (B)

475 (D)

g ©)

Sder1ss (A)

§ o (C)

G/c—/l» J»Cc,;' C}/c,/lﬂri/ O
e =l Sl Ut U

s (B) 2 (A)

(60)

PL-1

83

84

85

.86

87

.88

.89

90

o] ]
gy
OfRt



@_ t PL-1

guvs — 11
LI § |
faeh
Sl 30 Farer A |
FAS FaTeT HIOT S TR |

efS f3eTel & wél Farerf=r i Starer forat @ (61 @ 65)

mE 837 o &Sl A, 37 Ao Fest @ 9,
g@fa St Rifa, A8 @ o Afear
35 Hizf sisar A | Afd dagria w=wr 2
S8 Sielr Sff ey #F ofefl R37 ofew,
g@r U qdeR 38 # Sig faar
SRS R Shaf, o afRdy Mer A= @,
T oY am, e =ufa e,
3T hI37 Tdel 3 ? FITOT FgaTH hidf ?

CIEE wersd #fig, dgr aRegie faw # |
G
61. T 39 & e AT IR -
(A) HATESIH SN gam (B) #ES3T Sl &
(C) A S aRFETar (D) &S S g
62. AT §9 3 R 318 -
(A) T (B) s
(C) wge (D) e
63. A Usc S HAT IS -
(A) ST (B) @
(C) SR (D) dirfer] i
64. HTES Higall TR 7 B3 - s
(A) TEERE S (B) R S
(C) wfsgfer it (D) #gaiar S

(61) A



65.

66.

67.

68.

69.

70.

71.

72.

73.

e |gr s -

(A) dSIC g & AR 31 |
(B) ddel @ T f3ar W
(C) @ aa« g wg f3ar an
(D) areT ad- @ f3ar | ar

PL-1

el
UTOT A R e I o @ AR - [Eeen
(A) °Ts® (B) =m3r
(C) «fig (D)
fEeor ¢ qeror arr el @l 3 -
(A) @13 (B) euer (C) = (D) fzar
g3, TR, MR, 31979, INART o ey - ElEE
(A) ¥ e
(B) & e
(©) &% fo¥er
(D) %
(A) 3R T Hemees (B) a1 ¥ gfemm
(C) as1 - a3t (D) et ¥ Faem
for@oy afgd fAenfagiar st sedare ot -
(A) TfegfT 5 (B) aafr 3
(C) T (D) des S
HAT HAT gUIT A Si ATAT 3HTg -
(A) TET FIRALT HII (B) WFg 9av[
(C) f#er Ry (D) Tl FER]
T s Tor@or S 3 v -
(A)  wremady (B) FUT-gEroT (C) qxa@d (D) er ST
B2
A oS St g 3me - [SloE
(A) 3mider (B) afeat
(C) N (D) 3Fe

(62)



74.

7S.

76.

77.

78.

79.

80.

81.

82.

83.

OLn
grone fRe (el FfY aog F oS - s
(A) 1853 (B) 1947 (C) 1967 (D) 1950
gd fo@er 3 gsE # asfd org fafer -
(A) IR (B) 3mATRRY
(C) ys=irg (D) =R
THafaml awer St fSew Hqaret e -
(A) forafar (B) e
C D
©) =ad (D) &= e
IR 3R S Radr aMopTr o 7 AR T FoT WI- i
(A) AR f3For @ (B) %¢ for @w
(C) s f3aor @ufe (D) e HHaTS
HINT AT AT A W ai o @y ar-
(A) LT (B) 3reama (C) =aTg (D) g#A9
3feg SH3 ST fRATer 3 -
(A) Bifesdr (B) amsr
(C) By (D) =st
JPoaem @ freAfa & fagry &y 3me-
A) = (B) faf= (C) =i (D) daifer
IR o5 ufgsl Thor o WEfaTer & forws 3mg -
(A) cEard (B) &q
(C) Rereh &g (D) R
NS Welfel ST TR {f@ar 318 -
(A) MeeTee], 9ev], for@my, quvy (B) &Y, @], gy, aMeersv]
(C) ooy, quvy, ameets], %7 (D) I, Meers, T, fawy
Tofi3r far ofrs ol 3y I &F g% IRk 3me - gi;
(A) Toftsr B) foar
(©) (D) 3t

PL-1



ﬁ PL-1
84. ‘FIeIa¥AT W Sildel ST AGI@! Flel’ IAT Mg -

(A) FogwEard (B) @ ¢ &

(C) forer A (D) =
85. < 3, 8 & U 3@ e

(A) T9f¥ arT (B) ®US arr

(C) f3er amr (D) & arT
efSal gt &l a1 udl T3 garelfa oI Sfare foral: (86 @ 90) g%@

& T e deela o foieg areeTR 3me | g Hfes & &er # got, fedr & oo
TR g TR § R I SeY g o AR qUA, e g e AR o
3e(7d IMegigel | g AR Bige oY fashY of gl 3me | g e # By g siore Sl 3l
I 50 3 SIS erlies A | AoeRe S Rieshyr F g 9k so € e o &
fAaTer e Y o7 | Sawfie g 3 off ddieg Sl o ARy @ gorgmsor # a2
3l g goH U 3ol S Ao go o dfgol fSenfiar o domefr @ gy &Y o @fe 3me |
g 3T A SIS g W Sl deel @ dfsh 3w @ gy HRov 3w ¢ O
GfgSl deoiid o 3T & SHrd & “Sh3 ¢ ST 3 o fgia s weerer o 3mg | O
fereedre o dfaed= # Afcuad @ smare W@ afgslr srerer smr, fafy, dfayg @, @9
R, Woh wfol wie gRa @ Rieg w@on s 1 EEE
86. ToTd S MY - RS

(A) cries 3¢ 93 &9 oS | (B) erlies 3me SIS 9% &Y |

(C) 3me erlies S8 &Y 55 | (D) 5 8y I3 ALY e Ime |
87. Udieg’ Uuse ST AR IR -

(A) AR B) W

©) 7R (D) &

88. o Tt ufgsh wegar i foicg IR 3mmg -

(A) AT AT (B) S HEha

(C) AT gTer (D) ST AT FaTH!
89. i3 ¢ Sfiafor v 3me -

(A) 3mel™ (B) faaia (C) agroft (D) wfaar .
90. Tt gl S 3ofar 3 - %‘E

(A) R (B) smw (C) Regea=r (D) ffeeh

A (64)



61.

62.

63.

=)
n

(=]5:1[s]
RIS

66.

67.

iR

|

PL-1

¥z — 111
g -1l
e (GTh)
for d3 39 98 30 yris Ia|
A YHS IIS Agdl IS
OLn
Ul @ FoR fonlet T feow de At 9 - i
(A) dI.F (B) 8,9 ©) 4,37 (D) &, 7
TB-HEfIMIS € '3 @ wigdy @6 fHftmr & fedt 3
(A) Hesme3fid fedt
(B) w<g feut

(C) wisdge fedt

D) femdme3fya feoit

(A) © HET 5J<96 T fCRH3T ©Fe IS

(B) 7 mEE &' 7 ugs< ©f fennsT S Is|

(C) = m=e forzdt f8a1 & fenasT EAC Ia|

(D) 7 "= yfEar < ferms A Ja|

I<t 3 foparw efowret @ fegarad fosra <o g9t e @ QusTr I
(A) Yyt (B) st (C) ISt (D) Tt
At =9ae, O97 A9, IHE, f[d39 =96, &red 83w, 3T U, Yrs-
€39, Hiux yarem fediv fagz dug 38 Adt I6 2

(A) yfotios (B) Fffedt g

(C) fH3® g (D) I&H g

(=]51[=]

1

T8 d&' '3 YFT UGT T8 {3 AT AUS J ¢

(A) 7 & BIBS (B) =ifes g3

(C) AZES (D) Eamrds
IO e T

(A) 03 (B) duzr (C) Gem (D) wsr

(65) A



ﬁ PL-1
68 fefsoAs, Tge3fid dfesr 7 Hatarfe € faR d3 & ugge B afesr
"E: fHfemr <t foodt fedt <03 argqre fig I Aet J 2
(A) 3o e (B) = ferht
(C) Yres-g33 fetit (D) fews fegit
69. YarI=od fafanr ferme der J
(A) fAm 3 o 1 996 © 291 (391a) T U3 &4l
(B) frm 3 fafgmr €t farest 59 Uz S
(C) far 3 J= @3 agd © g9 famrs T3]
(D) far 3 fafanr @ AErs 979 Areardt fHd)
70. e fHfemr € Janfe €3 wiiss fedt &6 Ared 586 I -
(A) dea fiftmr € fog wegn fedt I
(B) fom fedt 3 At 593 We Sarer J
(C) for fedt €t 233 & TA fefimi B8 A <t wre &t Ifdeh
(D) fom fedt T8 wifswra < 83 &t I
JofBu g Uz aATg da9 71 3 75 ST E3T el :
%%gsw-ﬁéﬁa@#ﬁ-@z?égdwgﬂqdéaﬁl@éﬁ@a@ﬁ
&8 g2 & fan § & wEs F&I 3rE 3 odl ITR AEET-EH & T &< €3
g & ale IgH 99 fIar J| dfuged & Her &8 g I, sag 8.8
A Jfgc 938 ST8E A9t B B ¥Y I € 937 = fImr I e dar 3
ot 8¢ dfuged € 293 AU 578 IJat grdel JI g It 3 faarfes s96
9 Har &dt sgat grdtell dfuged <t fimier @33 d9s &8 o & figs €3
< v v O {9 I for we ot T forar 99 3w e 3, ug Adiss 39 [l
3 G Feagns odi afFe, frer 29 3a SUGed €3 o a9s &E w3 & [Hiew
H3 ygre der JI
71, MAI3I B AEST T AJT He TE
(A) WHS, WHEg (B) ©I=I3, HEITF
(C) 3egn3, foHas (D) T©I=I3, WIS

72.

A

‘€7 HET T 9J<U6 ©F ¢

(A)  nit (B) I ©) 3T (D) €3I
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73.

74.

7S.

76.

77.

78.

79.

80.

81.

‘SAB HET T gae fed HET gT

(A) &Ag (B) der (C) wHI (D) e
‘Thyr Je °3 faarfes 996 9 A1 &It a9t g’

Euda3 T &g We SgWIEd HET “HIr € AdJl WIg I ;

(A) A= (B) fisu (C) =IH (D) v=g

o0

“HET HOT T ANGIEY HET gt
A) fedo (B) aHfes (C) fsmt (D) of&nret

de 31, HE wirfemt &1, wig ! EEE

SUIa3 HEE f5U3 fomia o Gua9s 967 5

(A) foer-Tod femd (B) HU&-<od ferHd
(C) wAf3arg-=9 fema (D) wirtA-T s ferms
E?rEF'EQféﬁE'EQTHEF EP'71Eﬂ'ij?3 J:

(A) 7= ARG, (Bye AAS (B) HES AAY, TIS AAS
(C) foyz 3RS, =96 IS (D) Jiza3 Ans, fBye AnS
I T 2t 3 IF fowraafes foardt It I -

(A) Tt (B) == (C) e (D) B9
g fHftmr (99 A8 SvE Agfed s J ¢

(A) TdEI3 (B) I€

©) 2y fgargs (D) A

“fAa3 HeT &' T & 5 33w AR 3 uAd @91 @ § WA K9
AR GRS A fagr AT I 2

(A) YHET O UFo'e (B) YIHIT UFo'<
(O) forA=Td Uzga< (D) Adgeod uzgsi<
fenrage ffemr S fagdhe € fed i Tf S ygd 96 2 gﬁ

(A) vs-ynA3d fedl, 733 fedt

(B) H3dg fet, yuiar fedit

(C) wfguar fet, Us-yA3S fedt
(D) yviar feh, Afguar fedt
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82. T'Q, AGT, ardt wife e A3 96 ¢ i
(A) "t QU 55 (B) W GUSTH 58
(C) Tt QU &3 (D) Ho=s QU &%

83. TJRuSIE T I I :
(A) yfeasr  (B) sdasT (C) fememdtes™ (D) d9-Guustt

84. Jo fEfimr T iz I8 ATt ot I
(A) Tt {5t fsarr gt fadt (&9 Ifemr I
(B) Jout fdt g yar3s &t I
(C) It fdt g fefomrrsa fadt I
(D) JIuH Bt wiga=t w3 IISidtE Il

85. fdza3garacs U3t T fognre fige & fafowr © faoz fag’s Gug wafas 3 2 %
(A) w3s T a3 (B) fafowdis3s e fia's e
(C) HIFfeasT T A3 (D) “aads T O3

Jo fE afe-22 Suz 3, Aes &89 86 3 90 ST T G338 :
g% foer JIefawr, AG JH A S I3 2
Aaet § 2 fc@ g, IS 3 § 4 B8 I3 &l
foge et & © fog I, foge Fd & € @ o 2|
oo feer aefr, A S S S o Cad
86. GUINS AT B3 T foaA Saalt Emit I 2 i

(A) HIWGI (B) &t (C) wEgemit (D) fHsemi
87. SUIFI A3 fan Yrar fo €8fa3 95 2

(A) H&H (B) fewrg (C) A3 D) 733
88. QuIa3 A3 T g3 Ir & Yora3T I 2

(A) IH (B) frars € =3 (D) sgF
89. for a3 T fed B8e J

(A) sfendt (B) T™ (C) B (D) &&
90. SuIS3 A3 T o AHt & Yara3r I 2

(A) AT (B) fadt (C) #Agme (D) wfgs
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vis — II1
T § |

Aol (T
2L VisUL 4 30 w8,
€35 usdl G uual sAduid 6.

[=] =]

20 [ 4 Qal’ aisad sul sy DA sd © 7 @
(A) 2 [Aela daal (B) il Reiu 4 dal
(C) »-udl el ad dal (D) 2-ufl Rela + daal
A2 2uqen [Qen-imiedl sy [Qaq 0 © ?
(A) [Raa- dal 215 diul Rig 53 as.
(B) ai=u Sdil A5 dranl Rig 53 asia.
(C) [afre &dx 245 diui g a9,
(D) BuRisaniafl xisua dl. HEE
QA-unie] Wde- saL Sl el AeeUHs © ? [EiEE
(A) Quidt 214 Q- (B) 248l i 54+
(C) R 24 Qlaq (D) su- 244 QuiA
gl [Riasul sai g sial 1A suagas © ?
(A) g (B) wisssuyl (©) Aaeldl (D) aRdwilA
AL qsuul sul waoe Aqa' © ? EEE

AN Y N . Moo =Ty
HR s Aelldl U oA wad 4 ? [FiEE
(A) il (B) 23 (C) w2 (D) ur%-
DAuidl 53 xidRs Qg 2uesl weAYdsd © ?
(A) 2usds ey (B) s (C) [Auuad (D) a3y
‘500" 9168 Sal €9 ?
(A) dg™Md (B) dedH (C) e (D) ouml3ul
‘qafAuld’ acedl AL 000 @Qag DA-unidl sai 9 ?
(A) asu + x1Bul (B) @& + liula
(C) aey + Aulauly (D) asu: + Rula

NN A

SISURL aldd AL Gl AL, dl uel wRoum A 20d dl d s 4wl wl
awuy ?
(A)  slga (B) [Qsaaaar  (C) una (D) ucnasla
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71.

72.

12
W
T

o,

i

= £

[=]51[=]

74.

75.

iUl QIRAHL MEldl WA dldsiSH Qi © dl dd diaq s s34 510 s¢) asia ?

(A) Hd[s s (B) wiRs s1:a
(C) Addeus s1RQL (D) uRRaldxru s

DAuniell Bard 2@ § aua otdia-uR [Qelsd 59 © ?

(A) uaHL (B) uadl (C) 212l (D) awdl
A1 WA sU 218 [Qaun e wla-dl alfen 12 ¢ ?

(A) 2 AdL s dE. (B) s &lud gé Yld %S,
(C) uugl a8 Holld Hasd sudlal. (D) dd sis slicndl €,

Ay sl A i@ Adl Puiaar w2 56 ugld Alell Gan © ?

(A) -uedls@ ugld (B) da-i usld

(C) udona ugla (D) Na—2lt-a ugld

WAL Y-l SUER U, $HIs 74 L 77 AL waAleL 20l

lladd aéHd aRaik 1A,
gl ted Al adwn 2.
Rl gl 2l uca Rrua,
g HURAY ALY HEWAA,
g A3 A A 245 1l Gl
g iyl Yld 2.
U qud A eyl a4 A,
38 wol id) Aa.
218 WIR U U A 3d,
g 2ol Al qRaiAlL diR 2.
UM A 3U 2 [Meun 59 A,
ALY Ml AR, [@EE
Aod 53 dl dd Acu-l s A, s
dl Gl Ma W 2.
'Naida’ aoe-l woeid g Ay ?

(A) -uadd (B) wRawd  (C) arkwn (D) axwdla

'Nadd g aRaR Al dlBaui [Qguw 53 9 ?

(A) w4 (B) aRaR (C) -l (D) dadd
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A N B0
76. ‘B QA A Mo w3 Al Gl — UlBdAl eua wl e ? e
(A) @adll Rdu il tua (B) oial (il glan-l tua
(C) b8l 3L Slal-l Mg (D) AAd [t ot-iaqiAl ®ug
77. A3 S dl i vl 52 A" — st UlBdui Ad-H ue s34 9 ?
(A) g (B) dl (C) a4 D) 4
78.  [Qzulll Alid 2uldacalZa-dl asaell san W2 Sar wsi-iL ua-icn- [Quaui Guaiel as
a5 ?
(A) 25 ool usd (B) v sl
(C) [olarcus sl (D) wdl %oul

79.  AB-UHS Auin auid aoui [Qad Aluan g sd K ?
(A)  adlui oidl 8d 1S,
(B) s wilRar u dud s,
(C) sl [Qeudl-)l udgall sl %S,
(D)  Auinsid Wt adiul didiag Ruig s34 1S,

80. Al #luidl 55 s Wzl O A WAl

(A) 4R — yleda (B) a: — ul&id
(C) s — Ayuslda (D) s — A2
81. 'sawl' dnusl wsed [Qre3u sy © ?
(A) wdgl (B) Avasin (C) awml (D) aduiasl

82.  clA--l HeUis W2 Guuioll wan sy © ?
(A) xal (B) $HWIUES (C) wadia (D) [RAaw

“ . . = . A\ :.':EE
2UYAL JlEAL U U, sHIS 83 Ul 85 L GrR Q. '@‘E{_

L §

@AAAUASIR Adldal WAl WARS HdHd sl u3 8, an w3 Bai Geuts sl 52l ud
6, 2UUBL HSHd Ul dl A5 USIR-L 2100 Ul 9. UL UL S1HA sl o 514, HarRHd
$14, 8A$ S1H 2H sl Bl wLsd 9, ud A SHA AR AU o 52 69, Vi vl W2,
ALY U2, USAL HIZ SUSL i 8l W2 Ui ol 2 9, L AR Wan Vi $AH UL
el asad el vieal we AAgis usi si1 [l oifgA 2isst [l Hlse gl aendl e

N

6.
83. UG AH U3 Adl Gules Sl W HIS s U ?

(A) U812 Adladl HI2 (B) usi4 si-udan Hie

(C) via w2 (D) AIRL ARL $USL uSaA Hi2
(71) A
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'S (el olgA 20 [Qeuni Hlsi Bdl’ s 2is aruaaRs awudl © ? g%@
'r_‘:
(A) s Hddl (B) ulRagide use
(C) =2AAsis2 HeR1Y (D) unxw 1l U8l rarriiiy

222293

8S.

86.

87.

89.

90.

RS Aol AUAAA U HNvAL
(A) s (B) €5
©) 2 (D) s

D2 dazunidl sul - Sd O ?
(A) [Qendl gaw gL x1d A 52,

(B)  [azuell uidi-w avgimi agl+ 53,
(C) [agudl ydsiin-t 2ueuR [dual®@ym wa,

(D)  (azudl didi-i [Q=n21 2% 53.

AdAHidl 56 Qe ugld Qe 56 ugla © ?

(A) A ugld (B) eneny ugld
(C) oaul ugld (D) -uedls ugld

Rias g1 illiaa s ge-%gl ualBdatiAl Guaid s34 Add [Qenell2Ai- ad-imi

2uddl WRAdHL d 2Aqdis 52l € dd U e ?

T (A) walid yeuis

(B) Bwulas yeais
(C) alls yRuis
(D)  Add H&Us-

- N N Ay L N (=12 =]
% AMRAHL Ydue 2 Grue [QeilEd-a ueadl Fisia dd sul 1A sy ? E-" 7

(A) gg dHA

B) [ga ua
(C) dcu3y AHA

(D) wHeanusdldl AHA

DA-unidl 54 Aalds waq w56 Ad, AN, 294 24 [l asierr [ el as ?

(A) 2[asiv (B) s wled
(C) A.dL. (D) $¥yeR
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SECTION — IV/@uE - IV
MATHEMATICS/ Tiford

There are 30 questions in all in this Section.
All questions are compulsory.

3 @S | A 30 I B |

asft y SAEH ® |
91. By selling a chair forX 1,080, the shopkeeper suffers a loss of 10%. For how much should
he sell this chair so that he gets 10% profit ?
(A) 1,200 (B) 1,400 (C) X 1,100 (D) X 1,320
T HHT I T 1,080 H 5= T GHMGR I 10% BT Bl 8 | 98 39 FE bl bl | o=
foh 38 10% T & 7
(A) 1,200 (B) 1,400 (C) X 1,100 (D) % 1,320
92. The development of recall and recognition is done in which of the following = @
teaching objectives ? E' "
(A) Analyse (B) Understanding
(C) Synthesize (D) Knowledge
[=]#[u] . .
Tif: SRR AT iy b forebr e o | fopw frerr e o foparr Smar 7 2
(A) Targerso (B) sy
(C) HIAYIT (D) I
P E
93. In the form of 5, 1.27 will be equal to E%n
17
14 il
© 1 D) 15

P _
a%mﬁ 1.27 STeR BT

17 11
(A) 11 B) 14
14 11
© 17 D) 15

(73) A
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94. “Although Maths is not a logical branch yet it is logical language.” Who gave this
statement ?

(A) Bertrand Rusell (B) Gauss
(C) Lock (D) Hogven
CIEE ol for ceherret bl ek e e 7, fh ft 7 byl W 7 17 A e fohe
OPRS feam 7
(A) wve W (B) TrE
(C) T (D) BhmaA
95. The sum of all prime numbers between 60 and 80 is
(A) 291 (B) 351 (C) 434 (D) 373
609 80 < ST Tft 79T &A1 AT 2
(A) 291 (B) 351 (C) 434 (D) 373

96. The system of presenting data in a systematic form in columns and rows is called

(A) Tabulation (B) Mean
(C) Bar diagram (D) Median
[=]#E[=]
Flehel I TPl 3T feFaal § shueig €9 H SEqA B Hl AT FI FEd & FE
(A) ERURE (B) HEIHH
(C) <Ug IM@ (D) wrfesent
97. What is the loss percentage when a watch is bought for X 1,260 and sold for
X 1,197?
(A) 4% B) 5% ©) 7% (D) 10%
Teh €l i T 1,260 F @i T 1,197 1 &< I R g1 gfawrd fram & 2
(A) 4% B) 5% ©) 7% (D) 10%

98. The author of the book named Lilavati is

(A) Brahmagupta (B) Bhaskaracharya Il
(C) Roger Bacon (D) Galileo

op0| .

i ofieTerd! e IEdeh o o @
(A) e (B) Wik gt
(C) TSR Fehd (D) Trefifern

A (74)
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99. The numerical form of five crore fifty two lakh twenty one thousand three hundred

100.

101.

(=]5[s]
By

102.

i

It ]

five is

(A) 52521305 (B) 55221305

(C) 53052125 (D) 52152305

. ) . (=] (=]
Tig HUS §199 ARG ST BN o9 Tt i bl HhiT €9 8 i
(A) 52521305 (B) 55221305 i
(C) 53052125 (D) 52152305

In how many years, a sum will triple itself at the rate of 10% simple interest per
annum ?

(A) 20 years (B) 15 years

(C) 10 years (D) 25 years

10% aTfYeh |TEROT STS Sl G & his &4 foha ast | oA T[T 31 SIem 7
(A) 2098 (B) 15a%

(C) 10=d (D) 25a9

If the cost of four dozen pens is X 120, then how many pens can be purchased for
X357

(A) 10 (B) 12
(C) 24 (D) 14
Ffe = eSO 1 4o X 1207, o T35 | fohad 99 @lie ST Fehd © 2
(A) 10 (B) 12
© 24 (D) 14

If 12 packets of the pencil are priced at 362 rupees 76 paise, then the price of ~ [EI%[E]
a packet of pencil is o
(A) 30 rupees 23 paise
(B) 33 rupees 30 paise
(C) 23 rupees 30 paise
(D) 13 rupees 23 paise

Ife 12 Tehe UTae 1 Iod 362 T 76 TH &I, @ Th Fohe RS 1 OoT B
(A) 30%9 2399
(B) 33 %9 3099
(C) 2339 309
(D) 13 %9 2399

(75) A
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(=] [m]
If each side of the square is reduced to one-third, then the area will be '@E:;

N B) =
0 i D) +
© 5 D)
Ife ot 61 Jsh Y1 T faes w9 R ST, 9 SEkd 8 S
1 1
A 3 B) 5
C L D 1
© D) ¢
S . (=] [s]
If an angle is twice its complementary angle, then the value of that angle will be :E_
(A) 35° (B) 45°
(C) 60° (D) 90°
FTC Th IV T T 10 H1 QAT &I, A I8 {01 1 JH 26T
(A) 35° (B) 45°
(C) 60° (D) 90°
1 1 1 1
— t—F+—+—
The value of 0 30 ;T s
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120
1 1 1 1
e —
20 30 42 56 w1 R
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120

The length of a rectangular plot is 10 meters more than its breadth. If the cost of fencing

around the plot is X 1,550 at the rate of X 15.50 per meter, then the length of the plot will
be

(A) 20 meters (B) 30 meters

(C) 40 meters (D) 10 meters

Teh 3TAATRR TATE <hl TFaTS, 3Th! Tes d 10 Hiet 31feres 2 | Ife wite & = 3R 91
M 1 @9 2 15.50 Ifd #eX hl e & T 1,550 |, o T hl oTFatg gt

(A) 20X (B) 30

(C) 40Hix (D) 10 Hex
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The ratio of least common multiple and highest common factor of 16 and 36 is LET_E'

(A) 36:1 (B) 16:1 s
(C) 1:36 (D) 72:1

16 3T 36 % AT THIS d HedH FHMISH i 3T 8

(A) 36:1 B) 16:1

(C) 1:36 (D) 72:1

The quality of a test by which a significant difference can be made between brilliant,
weak and backward students is called E]'E'
(A) Validity (B) Discrimination =l

(C) Reliability (D) Clearness

T FE T 98 0T S8k gRI HHTel, AR a1 Uss gY e o == bl €
T e a1 ST Gk, FEATd B

(A) Sy (B) favesmrfiar

(C) Torvagfiear (D) Tased

In which of the following mathematics teaching methods, the ‘Principle of learning by
doing’ was given importance ?

(A) Demonstration method

(B) Lecture method

(C) Laboratory method

(D) Heuristic method

ﬁmﬁamw&mﬁmﬁﬁxﬁ ek e o fagr’ =t mgca fean w2
- (A) v fafy

(B) =& fafy

(C) wamTSITer fafer

(D) wefifees fafy

‘Param mitra ank’ of 5 is
(A) 3 (B) 4
) 5 (D) 10
51w i 31 8
(A) 3 (B) 4
C) 5 (D) 10
(77 A



”

111.

The evaluation process has been displayed triangularly by
(A) I K. Davis

(C) Skinner

wmﬁﬁ@mmammmmw%wﬁ
(A) 3TE. %, Sfem '
(C) Tep

(B) Dr. Bloom
(D) Ross

(B) . =
(D) Ug

112. In the given figure, the value of ZAOD is

(A) 60° (B) 90°
(C) 100° (D) 20°
[=]z[s]
1%, fed ™ o9 § ZAOD &1 7 @
=
o
D< s
(A) 60° (B) 90°
(C) 100° (D) 20°
13 15 17 19
113.  Which fraction among 5°17°19 and 21 is the largest fraction ?
A D B) — C 1 D 1
()21 ()15 ()19 ()17
13 15 17 19 &
=, =, = — 4 g ®H-H fir geg s i 2 7
15 17 19 1
o NE o 7 o 15
()21 ()15 ()19 ()17

(78)
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114. For the curriculum development, which of the following should be considered as the

center of education ?

(A) School (B) Teacher
(C) Guardian (D) Child
Bl .
i T 1 @ forment fren 1 g WA g wSeshe Fufor e e 7
(A) o (B) farerh
(C) afhwrae (D) &

115. By which of the following tests, the learning difficulties and weaknesses of students in

116.

117.

a particular subject can be detected ?
(A) Diagnostic test

(B) Achievement test

(C) Mental ability test

(D) Intelligence Quotient test

fr= 1 9 form whieror @ o ki fafirse fosar famiw <t stfrmm swfsmsat qen wasiiaEt
1 IdT TN ST HehdT 8 7

(A) TreHTeTs Thero

(B) 3udfey wiegor

(C) AMEe eHar wreqor

(D) Hfg afey wem

The average of four consecutive even numbers is 23. The largest number among E:!.%
them is (=
(A) 26 (B) 24

(C) 20 (D) 18

TR SHATTT TH A3 T 3Ed 23 B, 370 Ted 98! T6&T1 8

(A) 26 (B) 24

(C) 20 (D) 18

Who among the following developed micro-teaching ?

(A) Burton (B) Crow and Crow

(C) Dwight W. Allen (D) Henry More

=1 ® 9 foreq gem-frern w1 o fopem 2

(A) &H (B) 3hI & 3hl

(C) I3 ¢, TeH (D) &8 AR

(79) A
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th th
It 0 part of a pole is in mud, 3 part is in water and the remaining 2 meters is

above the water surface, then the length of a pole will be
(A) 10 meters
(B) 15 meters
(C) 30 meters
(D) 20 meters

e 1 2 e 6, 2 o A T e 49 23 7 61 7 5
2, a1 @ Y owrs g

(A) 10HX

(B) 15HiX

(C) 307X

(D) 20 HIX

In mid-day meal, at the rate of 150 gm wheat and 100 gm rice per child per day, @ﬂ;‘

the total quantity of wheat and rice for 30 days for 60 children is e

(A) 450 kg (B) 180 kg

(C) 270kg (D) 400 kg

HeATE HiSW | gid fed ufd s 150 T T1E dem 100 T =1ed # 9™ 8 60 s=al
: fo 30 fem o fofe 78 9 =me 6t ot wen @

(A) 450 T (B) 180 T

(C) 270 T (D) 400 T

The average of the cubes of the first five natural numbers is

(A) 40 (B) 64

(C) 45 (D) 50

W Uie Tehideh HEATSTT < THI I JEd 8

(A) 40 (B) 64

(C) 45 (D) 50

(80)
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SECTION -V/@ug -V
ENVIRONMENTAL STUDIES/ UaIiaRuT 3{ea=-

There are 30 questions in all in this Section.
All questions are compulsory.

3 @S | A 30 I B |

i wed HEr # |
e
121. Match the following and choose the correct answer. =
(1) Viral disease (a) Tuberculosis
(i1) Bacterial disease (b) Malaria

(i11)) Protozoan disease (¢) Kwashiorkor

(iv) Disease due to malnutrition

@ ) (i) (iv)

(A) @ (@ (o) (b)
B) @ @ (b (©)
© © b (@ (d)
@ ®  © @ (a)

(d) Chicken pox

P 91 gifem st @ e o o i |

(i) 9RRE S T (a) ufce
(ii) Sframy S T (b) wefen
(iii) SIS i T (c) SFETIRIRERT
(iv) HHIYOT o HROT B FTAT TAT (d) Taerd diem
@ ) G (iv)
A (@ @ (© (b)
B) @ (@ (b (c)
<€ © b (@ (d)
D ® (© @ (a)

122. “Yak’ animal is found in which region of India ?
(A) Ladakh

(C) Arunachal Pradesh

(B) Darjeeling
(D) None of the above

%%W%ﬁq—ﬁ &3 § AR’ U I ST 8§ 7

(A W=
(C) IRV T

(B) arfstfert
(D) 3w H & Ig T
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Full form of ENVIS is

(A) Environmental Information System
(B) Environmental Impact Assessment
(C) Environment Protection Agency

(D) Environment Protection Council

[E1Z[E
G e, w Tl &9 7

124.

125.

(A) TTEfi AT STt
(B) TTeRefi HTe 3Tehe
(C) TaTawoT TRETOT TS

(D) TTERET TRV HISTHe

Who takes the first step on the moon after Neil Armstrong on 21 July, 1969 ?
(A) Yuri Gagarin

(B) Ellen Shepherd

(C) Kalpana Chawla

(D) Edwin Aldrin

21 9, 1969 1 fiet LT & oe T W I8l hed W Il i AT 7 5
(A) 7 e

(B) UH RI%E

(C) heuT =Tael

(D) Tefem Tfegd

Where is the Pandupol fair held ?
(A) Jaipur (B) Ajmer
(C) Alwar (D) Pander

om0

gﬁ UTgUI WAl el aIal 8 ?

(A) SR (B) ISR
(C) AR (D) TUK
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126. Who named the ‘technology-ecosystem’ of third sub-complex to create E.,I'lgl
D (el
artificial environment ?

(A) Odum (B) Tansley
(C) Haeckel (D) Haber
%wmwm%wwﬁ “SHreffire iRt @ T e fam 2
IET (A) 3w (B)
(C) & (D) &
127. In how many directions faces of lion are present in National Symbol of Ashok’s pillar ?
(A) One (B) Two
(C) Three (D) Four
e g aries Ty § fohaft femeni A e v g@ & 7
(A) T (B) @
(C) (D) =R
- : : . . (=] [x]
128. In which season Patasan (Jute) is cultivated in India ? %EE
(A) Winter (B) Summer )
(C) Rain (D) Spring
A § 928 (S[2) I St iA-H1 /g § 6l 1t & 7
(A) & (B) Tt
(C) =i (D) wEad

129. How many decibel noise has been accepted to be the limit to tolerance in hospital areas

according to International Standards ?

(A) 65dB (B) 90 dB
(C) 105dB (D) 140 dB

IS AT o SFTAR STEIATH &1 § foha- SHiaa ot il Fg-siieran shi Fiwr wr
TR ?

(A) 65dB (B) 90 dB

(C) 105dB (D) 140 dB

(83) A
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130. Wild cock is the main wild animal of which Wildlife Sanctuary ?
(A) Sariska — Alwar
(B) Mount Abu — Sirohi
(C) Talchhapper — Churu
(D) Kailadevi — Karauli
[m]eE] | .
Elee STt T hIH-F TSl SRS BT W S S 7
(A) FiERI - 3T
(B) WIve 37 - feat
(C) TS - =%
(D) *heTgel — whitet
131. Which is the largest planet of our solar system ?
(A) Uranus (B) Neptune
(C) Jupiter (D) Saturn
AR TR 9US 1 T8 F1 U8 HH-T § ?
(A) 30 (B) =&
(C) Fewrtd (D) =t
[=]%[=]

132.

Select the festival from the following, which is celebrated on new moon of the rlilr._"%_'?:;
Kartika month.

(A) Holi

(B) Diwali

(C) Dussehra

(D) Raksha Bandhan

%% frafefad o @ 39 =iER =t g, St Hifdes o8 6t ST 6l §=R S g |

(A) et

(B) feaett
(C) =
(D) T&TEeH

84



E‘ﬁ PL-1

a0
133.  Which teeth work to tear and chop the food ? '@E:;

(A) Incisor (B) Canine
(C) Molar (D) Post molar
(=] =]
ST g o siom E) e-w1e % i o 7
(A) P (B) &
(C) e (D) UT= Furh

134. Following traffic sign indicates :

/N

—
=
—

=

(A) Narrow bridge ahead
(B) Narrow road ahead
(C) Wider road ahead

(D) Dangerous deep ahead

EIEE = feom T Ararend 1 Hehd ST T @ ¢

=2

=

=7

(A) 3 HHT I 8
(B) M WUl TET 2
(C) AT =gl Tl &
(D) 3 WA TR 2

(85) A
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135. Which of the following tools is the best use in ICT for visually impaired students ?
(A) Text to speech
(B) Projection Screen
(C) Social Networking

(D) Video conferencing
[=]zx[s]

et frefafed 3 8 SH-w1 3uehn gtestid Bt o fore ICT & W 3est 3T 7 7
(A) TFe g Tf=
(B) WM BhA
(C) | edfehT
(D) fifear si-wifam
136. How will you be related to your mother’s brother’s mother ?
(A) Mami (B) Nani
(C) Sister (D) Mausi
JATYeh! HIATST < WTS hi HT | 37TYehT T TowaT BT ?
(A) (B) At
(C) =& (D) i
CHD
137. Itis one of the deepest and largest stepwells in India o

(A) Jhalaara of Turji

(B) Chand Stepwell of Abhaneri
(C) Big stepwell of Bhandaro
(D) Stepwell of Panna Meena

S5 o v o e o g e o
(A) T = g
(B) AT o6t =g sl
(©) el 1w
(D) 9T HHT bl STeSt

A (86)
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139.

i[=]

Al

=]

140.

PL-1

Which objective is not about organising co-curricular activities ? %%
(A) Maintaining both physical and mental health

(B) To gain knowledge of virtues to be developed in children

(C) Introductory information of required equipment and tools

(D) To criterion educational program and teaching methods

hIF-HT ILT IIST-HEH 13T o TS 1 781 7 7
(A) T Td AT TaEdl gl ! §9TC W@

(B) dTctehi # foehferd B aTet GO T FH IS AT
(C) ITegeh IUHLUN qAT LT Shl TREITeHe SRR
(D) Sifereh swrishr 3R foregor faferdi o1 EE W e

Which is not a traditional method of diverting water to fields from wells, lakes and
canals ?

(A) Pulley (B) Dhekli

(C) Rahat (D) Drip system

311, Sl Te TET % S 1 WAl T T Bl HIH-T1 TR A TE 2 7
(A) TR (B) et

(C) T (D) fgua=

Which of the following material is most important to be carried by a mountaineer ?
(A) Sleeping bag

(B) Oxygen kit

(C) Blanket

(D) Torch

FfIRed 5 & -5 Ffl T qearial g0 o ST 998 Jgcaqul & ? ’%’%

(A) Tt

(B) 3T fore

(C) &I

(D) 2=

87 A
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141. Which activity is punishable under Section 112 — 183 of the ‘Motor Vehicle Act’ ?
(A) An accident or fast driving
(B) Things of an unsafe manner
(C) Using horn in peace (no horn) zone
(D) Driving without a license

g*?% ‘Tt dEiehel T’ o AR 112 — 183 & d&d -t Tfafafer W gue &1 gaea@ g 7
(A) TR el A1 4 grsfan
(B) TEq3T I g o A
(C) wf= (A1 &) & | & =1 T
(D) form g & et =@

142. When did Bachendri Pal set foot on the peak of Mount Everest ? = E‘E";
(A) 23 May, 1984 '
(B) 25 May, 1984
(C) 23 May, 1989
(D) 25 May, 1989

g2l UTd A HISUE T <h] =1l T heH hel TIT AT 7
(A) 23T, 1984
(B) 251%, 1984
(C) 234g, 1989
(D) 254%, 1989

143. Which alkaloid is not found in the opium ?
(A) Morphine
(B) Codeine
(C) Sominiferine
(D) Caffeine

[=]# =] N . .
s HEE T HIT-H1 Uechallse 8l IrIT Sdl @ ?

= (A) TIER
(B) hIgH
(C) TMH®E
(D) HHH

A (88)
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144. Which teaching material is used to correct the language related errors in students ?

(A) Museum (B) Map
(C) Phonograph (D) Line diagram

[m]#[=] . .. .

gt - freror gt 1 3w S 6 9T get e gur § fe St g 7
(A) IR (B) #Hf==
(C) MRS (D) Y@t

145. Which is the State flower of Rajasthan ?

(A) Lotus
(B) Palash
(C) Rohida

(D) Amaltash

TSR T T T57 hiH-81 8 7
(A) pHA
(B) Gefrr
(C) Ufegst

(D) FAqAdE

146. Which fort of Rajasthan is also known as Ajaygarh ? %%

(A) Sonar fort

(B) Kumbhalgarh fort

(C) Mehrangarh fort

(D) Ranthambore fort
TSR o SHi-H gl ol IHSATE 6 H ° Wi S0 A1l 2 ?%%
(A) EFR et e
(B) e g

(C) HETE fehetl

(D) TR g

(89) A
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148.

oio
@-‘"E

149.

150.

(e ]

Disease caused by the deficiency of Vitamin — D is

(A) Night blindness (B) Beri-Beri

(C) Scurvy (D) Rickets

faerfim — D <t =it & g9 aren U B

(A) Tdief (B) s-sft

(C) Tehelt (D) frred

Which of the following is a component of man made environment ? @!%_
(A) Lithosphere (B) Industry [les
(C) Community (D) Hydrosphere

frefafad & @ -a1 g9 Fftia e &1 gch 8 ?

(A) TeHE (B) @M

(C) dHc™ (D) SerHed

Which of the following is a good breed of goat ?

(A) Murrah (B) Gir

(C) Sahiwal (D) Jamunapari

frafafea & @ - sl $i 3=t T R 7

(A) T (B) fr

(C) wfgama (D) SHATTH

Which chemist’s philosophy became famous by the name of ‘Nihilism’ ?
(A) Neils Bore

(B) Dmitri Mendeleev

(C) Acharya Prafull Chand Ray

(D) Nagarjuna

fope TERMITER 1 @ YETE % AW H 9iHE 83 7
(A) few ar

(B) feftrm teefa

(C) = Ypedt =g

(D) A

90)
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IMPORTANT INSTRUCTIONS / wgwrqut frier
(Read carefully and comply / &R & U@ 3R UTeiH )

In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
QUg 1 (AT1-1) § e 911 o T ol gt KA e & For wmen ot = areff 3 -1 % ¥ 4 e teed w H R R

In Section III (Language-1I), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form.
The Language-II will be different from Language-I.

WUg TIT (WIT-1T) H S 9T o 91 <l BT Bl ST & ST Ao ot = snereff 3 sIi-11 3 &9 H SAers 3teed o § fopar & | wi-1 & smn-11 Rt 2t |

The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR
Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.

sreefi giafyem =i i OMR o1 vie # feifia wom w s -gfemem i i @ P s a8 9 2 | 3ueh OMR =R 31 i Gedich T9 -k hHih
IR T Sfeeh T9-gfteent €I e Ud foTe shuieh o 3MeR W TR SR |

12.

Read complete instructions carefully and fill the details from SI. No. 1 to 9 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question Booklet. If you fail to fill the details
and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.

it it ool w9 § e 9 3R i 1§ 9 a6 OMR TEi e § U6 AT 1 6 4 T Te-qfeas (Fhcie) § faeron &1 | afg 31 Tea @l & fewor
W A1 TR A & dal OMR ST sfie 1 ThiT 6 wereaeq g4 arel aiemd o ufd 31w IR 2 |

The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the
Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

ToA-GfTR & 96 T8 T 150 A & | 3wt few o ST R Swt & e -gfeaen < wiet @ieh | 98 giifead o o we-gieaen § 150 T & S R U T 39 e
B 90T & | OMR 31 ¥fie W firde e atvareff 1 STl fop 731 SrrT—oot % STgER 3ifeh T B 0 S SeA-gfcrht o St T o oft sifeha ferm gam 2 1

All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for
Wwrong answers.

Tt T FgfaeRctia SRR % € | TS TR 1 T fashed & TE 2 | T W o T feffid s e R | et e o forg i e e T S |

There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have
to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/, of the marks for such question will be deducted. If a candidate does not mark
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

I TR | ek S o fe7q uie faehed (A, B, C, D, E) BT foheq Yo7 T H Wi WA & 9N foehed A, B, C, D& | 31t bt 3 =R forehedi # & el forehed w1 WA
ST H T et bl el /I 1 8 | U SR T gY 1] ol siae Sl STgHN 81 @ | 9eel g1 Fe Tiehr g1 g qe 39 T 7 e | 3 sl R g
o1 ST TE ST =&l 8, 1 IR ofeh b Ureidl feehed E ol Tl et /hiell <t | Afe IR ek § fel 13 uie ferepedi § @ fomet ot oft wiven et /et & foen St &, W
S o T ST 37 o1 1/, T Shier ST | A rwreff e AT o6 10 Sfowta & stferen et H ot et § @ i oft faeren Jifera e 2, @ 3 SR TR SR |
Bubble of correct answer of the question should be darken completely as shown below :

T < Wl 3T o A I A FER I T

Wrong / Tedd ‘Wrong / TTed ‘Wrong / TTed Wrong / Tedd Correct / 9al

XBOO® || O@OO® || ®EOOD0 || @POD® || VBHO@®

All questions other than language questions of Sections II and III shall be bilingual.

YU 3 W TSI @O 11 TS 111 % 991 aft wuet o wvm e g |

In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.

fepelt e & foreft 3fe & ford anreff =t ot srepm w1 Jeper T B | we B araf & woAt § fepelt weRR R e T heEmEn ST |

Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.
No additional paper shall be provided.

Toreft e < T R ¥ FeH- ISR o 3 H SR & T B | 38 WeA- Ui § e Wi | Rt wehr ot srforfier et Sucrey e shtamn S |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use
will result in disqualification.

W 9, hoageiet, TES &, B B, TR, fefedt Smll, =gy, ATsshiti a1 fortt 371 SRR T SoTarIfToh oI /SoRTuT ShT ST aIfSid & | $75h STNT W e
T IR A R ST ekt ? |

OMR Answer Sheet will be provided along with Question Booklet separately.

eF-gfeqent % @1 OMR 31 ¥fie wer &1 S |

The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately
inform the Invigilator and get it replaced within 5 minutes by the Invigilator.

Freff ol e -gfeTeRT e e 89 % 10 fide gd & St | sneff savEsh €9 & OMR SRR Sfie § avft wfafeedi 1 vt vehr & W | yea-gieren i dia sl
e % 5 e qd Eied qun Te-ufSaen % ShE T 1 F 4 1 wfafsedt s wE wehR & W | S -gfeeht Wie o gearq snaeff doket I gfvea w e e fuifa
T S 2/ T eI AN T 2/BE PO 2/FA el A G & AT B TS G S T 7 | A eA-gfeent F 36 Wb h i Ffe ar St B A dcbrer derp b
gfea { aen 5 fire & i ferek & o1 T -gfdeR Seaen o |

Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the
Question Booklet as well as in the OMR Answer Sheet.

JoT-GfEeR T8 OMR 3T e W Feifa wom w am, vdan e & wie, ser, Id ., T-yfqew @i #ig, e s va Jea-gfee s @ |

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make
evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.

OMR 31T e %l TR GRT TR o Tl S 712 7 | 3fe 319 Iwded U6 OMR 3T 3fie & frsat ges w e m fdeit o1 arem =& &, @ reget gr
SATIHT YT hiH & ST | 36 HR0T & 752 i B4 aret T ot iR seeht e <1 gnft |

Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination. No candidate should leave the examination hall before
the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the Invigilator before
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.

witer TSy & 5 fime @ SaeH 5 a9t wa st awe S wlen ity o sortt | g sreeff sfm g soe % i wdan wa ¥ STet T8 91 T | OMR
IR ¥fte e Wed qen srafafy wied & o sl O ke fham g3 & | srvefl wmeant @ sremefl i wia (srafaty) & o wfa @ srem woarts e
off 7% & o wfd 1 S BT T UgT | wlen wa Bied % qd waeff OMR #i qat it vd swA-gfeqen ek H Hig § | srvaeft hae sttt OMR R ufa @ sn
Y T HRA | T -feereht 1ot sToe T TE o S weh |
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E‘ﬁ PAPER CODE : PL-1 (SHIFT _ 1) Question Booklet No.

Series Code :

Write this code in OMR Answer Sheet.

39 IS I OMR 3 3fe § 3iferd &L |
1. Roll No./ T F. 2. OMR Answer Sheet No./ 311.TH.3TR. 3= 3fe shHTh
* 3, Candidate’s Name/ 315eff &1 180 * 4, 79 gs3 w1 W e m |t fde 6 ue forn 2

>
e —————

——
Prrrrrrrrr s/

Frrrr

Candidate’s Signature/ 31%eff & BERT
* As per Application Form./ 9T e U § 3Afhd TR B |

>

Invigilators’ Signature/ (1) (i1)

Sierhi < EaTa

S.No. 1,2, 3 and 4 are to be filled by the Candidate himself. No. of Pages in Question Booklet /
A 1,2,39 461 qid T arwrefl gr o o R T giEdehl § $A T3 : 96

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following five Sections : Section — I,
IL, 11, IV and V of 30 — 30 questions each. The candidate has to attempt all Sections. Each question is of one mark. No marks will be deducted
for wrong answers. For unattempted questions kindly see Point Number 4 of important instructions given on last page.

3 Y- § FA 150 TS e Y & | - o Ui @uel H faaiforg § qen wefi @ug e e 7 | S @vs-1 11, 111,
IV @41 VH 30 - 30 9% § a1 Y 1 37k 1 B | T I o o13 RIS 37k hIC A&l T | STA ST o ey | gfeaent o 3ifad

TR T R A den 4t e e
PAPER CODE : PL-1 (SHIFT -1)
Total Questions : 150 Time Period : 2.30 Hours Maximum Marks : 150
Sections Contents No. f)f Question Nos. Page Nos.
Questions From To From To
(1)) Child Development and Pedagogy 30 1 30 3 12
an Language-I (Only One Language)
As selected by the candidate as medium of instruction in the 30 31 60
Online Application Form as Language-I from the Languages
given below :
Hindi 30 31 60 13 18
English 30 31 60 19 22
Sanskrit 30 31 60 23 26
Urdu 30 31 60 27 32
Sindhi 30 31 60 33 36
Punjabi 30 31 60 37 40
Gujarati 30 31 60 41 44

Language-II (Only One Language)
As selected by the candidate as Langauge-II (other than the 30 61 9

(am Language-I) in the Online Application Form from the Languages
given below :
Hindi 30 61 90 45 48
English 30 61 90 49 52
Sanskrit 30 61 90 53 56
Urdu 30 61 90 57 60
Sindhi 30 61 90 61 64
Punjabi 30 61 90 65 68
Gujarati 30 61 90 69 72
(Iv) Mathematics 30 91 120 73 80
(%) Environmental Studies 30 121 150 81 90

Note : In Sections II and 111, a candidate has to attempt the questions of Languages compulsorily, selected as Language-I and Language-II in
the Online Application Form. For Hindi version of the above Table and Note refer to Page No. 2

|Read the instructions in English and Hindi at Page No. 96, last page of this Question Booklet |
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Fauw: 150 ety @ 2.30 gue qutier : 150
FATHA & e
e e —ammht T kil i
k| h k| h
(I)  |ser-Terenmm wa e faftmt 30 1 30 3 12
(In) | -1 (e o )
grerefl R s e % mem o i 30 31 60
et # @ wiwr-1 % &9 H A 3Teed T H 3Afehd
R
=R 30 31 60 13 18
SR 30 31 60 19 22
TR 30 31 60 23 26
39 30 31 60 27 32
fasn 30 31 60 33 36
TR 30 31 60 37 40
TR 30 31 60 41 44
(1) |- (3raret ues )
reeff gy SAieTsT 3reed o 8 =gtid w11 S wr-1 @ 30 61 90
= it e frment = feferRaa wonsti 8 9 foen w2
=R 30 61 90 45 48
U 30 61 90 49 52
R 30 61 90 53 56
35 30 61 90 57 60
it 30 61 90 61 64
O 30 61 90 65 68
TR 30 61 90 69 72
av) (== 30 91 120 73 80
V) |vataror seem 30 121 150 81 90

e : anefi gRT WU - 11 Tal 111 T 3TAeATS ST1eie st T fT 7o Sht = WTeT—1 Uet Wie—11 3 &0 | foha 2 et 9 o U9 o
FfEmE
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SECTION -1
CLC |
CHILD DEVELOPMENT AND PEDAGOGY
e faera ua e it

There are 30 questions in all in this Section.
All questions are compulsory.

39 @S H 3l 30 T 7 |

at woA HEr § | o} w
E" "
1. Which type of imagination is classified under pragmatic imagination of James Drever ?
(A) Practical and Theoretical (B) Aesthetic and Fantastic
(C) Artistic and Creative (D) Constructive and Creative
S IR o STTHR INUMHATE! SedT i fohd TR i sheddl § aifiehd fohal TRIT & 7
(A) SEEINEh 3T BAgIfaw (B) Higaienes 3 3G
(C) TS IR FTHH (D) TEATHS IR GSATHH
2. B.F. Skinner emphasized between measurable behavior and stimuli to
explain learning.
(A) Fundamental analysis (B) Functional analysis
(C) Basic analysis (D) Language analysis

_EI_,EI o). Th. ThIE T 31ferm i SARe HH o Ty AT SHagR 9T SEdehi & s
Gt oo fean g |

(A) 3T fergersor (B) i fageiyor

(C) avq foweryo (D) W fergeror

3. What is the primary feature of “Action Research” ? @ :
(A) TItis a dynamic process (=]
(B) [Itis a theoretical process
(C) Itavoids problem solving approaches
(D) It relies solely on self-evaluation

“foraTereh EYM’ S e fereivar wm R 7
(A) T8 T Tiiasfier gfsham 2
(B) IE U dglfaeh Ufsha 2
(C) JE THET THIYM gfSCehiv § S=al &
(D) I hael T T R e 8
3) B

1II -n._l.E
A
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According to the principles of development, what does “Cephalocaudal Development”
signify ?

(A) Development proceeds from the lower body to the head

(B) Development starts from the head and moves toward the feet

(C) Development begins with the limbs and moves inward

(D) Development has no specific directional sequence

forepta & fogr=di o IER ‘TeaeteagE fasm’” (Cephalocaudal development) 1
w3 7 7

(A) TohmE IR o Fact e @ i 61 IR sgat @
(B) foepra RR @ % BIa1 @ 3R T 1 IR 5eal &
(C) T 3T § [ BT 8 3N 316X ! AR o&dl 2
(D) Tererr =1 13 Tarfamse fesm spm =& et 2

[=]
G
What is the formula for calculating Educational Quotient (EQ) according to Burt ?
(A) CA+=EAXx100 (B) EA+CAx 100
(C) CA+EA (D) EA+CA

§E % ITTER etk Afey (EQ) < TUMT 1 §F F1 & 7
(A) CA-+EAx 100 (B) EA+CA x 100
(C) CA+EA (D) EA+CA

Which of the following is a characteristic of a backward child ?

(A) Above average educational achievement

(B) Higher intellectual capabilities than peers

(C) Below average mental and educational age compared to peers

(D) Strong language skill )
00

frafafad 4 @ -4 v fuse st i fovwar 2 2
(A) 3Ed § W i Aferer uctfey

(B) HWaEh o1 § 3= Sifgeh &

(C) 3ft|d AHfae 3R feres 1y uawes ot @ =
(D) WTYT <hi¥Ted hi Fqoran

Py lfﬁ
[m]zw=

“)
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7. Which theory emphasizes the influence of environmental contexts on private speech ?

(=133 [a]

PRI

¥ [w]

PL-1

(A) Vygotsky’s theory
(B) Piaget’s theory

(C) Both theories equally
(D) Neither theory

Hr-a fagrea Frofl s o e wedt % ST 1 Hee S 7 %g@
(A) dTgTIeEht o1 fagra .
(B) ot =1 fargra

(C) Tl fagra aum &9 9

(D) i ot frgra &t

What does the “Comprehensive” aspect of continuous and comprehensive evaluation
focus on ?

(A) Only academic subjects

(B) Holistic development, including cognitive, physical and socio-emotional aspects
(C) Focusing solely on co-curricular activities

(D) Limiting evaluation to classroom activities

TAd Td STk Yoo o JT=a7d < SATIh Tge] 1 TG HIhd &1 & 7

(A) haet Jegfires faw

(B) @y foepm, fam dxmTcTe, Sfeh 3R AT —WTeHTcHs J8e] a8
(C) hael T8-Sefires TRl W S shiegd &

(D) TR I el hl TR qeh HiHd el

What term did Bandura use to describe learning through observing other’s behaviour ?
(A) Direct learning

(B) Experiential learning

(C) Vicarious learning

(D) Cognitive learning

FGU H GE o SRR 1 ST Hhioh HI@- i & a1 feam ?
(A) wcI& Afm

(B) 3Has Afm

(C) TYFM— AfeRm

(D) HRHTIcHS AT

N
ro[m]

E3 [
i

5) B
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10. Which of the following is not included in the concept of personality ?
(A) Psychophysical system
(B) Dynamic organization
(C) Determination of unique adjustment to environment

(D) Static organisation

qfedcd shl HehouqT H fifeifad o © iv-o1 gftrfea 7€ 2 2 %5%
(A) TR 7 N
(B) TATCHSh TS

(C) aTATER § 31Yd FHRISH b1 e

(D) &R T

11. What is a key emotional challenge for disadvantaged children ?
(A) Inferiority complex and negativity
(B) Overconfidence
(C) Hyperactivity
(D) Foresightedness

@1« ST Seal o ToTq G WIeHTeHesh A F1 @ 7

sk
=il

TT(A) gar TfY 3R FeRRIcHehar
(B) 3Afq—3TcHferzamd

(C) 3TcafYeh Afshaal

(D) el

12. What is the term for adopting someone else’s behavior or personality traits as one’s own ?
(A) Sublimation
(B) Identification
(C) Projection

(D) Compensation

fordlt 311 & =eER a1 Safddea AN i T gRT AT i T Had & 7 %g@
(A) g N
(B) we=m
(C) S&uT

(D) a&fayfd

B (6)



13.

SR
o]

EE
i

14.

15.

PL-1

Which is the primary factor in shaping behavior according to behaviorists learning
theories of motivation ?

(A) Instinct

(B) Social interactions
(C) Reinforcement
(D) Cognitive skills

AN o STTERATE! 31 fagidi & AR SIEgR i 3R ¢ Tl T & R
HA-HE ?

(A) et

(B) TmHTRTeR 3Ta:fsham

(C) TAseH

(D) GHHICHS hHITTe

1II1.‘E

O0]
What is the primary focus of “child-centered pedagogy” as per NCF — 2005 ? E:I- f
(A) Memorization of textbook content
(B) Giving importance to children’s experience, voices and active participation
(C) Strict adherence to traditional methods

(D) Encouraging competition among students

NCF — 2005 % 3TJER ‘‘STd-higd RI&01” 1 T&T Blhd F1 8 7
(A) TSI Shi TTHIT 1 ATG HTAT

(B) =i o e, STl 3 Hishd wifierd i Hged &1

(C) URuiteh fafert o1 Tt o uTe e

(D) Bl % siw gfeeqat i sgrET ¢

In Hull’s formula for effective reaction potential, which symbol represents reaction
inhibition ?

(A) sHr (B) D

© Vv (D) Ir ;
&l oh YWTE] Widfshen d9Tear I3 § Sfafshan Y &1 ydieh w17 7 EEE
(A) sHr (B) D

© Vv (D) Ir

(7) B
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How does Gardner suggest Schools should implement the theory of multiple

intelligences ?

(A) Focus solely on linguistic and logical mathematical intelligence

(B) Train teachers to present lessons using diverse methods like art, music and
role play

(C) Standardize IQ testing to identify intelligence types

(D) Limit the teaching methods to traditional classroom approaches

%55% TER & ITER Fg94 9gT i faaredi § g YR AR HAT =130, ?

17.

18.

(A) hael WTNTE 3R dTfeheh TR SfgHTT W &I Hich

(B) Torerani =i whet, wiftd 3R ftepr-a1fim S fafay wlisi 1 3w ek 118
TgH & fore wfvrférd ek

(C) SfgHar YR T TgaH & o7 1Q Tlieror i wHehihd Hich

(D) Toreror faferi 1 qRufteh shetm & gfeesnivr ae Hifaa ek

[EIRAL
Which ability develops during the pre-operational stage ? -_:_n,j:
(A) Logical reasoning (B) Symbolic thinking
(C) Concrete thinking (D) Hypothetical thinking
U -TshATcHs 3TEEAT o G shiA-Tft e foefea gt 8 2
(A) dricheh Teh (B) JdtehTcHeh G
(C) T Fa=H (D) U T

What does the NCERT’s document ‘‘learning outcomes at elementary stage” state about
purpose of learning outcomes ?

(A) To promote uniform teaching methods across schools

(B) To prioritize rote memorization of concepts

(C) To ensure that students achieve age appropriate competencies

(D) To focus exclusively on theoretical knowledge

W.H 3. AR, & e CURIE TR W g & Tfdwd’’ Higd & Ifasal & 3239
% SR H T HEAT ] 7
(A) oo d we wam freor fafermrt st sgran ¢
(B) 3TELRUMSAT Wi Te <l Ygfa Sl Fefiehar ¢
(C) ¥§ gHfvaa S foh B 31 I G&Idiati sl ITed ot
(D) e AgTi=deh T T €M shigd LT
8)
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19. What teaching method is suggested by students with ADHD to help them learn ?
(A) Using only verbal instructions
(B) Providing lengthy assignments
(C) Avoiding use of any visual aids

(D) Using lots of pictures and visual clues

ADHD 91at BT 1 €ige 8 Heg & foaw - freror e ggmen mn 2 7
(A) haet HiRgeh SIS TN T

(B) S FETEHHE <A

(C) Tereht oft goor At < ST & F=T

(D) w8d dR TN 3R g2 Hehdl hl ITAN AT

20. What does the “basic potential and capability” of the learner include ?
(A) Mastery over the subject matter
(B) Readiness and will power
(C) The inherent abilities and skills of the learner
(D) Adjustments with the teacher

SAfepTIhal T “Gerd &Har 3R A | e e 8 7
(A) fawa @ qui iR

(B) oAl 3R STBIAfHR

(C) Taremeff <t srafifed emamd 3t v

(D) T & w1y FEREISH

21. What is the correct explanation of ‘individual differences’ in psychology ?
(A) Variations or deviations among individuals in regards to a single or multiple
characteristics
(B) The resemblance among people of the same species
(C) Similarities in emotional responses among individuals

(D) Similarities in thoughts and behaviors among individuals
00
Tifem # “‘eAfeaa fafiaet” & o e e R 2 Eei

(A) faadi d et A1 3 fomanati o dey # fafawand = faaem
(B) T & USTH o AT o ste HHTAT
(C) AT T WTaTcHeh FiATshaTaTi | oA
(D) =afaaai # foamdi 3R s9agri o guTar
) B
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22. What does ‘monitoring’ involve in metacognitive skills ?
(A) Deciding how much time to give to a task
(B) Asking questions like “Is this making sense ?”
(C) Completing tasks without feedback
(D) Ignoring the task’s difficulty

e T 5 s Fd d w2 7 S0
(A) Toret SRl ot foram wm <1 8 gEent fofg t
(B) TA BT S ‘T IAg TG H M@ 2 7

(C) widfshan = fomT =Rl QU s

(D) H T HSATE Pl @ HET

23. What type of adjustment mechanism attributes frustration to external sources ?
(A) Extrapunitive
(B) Intropunitive
(C) Compensatory
(D) Sublimation

HI-HT GHREISH a3 BTN ! ST&d) Jidi 0 9ar & ? E:E
(A) dfedusTensh
(B) 37d:gUSIcHe

(C) S

(D) SRt

24. Which one of the following is not a projective test method of personality measurement ?
(A) Word Association Test
(B) Thematic Apperception Test
(C) Rating Scale
(D) Sentence Completion Test

frfafaa @ 9 w-w v safddca AT & g gdeor i fafy 78 2 2
(A) rsg—|rE=d qe

(B) fears=r-3menaie qdietor

(C) e arof

(D) e qfd wdegor

B (10)
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25. What is the main difference between growth and development ?

=

Okd0|
LT
]

v

2

]
=]

OO

(A) Growth refers to quantitative changes, while development includes both
quantitative and qualitative changes

(B) Growth is related to mental development only

(C) Development stops at maturity

(D) Growth and development are completely unrelated

gfg 3 forerm o e T Siat w1 #

(A) Ffg AmTeHS TG Sl HEfHd HLAT &, TaTh [oohE HATCH 3T TOTTH GHI
Ui sl STt LT 3

(B) dfg ad gHfees g @ wafid 8

(C) fapra uftasardt T ek SITT 8

(D) 3fg 3R o qoia: smwafya &

According to Maslow’s hierarchy of needs, what is at the top of the hierarchy ?
(A) Safety needs

(B) Physiological needs

(C) Self-actualization

(D) Self-esteem needs

TEAT sh1 STETIhAl TeTIshH o ITEN, USTIshA o IS U A1 81 8 ? g
(A) TRETT SAITIHATL

(B) ek 3trevaehard

(C) 3Ted HIEATehT

(D) SATCH-TFAH hl ATIITRATY

Which mathematical model is used to describe the relationship between heredity and

environment ?

(A) Addition (B) Subtraction

(C) Division (D) Multiplication

JTATIRAT 3T TSN & Y 1 UM i o TIC SHIH-F1 TOTAT Afgd 3w foma
a1 8 7

(A) S (B) werd

(C) ¥ (D) Tom

[§8)) B
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What does the RTE Act state about teacher responsibilities for assessing students learning ?

(A) Assess the learning ability of each child and provide additional instructions as
needed

(B) Focus only on completing the curriculum without assessing students abilities

(C) Conduct assessments only at the end of the academic year

(D) Limit interaction with students to classroom teaching

IA 3. fufm sl & dies % geared & o femest 61 rwerfat & ar & =

FEd & 7

(A) T = i W@ i GHAT 1 odTehd ohi 3T ITETIHRAT oh STTHR IR
frem ¢

(B) BT FHATS I HoATeh fohU foHT hael ITa=Ishl I i T €M <hirgd i

(C) haet RaAfreh o &% 37 T Godiohd

(D) ST % T qTa=ta bl HeTl e qe diftra @

Which of the following is not included in the Guilford’s three basic parameters of the
structure of human intelligence ?

(A) Specific factors (B) Contents

(C) Products (D) Operations

frfafaa & @ wi-a1 e % 9 gfg S @@= % & g et § wia
T8 7

(A) T e (B) fawr aeq
(C) 3cIe (D) HaTeH

g . : . . 00
What indicates difficulty in understanding or remembering what was read ? @_E"’"

(A) Forgetting the book title

(B) Inability to recall basic facts from reading

(C) Reading with high fluency but low comprehension
(D) Excessive note-taking

U T TS Sl THSH AT ATE i T HiaATS ol Hohd FAT & 7
(A) TE I Sk A ST

(B) UG T UIS ¥ WA I I ATG T H AT

(C) 3=9 JaT8 o H1Y UG oAfehd hH THSH

(D) AT Fred SHMET

(12)
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- 11
a1
=

39 @UE H $cd 30 T 7 |
qsft y a7 |
ECE

e : frfcrfiad TTemT < SR T S -FEA 31 |/ 38 T b IR T | =

JATerehaR ST forsu] bl UTeTTehal ARt Seh! SUTHAT hid & ; ToIso] UTeH ohid & adT Ha9 HeR hid
g | 39 W Torvamd ek AfC 9 il & Tow] &g d1 IS SAaeRIfed 4 RT | ST § 34 a1l
Ta ueft, gealt W fa=rer S arer 7, J8t ao foh e ot fwen W E R 7 | quen v
T, A WEd ISR SR FATTd Wgd THem 1 A ot <@ 2 a1 39 HRA Heh i <R |
IE T 1 @I GHU I REQTdT &, T3 7 T8t QUL I o9& Gdl & | 3Heh 3TUH AN 3h! FHII
IS T&| L Hhdl & | WA h¥eh ! STehid H UHT TATd BIdT1 & foh AT hlg SatrT G- 7 |
5% 9 3@ 1 g@ 3R 7 @ § g@ &l HWA1 2 8 I7H 8 AH-TA Bl @ 3R A g
 A9dT | I8 98 HHAN 2 I B Tifed hl =1 I Wad Bloht hH d dociid &l 2 |

31, “foru 1 IUTET ST ST STRITS W 7T T weg @

(A) HIEqH (B) dst@=
(C) wlfera (D) dwrE

32. Tyeifera & @ ®H-9 @g o 9t veg T6 & WA W6 7 7 @”E
(A) 3T, TIE, TIh, 3TET OF
(B) W, ¥R, AT, I&H
(C) 31, IRGH, TR, HETA
(D) USI, shifeg, fowa, forsma

. [EI%E
33. MR weg H Wend' R e
(A) WX (B) =

C) 33 (D) Rt
13) B
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TS H WF FANG I6g BT AY 7§

(A) 3cH18 (B) 3T
(C) ¥ (D) 4

. . . 010
feifera d & ‘Sifaem=es @3 @ Ko
(A) s (B) g:@
(C) $uh (D) QR
fafafiga 1 9 ‘9=mE see w1 faeim’ wse B
(A) ST 9t (B) 39a are
(©) Terd (D) werEml
et e e - A
(A) T + fH (B) H?L + oA
(C) @ + (D) @ + wet=
“ONgA’ e § IgE B
(A) #H (B) 9U
© = (D) TR

TT-frerer < foTu remaes i

(A) Ioar gt JfeAT 61 gt T8l ST AT

(B) Toenféfari g fopw mmu 3repg s % 3 wsnem < stavEeRar TE 8
(C) T sieft < TTell <l g AL T =Ry

(D) STRI-T=AT W 1§ LM T&l o1 A6y

freaferf # # w-w TR R
(A) YT @ JgTE

(B) I % TN TG

(C) <3 1 AW 98

(D) ferefi-a-forelt Tt

(14



41.

42.

43.

4.

45.

PL-1

‘e e B wREr # g o o e weed § 7 R
@A) ]%rq_q_a_{_@ 7 37 R [m]zws
(B) Ae-Tufor 1 #19=

(C) W&l % Wew I Wi

(D) I @i
TSI TR G AT |
IR TR T TR &

(A) HCE g (B) I=SEITH
(C) Taermeis (D) 3=

-I-E

n

113

[=]54[x]
= AP
[z

" Tk

|
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“qTaT TReqUT 1 HEY had [H UG AT g AN TGH HET A T2, ek W1 HieH
et ! &1 = fafae Siereli 8 g1 sHET B S A, SieT; gedt 3R fore 1”7
Sy i & T R

(A) s TSI g

(B) HMEHI

(C) TH. %. TIMIE g

(D) WiamTY faar g

frafafea o @ <epifea’
(A) TAT-GTAT HET

(B) 3T i zedl Torrd! aren
(C) dife=r Sam

(D) AT T a1 BT

TS e 3 T YT AW ok IFER udterr o fmior o fhas @t @6 00
feje

e TR ST 8 7 s

(A) U= AUET (B) =R G T

(C) o Al 1 (D) < |IHI T
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47.

48.

49.

50.

STt o Trare fEHes aistl @ 8l S 8
e o H fadw @

(A) feae oy

(B) St & framedt

(C) e

(D) feae ugpati @ 7 et &

TEA TG BT 3 I HATCHEATT HA STAT HEEU 2
(A) el TR

(B) 3l W

(C) Sedi fafean & d@ fmmT

(D) 3¢ =T

HH-araq & fofe 3fad %A 8

(A) T T [WcHAT 3Tl 2 |

(B) TH-am=F TJA 9 Y&H gHI TR o LA H TgRIh 8l ¢ |
(C) WH-9IT=H drfeeh dTeH % €9 H TohaT ST Fehel & |

(D) HH-9rEF YaTgHT a0 Mfd R = & @ g =g |

SUERTenes f3remr o & # frafafad o o o waifys swwf 2 2 IEEE

X [=]
e
W]

[m] s
(A) e
(B) <efifes
(€C) IR
(D) To=-fawarss o=
Op0
‘orr-freror’ % fore 3fed FeA & e

(A) ‘amyT-foreror’ o fofu ‘3vqd & gd’ g3 WA 7 |
(B) ‘wrr-fareror o fore ‘wifedt & wwet’ i SFLHOT HTETH Bl B |
(C) ‘wrar-fareror # ‘A @ e o faey suEnht g @
(D) ‘wryT-fireror’ @ug | qUi G ok YR W AT I 8 |
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Ao Jorett’ § [T < wieem o e < St 2
(A) 3T 6 a9 & =i Hl
(B) 4 W 599 & a<dl &l
(C) 49 799 % a<dl &l
(D) 58 7 99 & sl Hl
Of0]
Toert 1 Sl T e et SR
(A) T (B) #freh
(C) wareht (D) SmTEl
“gH ATE TG AT o Ured-Tedeh TgHT & e - e € 7, J=fy qrgd-gedeh 3eR

T heg AT B |

ST B B

(A) oY, UH. T3S I (B) Hifret =1

(C) IS (D) Tee BIE & —_—
P
OER

Toreft & g el Rt 919 w1 S w1 & ot S ) efaliad § 8 e S@oaren
T o’ 2

(A) I =% (B) T foe
(C) iy fa (D) 35w T
“€TEe UM’ % TR Yl bl ‘U9 YUIiell’ § Seall 7=
(A) Hfse & g (B) TR & g/
(C) s % g (D) i o gHI

[=]E5[x]
e o 9 oA 6 U Sl 7 S 8 I*Erl's'-f
(A) dTE (B) eIt

(C) =El (D) gerdl
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i : Frafefiea e & snar W w-H@n 57 @ 60 7 % I Gfaw . ElC

g0 T UE, Teh A  3TehEnTd &l Tl oh $ehcal il TTST 3T 3TFT TeT <hi |sﬁwwﬁ
Teh ATICRIH @I ohl; T-q & AN 38 T I 91 el JIHd & | 7 T oeR, fo=rd aren
Toft o S R T W W @S H Tk €I g8 T ST @ar o | foRE | @t -aret
@IS 1 | 39 3 5 §:T T8l @I | 398 0] % & o & H T HgH TiHed A0 | 98 Th
TorE™ &9 TR 3R 399 @ o U 3ES I A | 37 3T HISH hl WIS H 3E-3U W
I 3rrevIehdl T8t off | bt TH o uvErq feRe 3 ufgd w1 snfaser fomam |

57. ‘T w9 qvErq feret 3 ufgd o anfaser foran |7 feu o gt 7w’ @ %g%
(A) HfeH e
(B) 3TE~T ¥dhIc
(C) EHT Ydohled

(D) | ehTd

58. TS H Y o Weg bl Y 7
(A) T o < =g
(B) it =Ig = 1 &
(C) foreet =R aTet
(D) St Ba 91eT W

59, T § giee’ w9 H TgF vee A& B
A) §d@ (B) 3
(C©) &m (D) oft

60. fr=ifafed o @ weg ‘aga=a’ | Wad g arer faeed B %g@
(A) (B) foram

(C) wIs= (D) wg&
B (18)
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

‘Unit of teaching is a word’ is a feature of E"‘F‘
(A) direct method [l

(B) indirect method
(C) grammar cum translation method
(D) communicative approach

The correct passive voice of ‘He draws a sketch everyday.’ is
(A) A sketch is drawn everyday.

(B) A sketch was drawn everyday.

(C) A sketch is being drawn everyday.

(D) A sketch was being drawn by him everyday.

0400
In learning English as L2, the following skill is acquired independently Ifl-é 4'_"
(A) vocabulary (B) listening
(C) none (D) all

There are tests in education system
(A) to fail the learners

(B) to pass the learners

(C) to grade and rank the learners
(D) to detain the learners

“The doctor has given her a good treatment.” The passive voice of this sentence is

(A) She was given a good treatment.

(B) She gave the doctor a good treatment.

(C) A good treatment was given to her by the doctor.

(D) A good treatment has been given to her by the doctor. ES%

‘When we learn a second language, we tend to filter the universe through the language
already known.’ is a principle of

(A) Using mother tongue (B) Exposure

(C) Habit formation (D) Motivation

(19) B
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40.

The use of multimedia aids such as T.V., radio, computer etc. in teaching is also
known as approach.

(A) visual (B) software

(C) audio (D) hardware

‘I am sick.” The correct question tag for this sentence is

(A) Aren’tl? (B) Areyou? (C) AmI1? (D) Amyou?

The Communicative Approach develops %g&
(A) the speech and expression ability

(B) grammar skills

(C) knowledge

(D) vision of learning

One of the features of the portfolio in CCE is

(A) Objective tests

(B) It promotes diversity in the assessment method
(C) Partiality

(D) Record maintenance

00
Passage (For Q. Nos. 41 to 47) : Eﬁ‘ﬁ

PL-1

He began to believe that most of the diseases were caused by bacteria. Many other scientists
also treated bacteria as the enemy of man. They could not be seen but are present everywhere to
cause mischief. Dr. Jenner in England had already discovered vaccination for small-pox. Here
Pasteur was trying to discover a cure for a terrible disease called anthrax. It killed lots of cows
and sheeps in France. He tried to give the cows and sheeps some weak germs of the same disease
to make them safe against disease for the future. It must have seemed a very dangerous idea in

those days. Many scientists were angry about it. @EHE
41. ‘... but are present everywhere......” According to the"p-assage, the underlined word
means
(A) sold (B) lost
(C) found (D) forgot
42. “To act or behave in a certain way towards somebody’ is

(A) treat (B) inject (C) cure (D) wvaccinate

20
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The word opposite in meaning of ‘present’ is

(A) everywhere (B) absent (C) attendance (D) gift

The correct spelling is

(A) Mischievus (B) Mischievous

(C) Mischeivous (D) Mischieous

One word for ‘illness of body or mind’ is

(A) disease (B) healthy (C) bacteria (D) wvaccination
. . (1%

‘danger-dangerous’ is a pair of Iil-'z'. i

(A) noun-adjective + (B) noun-pronoun

(C) noun-adverb (D) adjective-noun

The noun form of the word ‘discover’ is

(A) invention (B) discovery

(C) discovered (D) invented

The phonetic transcription of the word ‘description’ is

(A) /deskripsAn/ (B) /discroplen/ o

(C) /dr'skripBn/ (D) /diskripfn/ E;'ﬁ
is a drawback in the implementation of the direct method in teaching of

English.

(A) Use of mother tongue (B) Familiar texts

(C) Lack of facilities (D) Charts

‘Reading is a process of sight, sound and scene.’ is quoted by
(A) P.B.Ballard (B) Dr. West (C) W.S. Gray (D) Jesperson

‘They will not help their needy neighbour.” The correct question for the sentence is
(A) What did he do ? (B) Why will the neighbour not help ?

(C) Who will they not help ? (D) What did the neighbour do ?
ErI,-IE
In CCE, the focus remains on gzt

(A) progress, process and product (B) course, test, performance
(C) time, process, assessment (D) formats, product, record

The correct word with this symbol (J) sound is
(A) brother (B) laughter
(C) great (D) higher
1) B
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Passage (For Q. Nos. 54 to 60) :

The old man sighed and picked up the chisel and the hammer. He loved his work and did not want
to change it for any other work in the world. For days together, the man worked continuously
without taking rest. His one desire was to finish the sculpture which would be his last. He worked
till his hands began to tremble and his shoulders started to ache. His arms grew heavy and his
eyes grew tired. And then he couldn’t see anymore.

54. ‘Continuously’ is
(A) adverb (B) noun
(C) adjective (D) conjunction

11

At

A5

.
Ir.

55. The sentence that is incorrect due to the use of wrong determiner is E
(A) He worked till their hands began to tremble.
(B) He loved his work.
(C) His arms grew heavy.
(D) The old man sighed and picked up the chisel and the hammer.

56. The comparative degree of ‘heavy’ is
(A) more heavy
(B) most heavy
(C) heavier
(D) heaviest

57. Cotton is than wood. Choose the correct adjective. E;%
(A) heavier (B) lighter [=]z=
(C) heavy (D) light
58. is a noun.
(A) Picked (B) Desired
(C) Chisel (D) Tremble
59. In the phrase ‘... any other work in the world’, the word ‘other’ is
(A) noun (B) subject
(C) object (D) determiner
s that i 5
60. is that incorrect sentence. Eﬁ{ﬁ

(A) He loved his work.

(B) It would be his last work.

(C) His arms grown heavy.

(D) He worked till hands began to tremble.

B 22
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SECTION - II1

LANGUAGE - 11

ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

According to the nature of obstruction, the following are the fricative sounds EEE

(A) p,bt  (B) mn (©) £ (D) tdg, )
The correct transcription of ‘soon’ is

(A) /Jun/ (B) /su:n/ (C) /son/ (D) /samn/

A sonnet is a short poem of lines.

(A) fourteen (B) sixteen (C) thirteen (D) fifteen

The following is not an objective of remedial teaching.

(A) to segregate the students

(B) to prepare suitable assignments including easy to difficult tasks
(C) to prepare items to test the learning that should take place

(D) to highlight the weaknesses of the students

15
The robbers the defenceless travellers. Eﬁ{ﬁ
(A) setup (B) setupon
(C) setin (D) setout

In order to learn a foreign language

(A) One must adopt many approaches judiciously and rationally
(B) One must master many foreign languages

(C) One must select the students

(D) One must be subjective

1s an example of velar sound.

(A) z (B) 9o (©) h (D) 1

While working with communicative approach, the Indian students lack %5%
(A) Confidence o
(B) Adequate exposure to the target language
(C) Facilities
(D) Audio visual aids
(49) B
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69. Idon’tthinkI  beable to go there.
(A) can (B) shall (C) must (D) should
70. 1s a merit of objective type test.
(A) Deeper surface knowledge (B) Answers are short and definite
(C) Short term preparation (D) Descriptive answers
Poem (For Q. Nos. 71 —-77) : EEE
Sticks and stones may break my bones EE v

But words can also hurt me.
Stones and sticks break only skin
While words are ghosts that haunt me.

Slant and curved the word sword fall

To pierce and stick inside me.

Bats and bricks may ache through bones
But words can mortify me.

Pain from words has left its scar
On mind and heart that’s tender.
Cuts and bruises have now healed; o
It’s words that I remember. 'E'|_=‘-*"

71. The correct example of alliteration is
(A) Bats and Bricks (B) Slant and Curved
(C) Cuts and Bruises (D) Mind and Heart

72. The rhyming words in the poem are
(A) Tender-Remember
(B) Fall-Bones
(C) Bones-Skin
(D) Scar-Healed

)
73. ‘The words fall like swords,” the device used in this line is a E;IJE‘:
(A) Alliteration (B) Simile
(C) Personification (D) Hyperbole
74. Identify the literary device used in the line ‘Stones and sticks break only skin’.
(A) Simile (B) Metaphor
(C) Alliteration (D) Rhyme

B (50)
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‘While words are ghosts that haunt me’ the literary device used in this line is

(A) Metaphor
(C) Alliteration

(B) Simile
(D) Assonance

Identify the literary device used in the line ‘Slant and curved the word sword fall’.

(A) Personification

(B) Assonance

(C) Alliteration (D) Rhyme
msE
. . . =
‘Pain from words has left its scar’ is an example of E?ﬁ
(A) Simile (B) Personification
(C) Alliteration (D) Rhyme
‘In the nick of the time” means
(A) when the time was over (B) when they needed time

(C) just at the right moment

(D) just after the accident

Of-40

The remedial teaching strategies include
(A) Peer support programme
(B) Reward scheme

A
R

=]z

(C) Feed back to the students, parents and teachers

(D) All the three

The officer is keenly
(A) looking into (B)
(C) looking for (D)

is an example of cluster-sound.

the murder mystry.

looking after
looking out

sk
k

is the suitable approach for

(A) L (B)
(€) s D)
Ours is a country of many languages, so
teaching of English.

(A) Project approach (B)
(C) Multilingual approach (D)

Of-{0)

You pay your debts. ﬁ'f;‘ +3
(A) will (B)
(C) oughtto (D)

(D

Communicative approach
Situational approach

can
may
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i
Passage (For Q. Nos. 84 —90) : 55'-:':

For better relationship the first and foremost factor is mutual interaction and regular
communication among the members of a family because through communication only we can
understand each other’s aspirations, expectations, desires, strengths and weaknesses in a better
way. It is essential that parents should spend time with their children. They should give them
freedom and opportunities to express themselves. Parents should give them respect and due
attention to boost their self esteem and self confidence. Children don’t like when parents/elders
thrust their view point and decision on them. This attitude curbs their free thinking, creativity,
independent decision making ability, in other words the spontaneous development of personality
gets hampered. Another important factor affecting relationship is that each member-child or
parents should feel the necessity of fulfilling responsibilities towards one another. Otherwise
things don’t work and there cannot be mutual understanding and comfortable atmosphere in the

family.

Choose the appropriate option :

(=I5l
84. The parents the needs of their children. [Ejzie
(A) are fulfilling (B) fulfil
(C) has fulfilled (D) is fulfilled
85. A number of factors for better relationship.
(A) make (B) need (C) contribute (D) makes
86. Mutual interaction and regular communication can make atmosphere in
the family.

(A) needful (B) developing (C) comfortable (D) sad

87. [If the parents lack to fulfil their responsibilities, they cannot expect the same from their
children .
(A) either (B) neither (C) or (D) nor

88. The suitable title of the passage is
(A) Good family
(B) Healthy family
(C) Necessities of a better relationship

(D) Making peace E;E
89. It is the imposed decision of the parents that responsible to spoil the o
child’s free thinking.
(A) can (B) is (C) held (D) would
90. Mutual understanding an important step in building healthy relationship.
(A) have (B) has (C) are (D) 1s

B (52)
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fefsoAs, Tge3fid dfesr 7 Hatarfe € faR d3 & ugge B afesr @; v
fiifimr € fgat fedt =09 S99 fifa I Aaet 3 2 i
(A) 3IB&3fH ferit (B) e ferit

(©) YAs-g33 feuit (D) fewrs fezit

(A) HEt QUSTH &8 (B) Tl QUSTH &%

(C) Tt QUsTH &8 (D) Ho=s QU &5

s fifemr @ e oYE Aofed AO® I -
(A) 989z (B) I3€ (C) 2ufgards (D) JAs
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vis — I11
oL — I1
Al (TERTH)
2L VisUL 4 30 w8,
€35 wuadrl GuR 2uudl sAdaid ©.
. C s [=l
AFUHS At auid QML [as Auay o sd F1d6 ? A
(A)  adlui 6l 84 1S,
(B) stu wl2ul uR dvd IS,
(C)  «ilur [Qzudl-)l vaigdl sl %S,
(D)  Auirsid WeH adlui adiara Ruie 54 %S,

uLag
w10

'l.

'qanfBula’ aoedl AL A [Qae DAAmidl sl o ?

(A) asu + x1Bul (B) aa + lduld
(C) @ey + Aulauly (D) asu: + Rula
[=]E5 =]
3y sical A v Adl Nuiaar w2 $6 ugld Alel Gau © ? ﬁ:}’
(A) ~uedlsw usld (B) da-il ugld -
(C) wuedoug ugla (D) oNa—uil¢a usgld
g AWAUL Ydus A Grrus [AelBdr waadl Fisd dd sal aa s ?
(A) &g AHRA (B) (g2
(C) dcu3y aHA (D) ueyuusdldl AMA

D Sazuinidl sul wH-y Sd ¢ ?
(A)  [Aenell sra g 212 a8 43,

(B) [(aendl didi-it aogimi asiq 3.
(C) [Azuell ydstir-n 2uanR [Qualtiym ww,

(D) [zl uidi-i Q1R 2 82,

's9l' 96¢ Sal €9 ?

(A) dg™Md (B) dedH (C) 2 (D) ounl3ul
. . . . EriE

AA-uniofl 4 2idRs aam 2usel weayasd ¢ ? E,: hid

(A) 2Usds Y (B) s

(C) [waaq (D) =z

(69)
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68. 's2ldl’ duusl wveH [Qre3u sU 9 ?

(A) wdlel (B) Avaisin (C) augl (D) adliagl
69. [(Qenelll Al salcalddad asiasl s w2 Sa st waieun- [Quanl Guael as
as ?
(A) 25 ool usdi (B) ardlAr usdi
(©) [Roitncus us (D) wudl ¥oul
N e N . “ [=]5[=]
AL AiAL A2 U sHIs 70 Al 72 1 G @vil. Iil'gl.:‘

@AAUASIR Aciadl W2l WARS Hdd sl U3 69, AH U3 lal Beules S1HL $2al U3
6, 2UUB HEd U dl 15 USIR-L 52100 B 89, UG HSHd-L s1HA ‘sl 514, YarzHd
514, 85 51 A sEA Bl uLsy 69, ud 2 S MR AHd o 52 89, A vl HIZ,
ALY W2, Ul HIZ $USE 24 €Al HIZ Hst ot-iicl 200 €9, el QIR WaAn Vs $AH UL
el asad Al 2iear e Adeis2 HerE s (Al olgd 2iss1 [A-uni dlsy 2dl awudl

8. o0
70. 'WRs' Astul qUAAA Uy wnval, FE
(A) $ (B) €5 ©) 2 (D) s
71. UG8 AH U3 Bdl Geules stal w {2 scu U ?
(A) @aruqE8IR Adlddl W2 (B) st ol Hie
(C) vien w2 (D) ARL ARL $Usi udal we

72. 's1m [A-url ol 2iss1 [Aeuni dlsi 2dl’ s 218 qmernaRs aweudl © ?

(A) sacnd Hddl (B) AlRagide usy
(C) =2AAsisr usRy (D) uyw el H8IRLy

73. A 2udean [Qenimidl i [Qad 9 8 ?
(A) Raw-u eal 215 i Qg s9 as.
(B) aHi=y Sdil A5 Al Rig 53 asia.

(C) [afree dqii 245 draui Qg a9, o0
(D) GuAsauidl Asua dl. G

74, [Ras g1 aclRiaa s@aq gdl—yd) ualbdiiqd Guaid sA4 Add [Qenell2i ad-iui
2udal uRadH-l 4 21adis sl € dd 9 sy ?
(A)  Aslld YRS B) [Fulas yeuisq
(C) alls yeuis (D) udd HeUis
B (70)
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ENE
~ . A c etV
DA-unis wgeuni-l su1 Slaes v Asvucs © ? [zl
(A) Avid x4 Qi (B) a9 1A sa-
(C) AR A QA (D) 52+ 2 duid

DaA-uuidl s Aalds wa 21583 Ad, AN, 224 i [QasHl asier [@= el asy ?

(A) 2lasin (B) swi w2y (C) Aa.d. (D) $¥ye3
QAL Yeuist W2 Guaidll aq s 9 ?

(A) Axal (B) $HHIVES (C) wdaHia D) Rdaw
QA-unidl (Zad 22 3 ana stdiadi [Qelza s§ © ?

(A) uaHl (B) uadl (C) 212l (D) awdl
A2 aisumi sal aoe bsu' 9 ? Of-{0

HIR 25 nelldl U WO w2 ? B

(A) 2sllay (B) 21 (€) wR (D) A%
A-umizll 56 Qe usald Qe 50 ugla © ?

(A) A ugld (B) auena ugld

(C) oual ugld (D) -uedls@ usld

QA WA sy 218 Qe ey wla-l sleat a2 & ?
(A) {2 AdL s dld, (B) 4 & g8 ld %S,
(C) uusl A8 Holld Hasa sudlal. (D) dd sis siicudl 9,

Al Sl 5 is 0 9 d WAL

(A) AR — yledd (B) u: — yleda
(C) el — yuslda (D) $s — A&

Higeun-lL [Riesui sai e ial ui0d suagas © ?
(A) gl (B) is5su8l (©) Aardd (D) arqwil

siSuBL Al3d AL Gl Asig, dl U uReud Au 209 di d sl s34 wd
dAeuy, ?

(A)  sl3a (B) [zqudlaar () Aarua (D) cuasildl ”

. . A\ . R A\ [ et A\ = “\ . . @E{“E
WiAHL ARQHL ML HEA dldSiSA Qi € dl d Qi sl 53 s $4) s ? o
(A) Hd[s s (B) wdRs s o
(C) AdducHs s1RQ (D) ulRRalds—u sia

(71) B
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86. gl [ad aS dlal’ aisudd s asy DAl s34 9 ?

(A) 28 [Aela daa (B) 2iaidl el 4 dal

(C) 2-uell [Asla ad da (D) 2=l Rela - Al
A2 2udal yaia- 2uaR usd suis 87 4l 90 i st 2yl @EE
OELD

lladd aa-d aRar A,
gl ted Al adwn 3.
Rl gl 2l ucia Ry,
B HURAY AL HELUA,
g A3 [ 245 1l Gl
IS

g uHidul Yld 2.
I‘E'I_é"f U QA A cuellmi wd -,
38 wol id) Aa.
28 IR M- Hd U4S 2d,
34 oll Al qRuldl diR 2.
AH A 3U g [Meun 53 v,
ATIY ML AR,
Aod 53 dl dd Acu-l s A,
dl Gldal ™A wIR 2.

87. 'fNadd g aRaR Al ulbani [Qaua 54 9 ?

(A) uad (B) AR
(C) -l (D) 9MNadda
88. 'z Az A (st 243 Al Gui' — dl3d-dl eua w6 ?
(A) a4l Rdu il tua (B) otan [Matl gl tua
(C) olaL g4l Sl tId (D) w3 [t ot-igauHl sud

89. 'add’ ave-l uoeid 9 Ay ?
(A) -uadd (B) wR=a4 () arkwn (D) axwdla

0100
90. ‘zioig 53 dl ad Aardl 5290 A — s UBaui ud-um us 4 B 7 fEEie
(A) Adad (B) dl (C) aH D) 4
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SECTION -1V/@us - IV
MATHEMATICS/ Tiuta
There are 30 questions in all in this Section.
All questions are compulsory.
3 @S | A 30 I B |
Tt woa srfrem # | %ﬁ%

The quality of a test by which a significant difference can be made between brilliant,
weak and backward students is called

(A) Validity

(B) Discrimination

(C) Reliability

(D) Clearness

T T I g U1 S8k g HUTell, HASR qe fuss gu foeniE o s bt €
e 9e foRar <1 Tk, el 3

(A) derar

(B) fersgenritan

(C) forzarefiar

(D) wgsedn

The average of the cubes of the first five natural numbers is

(A) 40 (B) 64
(C) 45 (D) 50
T Ui Tehfaeh TEATST % BT AT 3TEd B

(A) 40 (B) 64
(C) 45 (D) 50

(=05
If an angle is twice its complementary angle, then the value of that angle will be I'E-I'_z_'.*':

(A) 35° (B) 45°
(C) 60° (D) 90°
FG Tk T 370 L hIVT hI AT &1, Al 38 IV HI HH BT
(A) 35° (B) 45°
(©) 60° (D) 90°

(73) B
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1 1 1

——+—+—
The value of 20 30 1 56
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120
1 1 1 1

— 4+

20 30 42 56%%%
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120

The system of presenting data in a systematic form in columns and rows is called

(A) Tabulation (B) Mean

(C) Bar diagram (D) Median

JAThe! ol TPl TR IfFaal | shHag T H THqd i hl STTLAT i Had &
(A) IR (B) H&IHH

(C) 3TUg AW (D) Hifeseht

The average of four consecutive even numbers is 23. The largest number among
them is

(A) 26 (B) 24
(C) 20 (D) 18
TR SHARTA §9 ST 1 3Ed 23 2, T9H do8 91 8 & 8 guu.@
(A) 26 (B) 24 o
(C) 20 (D) 18

By which of the following tests, the learning difficulties and weaknesses of students in
a particular subject can be detected ?

(A) Diagnostic test

(B) Achievement test

(C) Mental ability test

(D) Intelligence Quotient test

=1 0 o form wieror o faenfian < fafsrse fower faery <t arferm sfgamsat qen s
T dT AT ST Hebedl B 7

(A) TemTenss Tdtetor

(B) 3vafey gdigm

(C) Tfees ermar ude

(D) dfg afeyr wieor

(74
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In the given figure, the value of ZAOD is

A
Op0
e
B Ec:!.-o-'.
e’
Y
5x Tx 2
D\ O 7 C
(A) 60° (B) 90°
(C) 100° (D) 20°
fed ™ o3 § ZAOD %1 A 2
A
B
P2
~n
5x {x 2
D< o >C
(A) 60° (B) 90°
(C) 100° (D) 20°
[=]%4
e
In mid-day meal, at the rate of 150 gm wheat and 100 gm rice per child per day, o
the total quantity of wheat and rice for 30 days for 60 children is
(A) 450 kg (B) 180kg (C) 270 kg (D) 400 kg
HeATE HiSW | Uid fed ufd st 150 I T1E den 100 T =red o 9" 8 60 s=l %
frw 30 fe < forg 72 & =ra 6 Ht wen @

(A) 450fem  (B) 180 ferm (C) 270 T (D) 400 T

‘Param mitra ank’ of 5 is

(A) 3 (B) 4
<€) 5 (D) 10
5 ‘9 T 37 @

(A) 3 B) 4
©) 5 (D) 10

(75) B
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13 15 17 19
Which fraction among 5°17° 10 and 21 is the largest fraction ?

19 13
(A) 757 B) 15
17 15
© 19 D) 17
13 15 17 ___ 19 . 15
ST S - o ) e 2 7 5
19 13
(A) 5 B) 15
17 15
© 19 D) 17
In how many years, a sum will triple itself at the rate of 10% simple interest per
annum ?
(A) 20 years (B) 15 years
(C) 10 years (D) 25 years
10% ST LT ST h1 &0 | g &7 fohad a8t § A 71 & SIwm 7
(A) 209 (B) 1599
(C) 10% (D) 25 a4

If the cost of four dozen pens is X 120, then how many pens can be purchased for
3357

(A) 10 (B) 12 (C) 24 (D) 14
If¢ TR goiF U4 1 9od % 1208, a1 T35 § fohad 99 @lig ST dehd & 7
(A) 10 (B) 12 (C) 24 (D) 14

In which of the following mathematics teaching methods, the ‘Principle of learning by
doing’ was given importance ?

(A) Demonstration method (B) Lecture method
(C) Laboratory method (D) Heuristic method

(=]
=1 o @ form it foreqor fafyr & “wheeh diem o fagra’ &1 weea feon w7 Eﬁ%
(A) e fafy (B) =mEaH fafyr
(C) wamTeTern fafer (D) wIftfees fafy
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The length of a rectangular plot is 10 meters more than its breadth. If the cost of fencing
around the plot is X 1,550 at the rate of X 15.50 per meter, then the length of the plot will
be

(A) 20 meters (B) 30 meters

(C) 40 meters (D) 10 meters

Teh TR T <hl TFaTs, IGh! TS & 10 et 31fees 8 | Afe wie & I 317 a7

T 1 @ T 15.50 Ui Hiex 1 g0 & T 1,550 7, I T <hl owaTg gt
(A) 20X (B) 30 HIX
(C) 40 HreX (D) 10 #ieX

If 12 packets of the pencil are priced at 362 rupees 76 paise, then the price of a packet
of pencil is

(A) 30 rupees 23 paise

(B) 33 rupees 30 paise

(C) 23 rupees 30 paise

(D) 13 rupees 23 paise

afa 12 e S 1 A 362 7 76 48 4, 1w ke G e 2 2T

(A) 30%7d 2399
(B) 33 %W 30 U9
(C) 23%9¥ 30 U9
(D) 13%7d 2399

“Although Maths is not a logical branch yet it is logical language.” Who gave this
statement ?

(A) Bertrand Rusell (B) Gauss

(C) Lock (D) Hogven

“‘Trarfy TG qeheet Y T I T 2, R off 77 aehyet v R |17 g s feem

fea 7

(A) wgve Wa (B) 7™

(C) i (D) BhmEA

The ratio of least common multiple and highest common factor of 16 and 36 is
(A) 36:1 (B) 16:1 (C) 1:36 (D) 72:1

16 3T 36 % THAH THMYI 9 TgAH FHMIAS T UG 8

(A) 36:1 (B) 16:1 (C) 1:36 (D) 72:1

(77) B



% PL-1

109. Who among the following developed micro-teaching ?

(A) Burton (B) Crow and Crow
(C) Dwight W. Allen (D) Henry More
=1 & 9 foreq gem-Trerr 1 fosm@ ferem 2

(A) &H (B) 1 9 S

(C) I3 ¢, T (D) &8 AR

110. By selling a chair for X 1,080, the shopkeeper suffers a loss of 10%. For how much should
he sell this chair so that he gets 10% profit ?
(A) 1,200 (B) X 1,400
(C) 1,100 (D) %1,320
[FISE  wsh FET 1 3 1,080 H = W GHEGR 1 10% &l il & | 98 36 HHl ol fohad H o
EEs R 38 10% @ & 7
(A) 1,200 (B) X 1,400
(C) 1,100 (D) %1,320

111. The development of recall and recognition is done in which of the following teaching

objectives ?

(A) Analyse (B) Understanding
(C) Synthesize (D) Knowledge
TIRHT QT SR o1 foshra fre o @ form foreqor s # foran Sman 2 2 :;'*‘E
(A) Tergermo (B) &g -
(C) HvAYoT (D) ™
th th
112. If 10 part of a pole is in mud, 3 part is in water and the remaining 2 meters is
above the water surface, then the length of a pole will be
(A) 10 meters (B) 15 meters
(C) 30 meters (D) 20 meters
I.J‘ Qa;@tﬁm m gl 9w e |, = mmqﬁﬁwﬁqzﬁaqﬁﬁm%w
m.— ik
&, 9 T il oAeTg Bt
(A) 10X (B) 154
(C) 30 (D) 20 HIeX

B (78)
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If each side of the square is reduced to one-third, then the area will be

1 1
A) 3 B) 3
1 1
© 3 D) ¢
15
aﬁaﬁﬁu@qumﬁmﬁmwam,lﬁ%mﬁm e
1
A) 3 B) 3
1 1
© 3 D) %

What is the loss percentage when a watch is bought for ¥ 1,260 and sold for
31,1977

(A) 4% (B) 5%
©) 7% (D) 10%

. . EEE
T Tl Wl T 1,260 1 @i H T 1,197 § 99 T I B Ufererd foham & ? |§|"*"
(A) 4% (B) 5% o
(C) 7% (D) 10%

The numerical form of five crore fifty two lakh twenty one thousand three hundred

five is

(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305
Uig S S0 g $Fhid B9 o9 | 919 <1 37hIT ®9 8
(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305

For the curriculum development, which of the following should be considered as the
center of education ?

(A) School (B) Teacher

(C) Guardian (D) Child

T 5 @ ferorent faren w1 e WG U TSk FmTor s =nfEw 7
(A) foame= (B) feres

(C) AT (D) TeTh

(79) B
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The sum of all prime numbers between 60 and 80 is
(A) 291 (B) 351
(C) 434 (D) 373
60 ¥ 80 % s Aft 319TST T3 1 AT 7
(A) 291 (B) 351
(C) 434 (D) 373

: . . El_'iﬂ.il
The evaluation process has been displayed triangularly by Ifl':' 4:
(A) I K. Davis (B) Dr. Bloom
(C) Skinner (D) Ross
AT JishaT ohl FARIvTcHe: &9 & fohereh gRT Wefia fopam mm & 2
(A) 3TE. . sfem (B) Sf. s
(C) fesm (D) TH
The author of the book named Lilavati is
(A) Brahmagupta (B) Bhaskaracharya II
(C) Roger Bacon (D) Galileo
ATeTerd! AT J&deh o <@ o
(A) e (B) W= gt
(C) TS Sehd (D) Trefiferan

P
In the form of 6 , 1.27 will be equal to

17 11
A) B) 11

14 11
© 11 D) 15
P 157 00
Q % ®9 T 1.27 UK B B

17 11
A) B) 11

14 11
© 11 D) 15

(80)
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SECTION -V/@ug -V
ENVIRONMENTAL STUDIES/ UaIiaRuT 3{e9a-

There are 30 questions in all in this Section.
All questions are compulsory.
3 @S | A 30 I B |
Tt wo Srfrer # |

121. Which is not a traditional method of diverting water to fields from wells, lakes and

canals ?

(A) Pulley (B) Dhekli

(C) Rahat (D) Drip system
E:lﬂ'p 31, Fficil 9 Tal % Tt I Tl o TEAH B HIA-TT TRENS TR T2 2 7
EEE(A) e (B) el

©) we (D) feu @

122. In how many directions faces of lion are present in National Symbol of Ashok’s pillar ?

(A) One (B) Two
(C) Three (D) Four

T s s T § fRad feenai § fie % w7 @:-_%
(A) T (B) &

(C) = (D) IR

123. How many decibel noise has been accepted to be the limit to tolerance in hospital areas

according to International Standards ?

(A) 65dB (B) 90 dB
(C) 105dB (D) 140 dB
%E@ AU HIehi o AR TEAATA &1 H feha- SHIST &a1 bl Tg-iietar shl HHT W1
[m] = S
(A) 65dB (B) 90 dB
(C) 105dB (D) 140 dB

(81) B
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125.
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127.

Which fort of Rajasthan is also known as Ajaygarh ?
(A) Sonar fort

(B) Kumbhalgarh fort

(C) Mehrangarh fort

(D) Ranthambore fort

Wasaaq-agma@maswasﬁww%?%%
(A) EHR feem -

(B) Fvere gi

(C) "etTTe fehett

(D) T g

Which teeth work to tear and chop the food ?

(A) Incisor (B) Canine

(C) Molar (D) Post molar

HH-T Tld WIS ol HH-HTed o HH 37d & 7

(A) F=Ih (B) &

(C) =dureh (D) Uv= =dUTh

Which of the following is a good breed of goat ?

(A) Murrah (B) Gir

(C) Sahiwal (D) Jamunapari

frfafad @ @S- T 6 =St 7 7 ?

(A) Fu (B) fir

(C) wfeare (D) SHATRY

Which is the State flower of Rajasthan ?

(A) Lotus (B) Palash

(C) Rohida (D) Amaltash
[=]5[E

TS 1 TST IO hi-H1 8 7 =l

(A) (B) v

(C) Ufgen (D) IHed™

(82)
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128. Following traffic sign indicates :

N

—
=
—

=

'III1.‘E
el

El_
e

(A) Narrow bridge ahead (B) Narrow road ahead
(C) Wider road ahead (D) Dangerous deep ahead

Hr= fean T IrarETa 1 Gehd Sd AT B

/N

——
——]
——

=

(A) 3TF €T 99 B (B) 3T TohUl T B
(C) 3 <itel Tl ® (D) 3T A TETE 2
IEIF'HEI
129. Which objective is not about organising co-curricular activities ? &z ‘"
(A) Maintaining both physical and mental health
(B) To gain knowledge of virtues to be developed in children
(C) Introductory information of required equipment and tools

(D) To criterion educational program and teaching methods

HIT-HT LT ITSA-TEH Tsharati = TS o1 72 8 7
(A) I Td AT TaEdl gl ! §9TC W@

(B) TeTehi § fashfrd g1 ool Tgiun ST [ JTed ST
(C) 3Tk IYHN AT FIEAT <l TR=—ITeHs JHHR
(D) et wrishr 3R freor faferi vt shEldt W e

83)
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130.

Full form of ENVIS is

(A) Environmental Information System
(B) Environmental Impact Assessment
(C) Environment Protection Agency
(D) Environment Protection Council

= R EE SR T

131.

132.

(A) v g=AT Jomet
(B) wATaRufiy quTe 3ATehet
(C) TTaRoT TREToT TS

(D) ATaRoT TR Hfae

]
A

Which alkaloid is not found in the opium ? gél,:l:
(A) Morphine

(B) Codeine

(C) Sominiferine

(D) Caffeine

AEH T -1 Uchal[sS T&1 I ST & 7
(A) HHH

(B) IEH

(C) TMf%iE

(D) FHH

Wild cock is the main wild animal of which Wildlife Sanctuary ?
(A) Sariska — Alwar

(B) Mount Abu — Sirohi

(C) Talchhapper — Churu

(D) Kailadevi — Karauli

O-0

STl G -8 ISt FAMIROY T THE et Sid g ? E_:.{
B

(A) HEHRT - AT
(B) wisve e - fiE
(C) TSI - &

(D) haredl — et

84
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Which of the following tools is the best use in ICT for visually impaired students ?
(A) Text to speech

(B) Projection Screen

(C) Social Networking

(D) Video conferencing

fFrfcTied o ¥ -1 TRl GiEeaTad B o 0T [CT H 98 3=81 ST 8 7
(A) T 2 T=

(B) WISleRH hA

(C) | edfehT

(D) fifear si-wifam

Select the festival from the following, which is celebrated on new moon %5%
of the Kartika month. o
(A) Holi

(B) Diwali

(C) Dussehra

(D) Raksha Bandhan

frafafaa & & 39 =GR 1 U, S Hifde T8 i SHEET i TR J141 8 |
(A) =t

(B) fearet

(C) <R

(D) &EYq

Which of the following material is most important to be carried by a mountaineer ?
(A) Sleeping bag

(B) Oxygen kit

(C) Blanket

(D) Torch

oo # -3 TR T T g @ T A e 2 7
(A) Tt

(B) 3esH fehe

(C) e

(D) =

'lll1.‘E
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136. Which chemist’s philosophy became famous by the name of ‘Nihilism’ ?
(A) Neils Bore

(B) Dmitri Mendeleev
(C) Acharya Prafull Chand Ray
(D) Nagarjuna

(A) Hiem S

(B) Tefim teea

(C) M Hed =g 1
(D) AT

137. When did Bachendri Pal set foot on the peak of Mount Everest ?
(A) 23 May, 1984
(B) 25 May, 1984
(C) 23 May, 1989
(D) 25 May, 1989

EJE"'E TSl UTeA J HISUE UaEe Shi =Tl W heH el T@T o7 7

e (A) 237, 1984
(B) 257s, 1984
(C) 237, 1989
(D) 257, 1989

138. How will you be related to your mother’s brother’s mother ? EEE

(A) Mami (B) Nani
(C) Sister (D) Mausi
ATYeh! HIATSI o WTS bl OT & ATIehT o1 Fgar g 7
(A) = (B) T
(C) ==& (D) Wi
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139.

140.

141.

142.

PL-1

Disease caused by the deficiency of Vitamin — D is

(A) Night blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
foetfim — D 1 it @ 89 aren W 8

(A) e (B) -
(C) whef (D) frhea

Who named the ‘technology-ecosystem’ of third sub-complex to create artificial

environment ?

(A) Odum (B) Tansley
(C) Haeckel (D) Haber
Fbm gatere fififa s % o SwEga w e -ariifcufaes @ am fee fe
(A) 3TreH (B) &t
(C) = (D) &R

[=]54
Which of the following is a component of man made environment ? Iil_éll-lr'
(A) Lithosphere (B) Industry o
(C) Community (D) Hydrosphere
frfaifgd § & -1 OHa (Hifq qiewr &1 9eh & ?
(A) TS (B) e
(C) T (D) SeHSE

Where is the Pandupol fair held ?

(A) Jaipur (B) Ajmer
(C) Alwar (D) Pander
T HAT hal ThTdl & ?

(A) R (B) 3R
(C) AR (D) 94U
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143. Which is the largest planet of our solar system ?
(A) Uranus
(B) Neptune
(C) Jupiter
(D) Saturn

[=]E
TR GR AUSH 1 o9 91 Ug hH-91 8 7 A
(A) 3780
(B) Ul

(C) gl
(D) =i

1""‘...E
xi[m]

144. In which season Patasan (Jute) is cultivated in India ?

(A) Winter (B) Summer
(C) Rain (D) Spring
[=] 54 [m]
Iil';'_ﬂ YRA ® 928 (S2) s Gl - Hg 7 H A B 7
(A) = (B) Tt
(C) aui (D) =&d

145. Which teaching material is used to correct the language related errors in students ?
(A) Museum
(B) Map
(C) Phonograph
(D) Line diagram

P72t e S 1 ST S T i 3 e o T R 7 AT
(A) EURTEH
(B) wHf
(C) ®FITE
(D) @i
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146. Match the following and choose the correct answer.

(1) Viral disease (a) Tuberculosis
%?‘E (ii) Bacterial disease (b) Malaria
[EIZ%% (iii) Protozoan disease (c) Kwashiorkor

(iv) Disease due to malnutrition (d) Chicken pox

(@ (i) (i)  (@v)

A @ @ (© (b)

B) d (@ (b (c)

© © O @ (d)

D b (© (@ (a)

Frferfas = GAR HIRTT Ao T I 1 T B |

(i) arE SfHa (a) dqufeeh

(i) Sfaroy S T (b) Tt

(i) ersnaT STfHa T (c) TR

(iv) U e HROT EH AT T (d) Toea T=m
() (i) (i) (iv)

A @ @ (0 (b)

B) d (@ (b (c)

© © b (@ (d)

D) b  (© (@ (a)

147. It is one of the deepest and largest stepwells in India E it
(A) Jhalaara of Turji
(B) Chand Stepwell of Abhaneri
(C) Big stepwell of Bhandaro
(D) Stepwell of Panna Meena

Ig A <l god Tl 9 9! qafsd § 9 U 7
(A) TS <RI AT

(B) SRR T = wmed

(C) wWeri 1 wEi e

(D) 9T HHT bl STeSt

89)
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148. ‘Yak’ animal is found in which region of India ?

(A) Ladakh (B) Darjeeling

(C) Arunachal Pradesh (D) None of the above
OO0
Esfﬁ T o DH-8 &F H Ik’ 93] IR 11 8§ 7

(A) T (B) rftfer

(C) TR T (D) 39I* § & HIE T

149. Who takes the first step on the moon after Neil Armstrong on 21 July, 1969 ?
(A) Yuri Gagarin
(B) Ellen Shepherd
(C) Kalpana Chawla
(D) Edwin Aldrin

21 JeT3, 1969 %! el SHET % &G FrgHT T T8AT e W& Tl i AT 7 E?‘E
(A) Ff i

(B) UTH %S

(C) el e

(D) wefr Tfegd

150. Which activity is punishable under Section 112 — 183 of the ‘Motor Vehicle Act’ ?
(A) An accident or fast driving
(B) Things of an unsafe manner
(C) Using horn in peace (no horn) zone
(D) Driving without a license

%g@ ‘HieT JEiehel Toe o HaRM 112 — 183 % d8d SiH-H1 T(dfale W g &l TEUH & 7
T (A) TR gHS A1 A gISTerT
(B) TEG3T I STd o ST
(C) wifer (1 &) & § g w1 W=
(D) Tor ATsEE < TET TAHT

B (90)
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IMPORTANT INSTRUCTIONS / wgwrqut frier
(Read carefully and comply / &R & U@ 3R UTeiH )

In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
QU 1 (AT1-1) § e 911 o T ol gt AT e & Fore wmen st = areff 3 91 % ®9 4 e teed w H R R

In Section III (Language-1I), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form.
The Language-II will be different from Language-I.

WUg TIT (W1-1T) H S 9T o 31 ol BT Bl ST & 5T Ao ot = sneeff 3 sIi-11 3 9§ SAies 3teed o § fohar & | wmi-1 & smr-11 Rt 2t |

The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR
Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.

sreefi giafyem =i i OMR o1 vie # feifta wom w sea-gfemem i i @ P s a8 9 2 | 37U OMR =R 31 i Gedich T9—Jfeieh HHih
IR T ook T9H-gfteent Hilis e Ud e shuTeh o 3MeR wR TR SR |

12.

Read complete instructions carefully and fill the details from SI. No. 1 to 9 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question Booklet. If you fail to fill the details
and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.

it it pof w9 § e 9 3R A 1§ 9 7 OMR TEi e § U6 AT 1 6 4 T Te-qfeas (Fhcie) § faeron &1 W | afg 31 Tera wlek & fewor
W A1 BEATER A & dal OMR 3 sfie 1 ThiT 6 wereaed 84 aTel aiemd o ufd 31w Iwer 2 |

The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the
Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

ToA-GfTR & 96 T8 T 150 A & | 3wt few o ST R Swt & e -gfeaen <1 wfiel @ieh | 98 gifead o foh we-gieaen § 150 T & S R U T 39 e
B 90T & | OMR 3T ¥fie T e =eam svwzreff b ) forar T rermT—v o TR 3iferd Tl & TE St SRA-gfEent & Il 9w R of sifRa R gam R |

All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for
Wwrong answers.

i T FgfaeRetia SRR % € | TS TR 1 T fahed & T 2 | T W o T Tt o U R | et e o forg g e e i S |

There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have
to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/, of the marks for such question will be deducted. If a candidate does not mark
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

I TR | ek S o Te70 uie frehed (A, B, C, D, E) BT foheq Yo7 7 H Wi WA & 9N faehed A, B, C, D& | 31t st 3 =R forehedi & & Tl forehed w1 WA
ST H T et <hl el /I 1 8 | T SR T gY 1] o1 siae 1 AN 81 @ | 9Gel BT Fe Tiehr g1 g qe I TTed JH S | 3t sl e
o1 ST TE ST =&l 8, dl IR ofeh oh Uredl fehed E ol Tl et /el <t | Jfe I’ ek § fel 1o uie ferepedi § @ fomet o oft wivem et /et & foRe St &, W
S o T ST 37 1 1/, T Shier ST | A rwreff e AT o6 10 Sfowta & stferen et H ot et § @ i oft faeren JifeRa e 2, @ 39 ST TR SR |
Bubble of correct answer of the question should be darken completely as shown below :

T < Wl 3T o A I A FER I T

Wrong / Tedd ‘Wrong / TTed ‘Wrong / TTed Wrong / Tedd Correct / 9al

XBOO® || O@OO® || ®EOOD0 || @POD® || VBHO@®

All questions other than language questions of Sections II and III shall be bilingual.

YU 3 W TSI @O 11 TS 111 % 991 aft wuet o wvm e g |

In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.

fepelt e & foreft 3fe & ford aneff =it ot srepm <1 Jeper T B | we B araf & woAt § fepelt weRR 1 e T htEmEn SR |

Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.
No additional paper shall be provided.

et YRR o T T B IRH-UfTAeRT o 3 W ST <1 TS 2 | 30 Ye-gfieht 8 T&1 WS | Rt yeRr o srfafte e Suctsy T samn Smim |

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use
will result in disqualification.

W 9, hoageret, TES ¥, HEd B, TR, fefent Smll, =gy, ATsshiti a1 fortt 371 SRR 1 SoTarfToh o/ SoRTUT ShT ST aIfSid & | $75h STNT W e
T IR A R ST ekt |

OMR Answer Sheet will be provided along with Question Booklet separately.

eF-gfeqent % @1 OMR 31 ¥fie wer &1 S |

The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately
inform the Invigilator and get it replaced within 5 minutes by the Invigilator.

Feff ol e -gfereRt e e g9 % 10 fide qd & St | sneff savEes €9 & OMR SRR Sfie § Tt wfafeedi w1 @t weer & W | wea-gfeae i dia wlam
e % 5 e qd Eied qun Y- ufSaen % ShE T 1 F 4 R iafsedt s wE wehR & W | S -gfeeht Wie o garq sneff doket I gfvea w e e fuita
T S 2/ T eI AN T 2/BE P 2/F el A G & AT B TS QAN S T 7 | A eA-Yfeent F 36 Wb H HrE Ffe ar St B A dcbrer derep b
gfea {7 5 fire & i ferek & o1 A -gfdeR SeEen o |

Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the
Question Booklet as well as in the OMR Answer Sheet.

JoT-GfEeR T8 OMR 3T e W P wom w am, gdan e &l wie, s&er, Id ., T-yfqew @i #ig, e s va Jea-gfee s ®w |

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make
evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.

OMR 31T e %l PR GRT TR o T2l S 712 7 | 3fe 319 Iwded w6 OMR 3T 3fie & frsdt ges w e m fdei o1 arem 6 &, @ reget gr
SATTHT YT hid & ST | 36 T & 752 i €4 aret ToheH ht iR soeht o <t &nft |

Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination. No candidate should leave the examination hall before
the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the Invigilator before
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.

witer TSy & 5 fime @ SaeH 5 a9t wa st awe S wlan ity o sortt | g sreff sfm g soe % i wdan we § STet T8 1 T | OMR
IR ¥fte e Wed qen srafafy wied & 3o sl O ke fham g3 & | srvefl wmeant & sremeff i wia (safaty) & o wfa @ srem woarts e
off 7% & g wfa 1 8 BT T UgT | wlen wa Bied % qd waeff OMR #i qat it vd seA-gfeqen ek w Gig § | srvaeft hae sttt OMR R ufa @ s
Y TR | T -feereht 1o sToe T TE o S weh |
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Invigilators’ Signature/ (1) (ii)
Sierhi < EaTa
2222222305 S.No. 1,2, 3 and 4 are to be filled by the Candidate himself. No. of Pages in Question Booklet /
C | | [ 1.2,33 43 off =i srereff gm0 1 9 2 | T giEdehl § $A T3 : 96

PAPER CODE : PL-1 (SHIFT _ 1) Question Booklet No.

Series Code :

Write this code in OMR Answer Sheet.

39 IS I OMR 3 3fe § 3iferd &L |
1. Roll No./ T F. 2. OMR Answer Sheet No./ 311.TH.3TR. 3= 3fe shHTh
* 3, Candidate’s Name/ 315eff &1 180 * 4, 79 gs3 w1 W e m |t fde 6 ue forn 2

Candidate’s Signature/ 31%eff & BERT
* As per Application Form./ 9T e U § 3Afhd TR B |

FrErr s A

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following five Sections : Section — I,
IL, 11, IV and V of 30 — 30 questions each. The candidate has to attempt all Sections. Each question is of one mark. No marks will be deducted
for wrong answers. For unattempted questions kindly see Point Number 4 of important instructions given on last page.

3 Y- § FA 150 TS e Y & | - o Ui @uel H faaiforg § qen wefi @ug e e 7 | S @vs-1 11, 111,
IV @41 VH 30 - 30 9% § a1 Y 1 37k 1 B | T I o To13 IS 37k hIC &1 T | STIA ST o ey | gfeaent o 3ifad

Eh R SRR T I I
PAPER CODE : PL-1 (SHIFT -1)
Total Questions : 150 Time Period : 2.30 Hours Maximum Marks : 150
Sections Contents No. f)f Question Nos. Page Nos.
Questions From To From To
@ Child Development and Pedagogy 30 1 30 3 12
an Language-I (Only One Language)
As selected by the candidate as medium of instruction in the 30 31 60

Online Application Form as Language-I from the Languages
given below :

Hindi 30 31 60 13 18
English 30 31 60 19 22
Sanskrit 30 31 60 23 26
Urdu 30 31 60 27 32
Sindhi 30 31 60 33 36
Punjabi 30 31 60 37 40
Gujarati 30 31 60 41 44

Language-11 (Only One Language)
As selected by the candidate as Langauge-II (other than the 30 61 90

() Language-I) in the Online Application Form from the Languages
given below :
Hindi 30 61 90 45 48
English 30 61 90 49 52
Sanskrit 30 61 90 53 56
Urdu 30 61 90 57 60
Sindhi 30 61 90 61 64
Punjabi 30 61 90 65 68
Gujarati 30 61 90 69 72
(IV) Mathematics 30 91 120 73 80
(\%) Environmental Studies 30 121 150 81 90

Note : In Sections II and III, a candidate has to attempt the questions of Languages compulsorily, selected as Language-I and Language-II in
the Online Application Form. For Hindi version of the above Table and Note refer to Page No. 2

|Read the instructions in English and Hindi at Page No. 96, last page of this Question Booklet.
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PAPER CODE : PL-1 (SHIFT - 1)
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Fauw: 150 ety @ 2.30 gue qutier : 150
FATHA & e
e e —ammht T kil i
k| h k| h
(I)  |ser-Terenmm wa e faftmt 30 1 30 3 12
(In) | -1 (e o )
grerefl R s e % mem o i 30 31 60
et # @ wiwr-1 % &9 H A 3Teed T H 3Afehd
R
=R 30 31 60 13 18
SR 30 31 60 19 22
TR 30 31 60 23 26
39 30 31 60 27 32
fasn 30 31 60 33 36
TR 30 31 60 37 40
TR 30 31 60 41 44
(1) |- (3raret ues )
reeff gy SAieTsT 3reed o 8 =gtid w11 S wr-1 @ 30 61 90
= it e frment = feferRaa wonsti 8 9 foen w2
=R 30 61 90 45 48
U 30 61 90 49 52
R 30 61 90 53 56
35 30 61 90 57 60
it 30 61 90 61 64
O 30 61 90 65 68
TR 30 61 90 69 72
av) (== 30 91 120 73 80
V) |vataror seem 30 121 150 81 90

e : anefi gRT WU - 11 Tal 111 T 3TAeATS ST1eie st T fT 7o Sht = WTeT—1 Uet Wie—11 3 &0 | foha 2 et 9 o U9 o
FfEmE

C

| 5o som—gfeere & siftm g s 96 W siish aen R A RA g PEm A wE | |

@)



% PL-1

SECTION -1
CLC |
CHILD DEVELOPMENT AND PEDAGOGY
e faera ua e it

There are 30 questions in all in this Section.
All questions are compulsory.

39 @S H 3l 30 T 7 |

qsft I T # |
1. B.F. Skinner emphasized between measurable behavior and stimuli to
explain learning.
(A) Fundamental analysis (B) Functional analysis
(C) Basic analysis (D) Language analysis

i 1. Th. ThE A AT i ST i & 70 A STagR a1 IEuehi o s
Paifar:
=% A e g |

(A) meEmeg fergeror (B) whrIicHeh fergeiyur
(C) Hq ferwersor (D) w1 fereeryor
2. What is the formula for calculating Educational Quotient (EQ) according to Burt ?

(A) CA+EAx100 (B) EA+CA %100

(C) CA+EA (D) EA+CA

[=]#3[u]

¢ % FTER Afereh wifed (EQ) hl TOMT 1 T A1 7 7 B

(A) CA+EAx100 (B) EA+CA %100

(C) CA+EA (D) EA+CA

3. Which mathematical model is used to describe the relationship between heredity and
environment ?

(A) Addition (B) Subtraction
(C) Division (D) Multiplication
_EI‘;,':_-FI JTATRTRAT 37 TRl o TG T GUH B o ToIC HIH-F1 T Aiga U= fobam
B s 2 7
(A) g (B) =
(C) wm (D) Tom
3) C




% PL-1

4. What is the term for adopting someone else’s behavior or personality traits as one’s own ?
(A) Sublimation
(B) Identification
(C) Projection
(D) Compensation

g%%{ﬁm%cwaumw@dmﬂwﬁaﬁmmmﬁﬁwwé?
T (A) Serede

(B) "&=H

(C) &I

(D) afafd

5. What does the NCERT’s document ““learning outcomes at elementary stage” state about
purpose of learning outcomes ?
(A) To promote uniform teaching methods across schools
(B) To prioritize rote memorization of concepts
(C) To ensure that students achieve age appropriate competencies
(D) To focus exclusively on theoretical knowledge

HE T.HL3. AR, & e TR TR W Higd & Sfded’’ HEgd & Ifaeal & I3
% o SR H T hEAT B 7

(A) oot o weh wmme fyreror fafern st sgran &

(B) 3TEERUMSAT %l Te <l Yefd Sl FeIfEehar ¢

(C) ¥g gHfaa s foh B 3119 I G&Idiati sl JTed ot

(D) e AgTi=deh T T EAH hirgd LT

=]z [=]

[m]# =]
6. What is the main difference between growth and development ? %‘i‘%
(A) Growth refers to quantitative changes, while development includes both
quantitative and qualitative changes
(B) Growth is related to mental development only
(C) Development stops at maturity
(D) Growth and development are completely unrelated

gfg 3 fohrar < e g7 37t @1 2 7
(A) gfg AT=TcH qNEdH! i FEHd AT 8, Tk (qehtd HTATCH TR TUMTcH GHI
Ui sl STt LT 3
(B) dfg hawt Afdes Ty @ wefea 2
(C) faepra uftasardt T e ST 8
(D) gfg R foshr uia: 3EEE &
C @)
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7. Which of the following is not included in the concept of personality ?
(A) Psychophysical system
(B) Dynamic organization
(C) Determination of unique adjustment to environment
(D) Static organisation

%wﬁdmﬁé%qulﬁﬁﬂ%ﬁaﬁﬁﬁaﬁ?—waﬁ%ﬁﬁ%?
(A) TR T
(B) TcATCHh TS
(C) ITATEROT H 7S HATAISH 1 HYRoT
(D) feer T

[=]#[s]

Tr

i
8. According to Maslow’s hierarchy of needs, what is at the top of the hierarchy ? EIE’-'E
(A) Safety needs

(B) Physiological needs
(C) Self-actualization
(D) Self-esteem needs

HTEAT <hl ST UETshH o ITTHN, TSHshH o ¥ T 1 g1 8 7
(A) & JTETIHATL

(B) Iifeh strevehard

(C) 37T TIETehR

(D) TCH-THM ! HATETIHATd

9. Which theory emphasizes the influence of environmental contexts on private speech ?
(A) Vygotsky’s theory
(B) Piaget’s theory
(C) Both theories equally
(D) Neither theory

50 i e fist ST o e i S e R e 2
- (A) dTEIcEhl o R
(B) Tt =1 fagra
(C) T frgra wam w9 @
(D) w18 +ff fagra &
3) c
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10. What is the primary feature of “Action Research” ?
(A) Itis a dynamic process
(B) [Itis a theoretical process
(C) Itavoids problem solving approaches
(D) TItrelies solely on self-evaluation

“fopaTereh IEYM’ <t e fersivar w=m g 7
(A) 98 T TTeiied Sisham &

(B) ¥ T dgifreh ufskam 8

(C) 98 THET THIYM gfSCehlvl § S=dl &
(D) I hadl T-HeATehd T Y o &

[m]# =]
11. What is the correct explanation of ‘individual differences’ in psychology ? %‘E%

(A) Variations or deviations among individuals in regards to a single or multiple
characteristics

(B) The resemblance among people of the same species

(C) Similarities in emotional responses among individuals

(D) Similarities in thoughts and behaviors among individuals

0 L
R meifasa 4 ‘safeama fafi=asn” 6 g S w=n g ?
| iy )

(A) =afaadi ° et a1 3k foanant o g # fafaerand an faaem
(B) T & USITct o < o S U
(C) AT T TaATcHeh JIATshaTaTi § o

(D) =afaaai d ol 3R Jagri § a9l

12. What indicates difficulty in understanding or remembering what was read ?
(A) Forgetting the book title
(B) Inability to recall basic facts from reading
(C) Reading with high fluency but low comprehension

(D) Excessive note-taking
. . [=]#3[m]
UQ T TS I HHSH AT AT L H HISTS I Hobd FaT & 7 e

[=]:E
(A) TEdeh I 3k A ST
(B) U¢ T IS ¥ A aT bl AE W& | Ir&mefar
(C) 3=9 JaTE o ATY YT cifehd hH THSH]

(D) AT TreH SHMT
C (6)




PL-1

13. What term did Bandura use to describe learning through observing other’s behaviour ?

(A) Direct learning
(B) Experiential learning
(C) Vicarious learning

(D) Cognitive learning
O[] CI i . o
P SqU | qEU o AR 1 STl Hich HiEH i = AW fern 7

(A) ¥ 3t

(B) 3HaS AT
(C) TYHM= AfeRm
(D) HHTeHS 3TfrTg

14. Which type of imagination is classified under pragmatic imagination of James Drever ?

(A) Practical and Theoretical
(B) Aesthetic and Fantastic
(C) Artistic and Creative

(D) Constructive and Creative

H
=1

(A) SR IR Bgifae
(B) Hicatcqeh 3R TR
(C) ATCHS R FSHIHS
(D) EEATHS IR oI

15. Which of the following is a characteristic of a backward child ?
(A) Above average educational achievement
(B) Higher intellectual capabilities than peers

(C) Below average mental and educational age compared to peers

(D) Strong language skill

frefeifiga § @ - e fUse aretenl 6 famivar 2 2
(A) 3THd T SW i et ITafey

(B) THIIEH 91 ¥ 39 Sifgeh Auand

(C) 3it|a AHfae 3R Sferer 1Y gua=s v d =
(D) YT 1Tt i Frgoran

)

FrE

1-
H
Tl

B
i o GIe oh ITTHR TRUTHETE! et shi fohd JehR shi sheudT o sfihd fepar a1 8 7
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What does the RTE Act state about teacher responsibilities for assessing students learning ?

(A) Assess the learning ability of each child and provide additional instructions as
needed

(B) Focus only on completing the curriculum without assessing students abilities
(C) Conduct assessments only at the end of the academic year
(D) Limit interaction with students to classroom teaching

I3, At Bl % e & geared & fau freent 6t fsmmerfe & am § @@

FEA 8§ 7

(A) T = i W@ i GqHaT 1 GodTehd ohi 3T STETIhal o STTHR AR
fgw g

(B) B FHATS! I YeATeh fohU foFT hael ITa=Ishl I i T M <hirgd i

(C) had Segforeh a9 o 370 H HodTehd i

(D) ST % T ATa=td hl herl 311 qeh diftra @

Which one of the following is not a projective test method of personality measurement ?
(A) Word Association Test

(B) Thematic Apperception Test
(C) Rating Scale
(D) Sentence Completion Test

Frerfrfian 3 8 - e T 36 S e B faf 2 7 A

(A) Frog-wTErt e

(B) Torwa-ameraem qdiero
(C) e ot

(D) e qfed wdegor

What teaching method is suggested by students with ADHD to help them learn ?
(A) Using only verbal instructions

(B) Providing lengthy assignments

(C) Avoiding use of any visual aids

(D) Using lots of pictures and visual clues

ADHD 9Tt BT 1 Hig § ¥eg o fou - fSreor adiest ggmen = 8 2
(A) haat Hiftgss e w1 3TN ST
(B) S 3FHTETHE G1
(C) Tereht oft goor wmft < ST & F=
(D) wgd dR TN 3R g2 Fehdl hl ITAN AT
)
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PL-1
How does Gardner suggest Schools should implement the theory of multiple “EI‘;::-_@
intelligences ? Oz

(A) Focus solely on linguistic and logical mathematical intelligence

(B) Train teachers to present lessons using diverse methods like art, music and
role play

(C) Standardize IQ testing to identify intelligence types

(D) Limit the teaching methods to traditional classroom approaches

TER o TR TG (G ol [oerdl § fhH TR AR HEAT =16T ?

(A) chael WTNTE 3R dTfeheh TIUTR SfGHTT W €I hich

(B) Torerani st whet, wifta 3R ftehr-atfima S fafay wlisi 1 3w ek 18
g = foru ufsrfera sees

(C) SfGwaT YR h1 &= o fordl 1Q THEIT hl HIehishd hich

(D) Treqor fafemi 1 arufies et o gfeeshiv aeh Hifid ek

F]
What type of adjustment mechanism attributes frustration to external sources ? %ﬁ
(A) Extrapunitive (B) Intropunitive
(C) Compensatory (D) Sublimation
ST FHEISH a3 EATT sl S8l Hidi o A1 g ?
(A) SfEcusTeHe (B) 3d:gUSTcHeh
(C) widqTsh (D) et

What does the “Comprehensive’ aspect of continuous and comprehensive evaluation
focus on ?

(A) Only academic subjects

(B) Holistic development, including cognitive, physical and socio-emotional aspects
(C) Focusing solely on co-curricular activities

(D) Limiting evaluation to classroom activities
TAd Td ST Godiehd o JT=a7d < SATIh’ Tge] 1 J&I HIhd &1 8 7
(A) haa Qeafore fow
(B) wwy foepmd, fram demTcTe, Sifeh 3R AT —WTeHTcHs J8e] a8
(C) et Te-Neffureh Tfafafert w eI hisga s
(D) AR I el hi T qeh HHT HET
&) C
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22. Which ability develops during the pre-operational stage ?
(A) Logical reasoning
(B) Symbolic thinking
(C) Concrete thinking
(D) Hypothetical thinking

T ST R - a R B 2 7 "*'@
(A) difcheh Toh

(B) UdlehlcHes |l

(©) w4 o=

(D) HIcUTeh A

23. According to the principles of development, what does “Cephalocaudal Development”
signify ?
(A) Development proceeds from the lower body to the head
(B) Development starts from the head and moves toward the feet
(C) Development begins with the limbs and moves inward
(D) Development has no specific directional sequence

E]-"-E] foerra & frgr=di & IR W@ﬁ@ fam@” (Cephalocaudal development) T
Bl o 319l & 7

(A) T IR & Mo 268 & o 61 1R e &

(B) foerm &R @ 3% BIa1 @ 31K W 61 3T 51 8

(C) Torepm® 37T & & BT 8 3R 3G 1 AR Feal &

(D) Torerra =1 1E fafdmse fesm s 7 grar 2

24. What does ‘monitoring’ involve in metacognitive skills ?

(A) Deciding how much time to give to a task
(B) Asking questions like “Is this making sense ?”
(C) Completing tasks without feedback
(D) Ignoring the task’s difficulty

S]] : o~ . :

P SfeERTeHe hivetl o F=aria TR’ & = wmihet 7 7
(A) Torelt =/ 1 foha w9 A1 @ 3Tt fui o
(B) T B H ‘TN Ag EHA H @ 7
(C) sk o fomT 1 QU e

(D) 1 Sl HSATE I @ FHT

(10)
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25. Which is the primary factor in shaping behavior according to behaviorists learning
theories of motivation ?
(A) Instinct
(B) Social interactions
(C) Reinforcement
(D) Cognitive skills

[E5[E AT o IERaTE! i fHgal % FTER SAEER Sl RN o Il @ Hh
e - 27
(A) et

(B) TmHTiTeR 3Ta:fsham

(C) TAsed

(D) TIETCHS v

26. In Hull’s formula for effective reaction potential, which symbol represents reaction
inhibition ?

(A) sHr (B) D
©) Vv D) Ir
& o JuTelt ufdfshan Gyrear @ | ufdfskar foe o1 wdis w2
(A) sHr (B) D
<© Vv (D) Ir
[
27. What is the primary focus of “child-centered pedagogy” as per NCF — 2005 ? "E"I‘ig.?:;

(A) Memorization of textbook content
(B) Giving importance to children’s experience, voices and active participation
(C) Strict adherence to traditional methods

(D) Encouraging competition among students

:E%NCF—zoos%agan“w—%f%ﬁ&rw”wg@qﬁww%?
(A) TSI Shi TTHIT 1 ATG HTAT
(B) s=1 % 3M9dl, @M TR ik Arfigit ! Agcd ¢
(C) Ut faferat o1 ot & ure
(D) BHEI % &g gieayt =1 S@rer ¢
(11) C
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28. Which of the following is not includeed in the Guilford’s three basic parameters of the
structure of human intelligence ?
(A) Specific factors (B) Contents
(C) Products (D) Operations

E#%E Fefafiea @ @ wH-a1 frawE & oma gfg & @@ & b g augst § it

(A) forre Tz (B) fawa =g
(C) 3Ic9rg (D) T=ETeH

29. What does the “basic potential and capability” of the learner include ?
(A) Mastery over the subject matter
(B) Readiness and will power
(C) The inherent abilities and skills of the learner
(D) Adjustments with the teacher

[=]#[=]
JIRTHERAT <hl “YEAVd FHAT IR Irear’ § w1 WA 8 7 P

E=Fx
(A) TI9I W U TR
(B) Al 3T STBIIf
(C) Taremmeff &t srafifed ewand 3R s
(D) Treres & =1y wURISH

30. What is a key emotional challenge for disadvantaged children ?

(A) Inferiority complex and negativity
(B) Overconfidence
(C) Hyperactivity
(D) Foresightedness

(=] =] .

e FrATfaa seai o folt g JraTesh A w1 7 7
(A) Far ufor 3R TehrreHehar
(B) 3Afd—3TeAfavam™
(C) 3TcafYeh Afshaa

(D) T

(12)
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Qus - 11
ICIE |
= . 5
W @UE H 3 30 T ¢ | e
Tt e tfeErd £ |

31. “‘gH 91 TG AT o Irea-Tdeh TgMT & ue-frequr 78 2, iy urea-yedes 3nan
Sl Mg s R
o I9YHT HUF &

(A) T, TH. S I

(B) HfSra1

(C) Sied &l

(D) Ta B Hl

32. TEQSS TOET g TAS qUT U o ITHR e oh o #§ foha |iami w1 STgERer foha

SR ?
(A) dfE |AHT
(B) <R HIAHI <l
(C) o= AUET
(D) T |HEI H
33. uH-a=H % o 3fd wem 8 ""EE

(A) T T TATTCHeRAT 3Tl B |

(B) HH-dTeH Tl 9 Y&W ST TR o AT T HERh aidl § |

(C) HH-TM=F dMfesh ar=q & &9 § fohan S Fehar ¢ |
(D) HH-aT=H JaTgHd aYn Tid W E=r % @y e =nEe |

(13) C
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frfafad & 9 As1-9eae’ ol IS8T &
(A) 9RA % JUHHEA

(B) 3N % HHM SAGH

(C) ¢d &1 91 98

(D) Tereft-T-forelt g

‘TS TR F 37T |

STYe TR T TR &

(A) HE Ih (B) s=oTEIuH

(C) Taummes (D) AT
‘mﬁaﬁmaﬁw@’ﬁgﬁawwwaﬁé?%
(A) Taw-a&q 1 31 faurem -
(B) weg-fayttor =1 amom

(C) @&Hl o HES I iawrd

(D) et @+t

37. Tl & gro wdl TR 919 B A kT A forar I W Aefafgd § 9 o S e

DL
R

‘form o=’ B

(A) TS Fog
(B) oo fu=
(C) Ficwes o=
(D) 35w fug

38. wToT-Tweqor o foTuw steames i

(A) Ioar gt JfeAT 61 gt T8l ST AT

(B) TerenRiai gro feru TTq 3731g SR < 3T @it <Al STawEeRal T8 @
(C) T Srcil o THTE! I G T8l AT =118y

(D) dTEI-TIAT T hIg LM T8l ol =18Y

(14
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. i ; . [EEE
e : Frfaftaa mam o STUR W Y -9EA1 39 § 42 T % I AT i

950 A UEC, Uoh AT o 7oA Gl Tl % $oheal oht TTST 3N 31T U1 <l | 39 Jeh 38
Teh ATHGIIh @I ohl; T &H @ 38 T I AW T8 IHd & | T Teh oeR, fo= aren
ot o S R A9 W W @IS H T I § g8 T SIan @ar o | el 9 wdll-sret <6
QIS i | 39 IY IS W@ 6l W@ | THH A % & 6 &1 H b HEW INaa 3T | 98 Th
fRE™ 9 TR 3R 379 @ o foIU 3N 3T & | 3760 39 WISH il TN | 3E-IT Iohd
i FTEwehd T&1 off | Sl TR < UvETq Rl | afed 1 HATESRR TR |

39. fr=faftad 3 @ "ea ‘Sga=q’ § Ygad g arer faehey 2
(A) < (B) fram
(C) ¥ (D) T

40. TS H Y R W1eg 1 Y 7
(A) TS o™ QA
(B) ToreRt =61 =R 1 &
(C) TomTet == aren
(D) >l Ba 91al =W

41. T § giee’ w9 H TgF vee A& B

(A) 3@ (B) T
(©) (D) moft
42, o e e 3 o ST R | g e e S
(A) EET YR (B) HTH~ S[dehTet
(C) | Ydehret (D) HWTSH YdehTel
43. ‘S o e fEHeh g3 § A8 o 8 | A0
ST o | fag @ O
(A) feas o
(B) ST o foamedt
(C) ST

(D) T&weh ugpait & 78 <@ @
(15) C
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44, ‘Oieewd yonell’ § FHfE o mrem o e < I @
(A) 39 69Y % F<al &l
(B) 4 ¥ 599 o a=al &l
(C) 437 a4 a=ai =l
(D) 5% 7 a9 % ==l Hl
Of{0

9 : F=fafaa Temer & STYR W UH-"EAT 45 9 52 9% o I <IN | %ﬁ{;
| hlp A

JTfereat AR forsu] Bt qTeTehT HTHeRt 3Teh! IUTEHT hid @ ; Torso] UTeid &hid & a1 Hes e id
2 1 38 R fovamg &tk afg Fueh 1 & fowp &2 a1 i Afavrenfaa 7 gl | 3w § 353 9
Taa gaft, gt W fq=rer S are 7, J81 9 b Soek Wt Suehl W g MW 2 | qoe W
I, AT WEd IERAT SR FATT Wgd THEm 1 A ol <@ 2 a1 31T HRATT Hh i <RI |
% T | W GBI ol REATdl 8, T 7 TE-Teht GOl ol o GaT @ | 38k STIIH AN %1 JHHAT
IS &I T THAT & | WA Hh hi 3Teh{d H UHT Fid SIdT1 & foh HHI IS SaCrT F=amel & |
S8 9 3@ 1 g@ 3R T @ § g@ i WA 2; N8 T 3[H § SAcH-TA1H Bl 8 3R A gigal
T AT | T8 I8 HHANN & S oA Ao <hl 391 T Ued Bl i U doai | &dT 8 | ElE

15, SR G H S v e v 2 B
(A) STt ST (B) 39a et
©) Te= (D) o=
46. T=TfeRa § 9 ‘Sifaar=es 931 @
(A) @M (B) g:@
(C) P9 (D) 3eRaT
47. ‘A vee H ‘YT’ B
(A) ¥R (B)
C) = (D) W

8. Freifin 3 3 -3 g & W v w  wE wm d 7 S

(A) 3T, TG, TTH, I o
(B) U, =R, A, T4

(C) 39, INg™, Isht, HET

(D) Sl WHifae, fava, faem

C (16)
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54.

‘T’ wse o1 &gl ‘wia-fo=ae’ g

(A) d + o (B) @d + &
(C) @ + o (D) d + oA
TS H WYFA TG WG B A 7 %‘i'i'l%

(A) 38 (B) 3

(C) u&H (D) 9

“forsu] <A1 IUTEAT ST T AT o T U et &

(A) HiEq (B) A==
(C) ulifera (D) 9wrE
‘gitg’ vree ° ‘IuEl’ 2

(A) #H (B) 9U
) ¥ (D) it

fraforfiga 3 & wiefEa @
(A) TEAT-GTAT HTAT e

(B) 3WE <hl T TSI Tl
(C) alfean &=

(D) AT T a1 BT

PL-1

‘a1 &0 T FEY kA [ TG BT & YA YSH KT HHF a1, Siosh I e

CIEE 7ot ol 37 =R ferferer shivredl # ge1 ST @ SH G, SemT; el SR forgmr |7
Elr_.%.
Irferd afmn € E ®

(A) s TSl g
(B) W gTq

(C) TH. . SIS g
(D) WiamTy faar g

a7
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ITIcTeh Toreqr & & § fefafga 4 @ s gatfess sgawft g ¢

(A) e (B) efifers

(C) K (D) ToA-Toeares o=

e 1 Al 2

(A) T (B) A

(C) e (D) smTEt

TS T & IR UGI Sl “T=IE YTl | SgaAm T

(A) HfW o g (B) fSert < gr

(C) = % g (D) IS & 5
e 8 T A R o 2

(A) 9imE (B) el

(C) T (D) et

W8 IqL A1 Y I JATCHET A AT HIEU 8

(A) gt TR

(B) &t @

(C) et fafegan & w@ fmmT

(D) 38 =FATT

e 3 o e e R A

(A) ‘aT-Treer’ o fofu ‘Smd @ g’ 9§ STt R |

(B) ‘wrwT-f3reror’ = fow ‘Sifeet & Tl o1 STTEROT 3779 BT # |
(C) “wrar-fareor # ‘A @ e g faew SuEnh g B

(D) ‘9rT-farerer ‘@ug & quf’ g % IFUR W HTAT G B |

(18)
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PL-1
SECTION - 11
LANGUAGE -1
ENGLISH
There are 30 questions in all in this Section. EEE'
All questions are compulsory. ==

“The doctor has given her a good treatment.” The passive voice of this sentence is
(A) She was given a good treatment.

(B) She gave the doctor a good treatment.

(C) A good treatment was given to her by the doctor.

(D) A good treatment has been given to her by the doctor.

‘When we learn a second language, we tend to filter the universe through the language
already known.’ is a principle of

(A) Using mother tongue (B) Exposure
(C) Habit formation (D) Motivation
‘Reading is a process of sight, sound and scene.’ is quoted by
(A) P.B. Ballard (B) Dr. West
(C) WS. Gray (D) Jesperson
‘I am sick.” The correct question tag for this sentence is
(A) Aren’tl? (B) Areyou? (C) AmI1? (D) Amyou?
is a drawback in the implementation of the direct method in teaching E%E_
of English. (=
(A) Use of mother tongue (B) Familiar texts
(C) Lack of facilities (D) Charts

One of the features of the portfolio in CCE is

(A) Objective tests

(B) It promotes diversity in the assessment method
(C) Partiality

(D) Record maintenance

(=] =]
. . 3 52 :?.,.-fg_ r
The correct passive voice of ‘He draws a sketch everyday.’ is & E‘:.T-l,

(A) A sketch is drawn everyday.

(B) A sketch was drawn everyday.

(C) A sketch is being drawn everyday.

(D) A sketch was being drawn by him everyday.

(19) C
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PL-1

In learning English as L2, the following skill is acquired independently

(A) vocabulary (B) listening
(C) none (D) all

[IiE]
The phonetic transcription of the word ‘description’ is %‘:%
(A) /deskripsAn/ (B) /discroplen/
(C) /dr'skrip6n/ (D) /diskrip/n/

In CCE, the focus remains on

(A) progress, process and product
(B) course, test, performance

(C) time, process, assessment

(D) formats, product, record

The Communicative Approach develops
(A) the speech and expression ability
(B) grammar skills

(C) knowledge

(D) wvision of learning

There are tests in education system
(A) to fail the learners

(B) to pass the learners

(C) to grade and rank the learners
(D) to detain the learners

a0

Passage (For Q. Nos. 43 to 49) : :-‘+:-i"'a"'-.fj
ge (For Q ) R

The old man sighed and picked up the chisel and the hammer. He loved his work and did not want
to change it for any other work in the world. For days together, the man worked continuously
without taking rest. His one desire was to finish the sculpture which would be his last. He worked
till his hands began to tremble and his shoulders started to ache. His arms grew heavy and his
eyes grew tired. And then he couldn’t see anymore. [E]#[E]

44.

it

43. The comparative degree of ‘heavy’ is =
(A) more heavy (B) most heavy
(C) heavier (D) heaviest
1S a noun.
(A) Picked (B) Desired
(C) Chisel (D) Tremble

20
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46.

47.

48.

49.

50.

51.

52.

The sentence that is incorrect due to the use of wrong determiner is
(A) He worked till their hands began to tremble.

(B) He loved his work.

(C) His arms grew heavy.

(D) The old man sighed and picked up the chisel and the hammer.

[=]#3[=]
In the phrase ‘... any other work in the world’, the word ‘other’ is "IE"I"EF;
(A) noun (B) subject '
(C) object (D) determiner

is that incorrect sentence.
(A) He loved his work.
(B) It would be his last work.
(C) His arms grown heavy.
(D) He worked till hands began to tremble.

(=] [=]
‘Continuously’ is “IE""E:;
(A) adverb (B) noun
(C) adjective (D) conjunction
Cotton is than wood. Choose the correct adjective.
(A) heavier (B) lighter
(C) heavy (D) light
The correct word with this symbol () sound is
(A) brother (B) laughter
(C) great (D) higher

[=]#3[u]

‘Unit of teaching is a word’ is a feature of A=
. EI'_.'r.‘:

(A) direct method

(B) indirect method

(C) grammar cum translation method

(D) communicative approach

PL-1

‘They will not help their needy neighbour.” The correct question for the sentence is

(A) What did he do ?

(B) Why will the neighbour not help ?
(C) Who will they not help ?

(D) What did the neighbour do ?

ey
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[=]#[a]
Passage (For Q. Nos. 54 to 60) : ==r

PL-1

The use of multimedia aids such as T.V., radio, computer etc. in teaching is also

known as approach.
(A) visual (B) software
(C) audio (D) hardware

i

He began to believe that most of the diseases were caused by bacteria. Many other scientists

also treated bacteria as the enemy of man. They could not be seen but are present everywhere to

cause mischief. Dr. Jenner in England had already discovered vaccination for small-pox. Here

Pasteur was trying to discover a cure for a terrible disease called anthrax. It killed lots of cows

and sheeps in France. He tried to give the cows and sheeps some weak germs of the same disease

to make them safe against disease for the future. It must have seemed a very dangerous idea in

those days. Many scientists were angry about it. EI‘;"_'EI

54.

5S.

56.

57.

58.

59.

60.

=155
‘danger-dangerous’ is a pair of
(A) noun-adjective (B) noun-pronoun
(C) noun-adverb (D) adjective-noun

The noun form of the word ‘discover’ is

(A) invention (B) discovery

(C) discovered (D) invented

The correct spelling is

(A) Mischievus (B) Mischievous

(C) Mischeivous (D) Mischieous

‘To act or behave in a certain way towards somebody’ is

(A) treat (B) inject (C) cure (D) vaccinate
One word for ‘illness of body or mind’ is

(A) disease (B) healthy

(C) bacteria (D) vaccination

The word opposite in meaning of ‘present’ is
(A) everywhere (B) absent (C) attendance (D) gift
p"-
...... but are present everywhere......” According to the passage, the underlined El‘?;:;
word means '
(A) sold (B) lost (C) found (D) forgot
22
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Qus - 11
HTET T9H - 1
. EE’E
T G
WWW: afd |
Td YT GUTEAT: |
31. SEVT T IerUeET: el o fhad 7
(A) TS0 (B) TeATEH
(C) FHEATHH (D) egia
32, “‘yEmarEn: fawisem | WEifgaueHTged TR $ed -
(A) = fawnsam 7 (B) e fawnsay ¢
(C) e fawnisa ? (D) A fowrisay 7
33. “‘3TE B KM | IS AS-ThR dREdTd -
(A) 378 R T | (B) 318 shrf shiaor |
(C) 318 %1 wiTafy | (D) 378 % FIM |

34. WTNTRISTAT HATSTITehshAISTET -
(A) WU, TREH, SEUH, GG (B) HEUH, WIVUE, USAH, T,
(C) WINUM, 9&HH, @&, s@0H (D) AU, WV, TREHH, 9T,

35. HEhd GERAUTSIT SgET | 3fd aTeRfie o fofeeT srafan ¢

(A) Feaerias: (B) EHTERML:
(C) =AMl (D) =TT
FUfARGIH TI(SA T SMURIhed TeT: (36-40) THIET: | %%%

TUR ThaT: IAATEeehd! ddd | foRiyd: sicisfor dgfa: e | aar & aaamew
TG TSR TS T Sia-mied ; aed Fmiome W&o = e THavasy | 3Tecd J9r Jfea
TS THART: AEISTE, aq T & Td WASAIRIEg qafd | STYAT Alhd-ATcHhIETe 6
Toeecd Wt fagera 31a waead - @9 wifdd: wat I 1) E%E
36. ‘e’ geu geInsiE - —
(A) & (B) fa, ©) ¥ (D) forf
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37. ‘sl 3c¥d I favfea: ?
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SECTION - II1

LANGUAGE -1I
ENGLISH
There are 30 questions in all in this Section. 7
All questions are compulsory.

i

61. In order to learn a foreign language
(A) One must adopt many approaches judiciously and rationally
(B) One must master many foreign languages
(C) One must select the students
(D) One must be subjective

62. ‘In the nick of the time’ means

(A) when the time was over (B) when they needed time

(C) just at the right moment (D) just after the accident
P F Nos. 63 -69) : _EI‘;.':_'EI

assage (For Q. Nos. ) : IE+I =

For better relationship the first and foremost factor is mutual interaction and regular
communication among the members of a family because through communication only we can
understand each other’s aspirations, expectations, desires, strengths and weaknesses in a better
way. It is essential that parents should spend time with their children. They should give them
freedom and opportunities to express themselves. Parents should give them respect and due
attention to boost their self esteem and self confidence. Children don’t like when parents/elders
thrust their view point and decision on them. This attitude curbs their free thinking, creativity,
independent decision making ability, in other words the spontaneous development of personality
gets hampered. Another important factor affecting relationship is that each member-child or
parents should feel the necessity of fulfilling responsibilities towards one another. Otherwise
things don’t work and there cannot be mutual understanding and comfortable atmosphere in the
family.

. . i
Choose the appropriate option : [a] %
63. The suitable title of the passage is

(A) Good family

(B) Healthy family

(C) Necessities of a better relationship

(D) Making peace

64. If the parents lack to fulfil their responsibilities, they cannot expect the same from their
children

(A) either (B) neither (C) or (D) nor
(49) C
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Mutual interaction and regular communication can make atmosphere in
the family.
(A) needful (B) developing (C) comfortable (D) sad
[=]#%[=]
A number of factors for better relationship. EE%
(A) make (B) need (C) contribute (D) makes
Mutual understanding an important step in building healthy relationship.
(A) have (B) has (C) are (D) 1s
The parents the needs of their children.
(A) are fulfilling (B) fulfil
(C) has fulfilled (D) is fulfilled
It is the imposed decision of the parents that responsible to spoil the
child’s free thinking.
(A) can (B) 1s (C) held (D) would
According to the nature of obstruction, the following are the fricative sounds
(A) p,b,t (B) m,n © frs D) y,d3.J
[=]#% =]
You pay your debts. E:
(A) will (B) can (C) ought to (D) may

The following is not an objective of remedial teaching.

(A) to segregate the students

(B) to prepare suitable assignments including easy to difficult tasks
(C) to prepare items to test the learning that should take place

(D) to highlight the weaknesses of the students

1s an example of cluster-sound.

(A) L (B) sk (C) s (D) k

The correct transcription of ‘soon’ is

(A) /Jun/ (B) /su:n/ (C) /son/ (D) /san/

(1%

The robbers the defenceless travellers. ia:
e =T

(A) setup (B) setupon

(C) setin (D) set out

(50)
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The remedial teaching strategies include

(A) Peer support programme

(B) Reward scheme

(C) Feed back to the students, parents and teachers
(D) All the three

A sonnet is a short poem of lines.
(A) fourteen (B) sixteen (C) thirteen (D) fifteen

is an example of velar sound.

(A) z (B) 0o (©) h D) 1

While working with communicative approach, the Indian students lack
(A) Confidence

(B) Adequate exposure to the target language

(C) Facilities

(D) Audio visual aids

(=] ]

Sticks and stones may break my bones P
EEF

But words can also hurt me.

Stones and sticks break only skin

While words are ghosts that haunt me.

Slant and curved the word sword fall
To pierce and stick inside me.
Bats and bricks may ache through bones

But words can mortify me.

[=]zi[=]

PeifraTe

Pain from words has left its scar [
On mind and heart that’s tender.

Cuts and bruises have now healed;

It’s words that I remember.

80.

81.

H

‘While words are ghosts that haunt me’ the literary device used in this line is ¢
(A) Metaphor (B) Simile
(C) Alliteration (D) Assonance

Identify the literary device used in the line ‘Slant and curved the word sword fall’.

(A) Personification (B) Assonance
(C) Alliteration (D) Rhyme
(51) C
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Identify the literary device used in the line ‘Stones and sticks break only skin’.
(A) Simile (B) Metaphor
(C) Alliteration (D) Rhyme
The correct example of alliteration is
(A) Bats and Bricks (B) Slant and Curved
(C) Cuts and Bruises (D) Mind and Heart
‘The words fall like swords,’ the device used in this line is a
(A) Alliteration (B) Simile
(C) Personification (D) Hyperbole

(=] =]
The rhyming words in the poem are Eﬁi‘%
(A) Tender-Remember -
(B) Fall-Bones
(C) Bones-Skin
(D) Scar-Healed
‘Pain from words has left its scar’ is an example of
(A) Simile (B) Personification
(C) Alliteration (D) Rhyme
Ours is a country of many languages, so is the suitable approach for
teaching of English.
(A) Project approach (B) Communicative approach
(C) Multilingual approach (D) Situational approach

CI%[E

The officer is keenly the murder mystry. éﬁ:;
(A) looking into (B) looking after
(C) looking for (D) looking out

1s a merit of objective type test.

(A) Deeper surface knowledge (B) Answers are short and definite
(C) Short term preparation (D) Descriptive answers
oL
[ don’t think I be able to go there. EEE%
(A) can (B) shall (C) must (D) should

(52)
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(C) [aguddl ydsiini-t 2ueuR [dual®ym i,

(D) [azuell vidi-u [Q=uRl 2% $3.

SISURL al3d sA L Gl AsIE, dl uel wRoum A 20d dl d s 4 Wl
awuy ?

(A)  slga B) [saufuaar  (C) w0 (D) ucqaslla
il el sa slaen 2 assucs © ? g-rf
(A) Auid %A Qs (B) 24 27, 54 o
(C) AR 4 AH (D) su- 21 Qv

‘asfBuld’ aoedl qR-L w2l [Qae DA-umidl sai o9 ?

(A) asn + uBul (B) @& + lduld

(C) «gu + ulauld (D) «gu: + Afauld

Rias g1 il s@an g8-%gl ualBdainl Guaid s34 Add [Qenell2Ai ad-imi
2ddl WRAdHL 4 21adis $2dl € dd 9 seai ?

(A)  Aslld YRS B) [Frulas yeis
(C) alls yeuis (D) Add HeUis
N Y (SN PPN . [P Y EEE
AFHS QUi avid QUL [Qas Aluan 9 sd S ? AT
et

(A) dui ol ed HIS.

(B) swou wlZun u avid s,

(C) «ilur [Qzudl-)l vl s2dl %S4,

(D)  Auinsid W2H adiul didtaer [Ruie sd s,

[Qenelll AMa 2Bl asiuell s w2 Sar us-i wa-tienw-i [QAuaul Guaiol as
as ?

(A) 25 ool usdi (B) ardlAre usdi
(©) [Roitncus us (D) vudl oul

T N e 33 el 3 010
% AHRAUL Ydue 2 Grue QoS- wenudl isia dd sal aua sdaiy ? R
(A) grg AHIA (B) [ uwat )
(C)  dey3y AW (D) Heumusaldl A
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85. DA-uuidl 53 xidRs @a 2uesl weaYdsd ¢ ?

(A) 2usds HuYw (B) swu
() [Anuaxd (D) ax
[=]#[=]
86. 'sul' AbE SAL O ? Ay
s0l' AvE Sdl ¢ H‘%
(A) de™a (B) deud
(C) s (D) ounl3ul

87. N4 udan [Qen-imil sy [@Qan- w1 © ?
(A) Raw- cal 218 i Qg s39 asi.
(B) -y Sdil 35 diul [Rig 53 s,
(C) [afre &dxi s diui g au 9.
(D) Gulsauidl isua «dl.
[=]=3[m]

e

sudal diadl 2R us suis 88 dl 90 - Grr @vil. s

AUA8IR Adlddl 2L WIRS HaAd 5l uS €9, AH U3 val Beules SIHL Sl U3
6. YR HEAd Ul dl 2 USIRL 2101 2L 89, UL USHd-L s1uA 'sell’ sS4, Yo
51, 85 St 2H SEH Gaudl wisd 9, udd i S1HA AL Audl o 52 89, A vl W,

1Y HIZ, USRAL HIZ $USL 2 8l W Hst il 20U €9, VL QIR Wad s A vl

el asad -l vieal we AAgis wsi si1 [l oifgA 2isst [Q-udi sy 2l aendl
6.

[=]#3[=]
NN . . Y 2 F"'F.‘T:.
88. 'siu [A-ul oulgA st [Q-uni Hlsi Bl su1 2y ameryuRs apudl ¢ 7 EEE
(A)  sacus uddl (B) ulRagi-ie vewrwy
(C) Raeis HeR1w (D) uxw auHl H8Iy

89. 'wiRs' AstHl AUAAL U AL
(A) 5 (B) S5
©) 21 (D) ds

90. UG AH U3 Adl Gules Sl W HIS s US ?

(A) @ada8IR daddl We (B) #s1 sa-uiaan e

(C) vien w2 (D) ARL ARL $Usi udal we
C (72)
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SECTION — IV/@uE - IV
MATHEMATICS/ Tiford

There are 30 questions in all in this Section.
All questions are compulsory.

3 @S | A 30 I B |
asft ww Frfe 2 |

91. The length of a rectangular plot is 10 meters more than its breadth. If the cost of fencing
E?E around the plot is X 1,550 at the rate of X 15.50 per meter, then the length of the plot will
EET be

(A) 20 meters (B) 30 meters
(C) 40 meters (D) 10 meters

Teh ITIATRR TS <hl TS, 3Heh! TS ¥ 10 Hiet AT 8 | Ife e o IR 3R o1
T 1 @ 2 15.50 Ufd Hiet i e & 3 1,550 B, d1 W1e shl oFaTs gril

(A) 20HX (B) 30 HX
(C) 40 i (D) 10 HieX
92. Which fraction among %, 1—3 , i—; and % is the largest fraction ? “+‘;EE
19 13
(A) 57 B) 5
17 15
© 19 D) 17
B o L 3 & si-eht forer wodt e for 2 7
1517 19 21
19 13
(A) 77 B) 15
17 15
© 19 D) 17
93. The evaluation process has been displayed triangularly by
(A) I K. Davis (B) Dr. Bloom
(C) Skinner (D) Ross
s S 8 e w4 e 2w e e 2 7 S
(A) 3. . sfem (B) ©f. s
(C) Tep™ (D) @

(73) C



PL-1

94. The average of the cubes of the first five natural numbers is

(A) 40 (B) o4 (C) 45 (D) 50
T i JTehideh ST o A1 1 HEd 8
(A) 40 (B) o4 (C) 45 (D) 50

95. In mid-day meal, at the rate of 150 gm wheat and 100 gm rice per child per day, [EJ#[E]
the total quantity of wheat and rice for 30 days for 60 children is [
(A) 450 kg (B) 180kg (C) 270kg (D) 400 kg
HEATE HiSW | Wid fed fd s 150 T 718 dem 100 T =1ed o 9" 8 60 s=al
e 30 fe7 < forq 78 & =ma 6 Ha 76 @

(A) 450fem  (B) 180 ferm (C) 270 T (D) 400 T

96. The development of recall and recognition is done in which of the following teaching

objectives ?

(A) Analyse (B) Understanding
(C) Synthesize (D) Knowledge
. . (=] [=]
STCATET T STt bt fershrer et 7 & fopmr fvaor ser o fopan s 8 7 AT
(A) Targeryo (B) sy '
(C) HIAYI (D)
97. The numerical form of five crore fifty two lakh twenty one thousand three hundred
five is
(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305
EEE < Y ~ < .
EEW HUE T ARG SFhIE B i El Uig ol 3ThT &Y 8
(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305
98. If each side of the square is reduced to one-third, then the area will be
1 1 1 1
(A) 3 B) 5 © 3 D) ¢
afe ot 6T I o Tk et HW R & S, et & S
1 1 1
(A) 3 B) 5 © 3 D) ¢

C (74)
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L1 1.1
— t—+—+— i
99. The value of 20 30 12 36!
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120
EI-"'EI 1 1 1 1
— +—+—
Eh___'r 20 30 42 567*—[“%
(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120
100. What is the loss percentage when a watch is bought for ¥ 1,260 and sold for
31,197 ?
(A) 4% (B) 5%
©) 7% (D) 10%
T TS I T 1,260 H TS X 1,197 7 o< I W g Sfaera fpam 8 7
(A) 4% B) 5%
©) 7% (D) 10%
101. In the given figure, the value of ZAOD is
[I%LE]
Gf
D¢
(A) 60° (B) 90°
(C) 100° (D) 20°
fo ™ R § 2AOD &1 wH B
[l
mEs
D«
(A) 60° (B) 90°
(C) 100° (D) 20°

(75) C
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The average of four consecutive even numbers is 23. The largest number among E}E@

them is [=]:%x
(A) 26 (B) 24
(C) 20 (D) 18
TR SHHTTT I9 13T 1 39 23 8, 390 T8 S9! 9871 &
(A) 26 (B) 24
(©) 20 (D) 18
The author of the book named Lilavati is
(A) Brahmagupta (B) Bhaskaracharya II
(C) Roger Bacon (D) Galileo
SAeITardt e & o @ &
(A) ST (B) wresh=m Tt
(C) TS Fhd (D) Trefifern
|

In the form of 6 , 1.27 will be equal to

17 11

14 1
P % ®9 T 1.27 SUS BT 7 ar-f

17 11
(A) o B) 1y

14 1
If the cost of four dozen pens is X 120, then how many pens can be purchased for

X357

(A) 10 (B) 12
©) 24 (D) 14

%
3¢ = ot U9 e T 120 8, A X 35 H foa 0 wlie o whd € 7 S
(A) 10 (B) 12
(C) 24 (D) 14
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106. Who among the following developed micro-teaching ?

(A) Burton (B) Crow and Crow
(C) Dwight W. Allen (D) Henry More
R[]
R =1 9 9 forae gew-fgon o1 fom fom 2
(A) &H (B) 3h1 & 3hl
(C) I3 ¢, T (D) &0 AR
107. In how many years, a sum will triple itself at the rate of 10% simple interest per EI‘;':EI
annum ? =155
(A) 20 years (B) 15 years
(C) 10 years (D) 25 years
10% aTfYeh |TEROT SITS Sl g & his &4 fohas ast | oA 71 31 Sem 7
(A) 204 (B) 154
(C) 10= (D) 259
108. The system of presenting data in a systematic form in columns and rows is called
(A) Tabulation (B) Mean
(C) Bar diagram (D) Median
JAThST I TPl 3R Ufeaai o shueg €9 H Teqd hid hl SATET Sl Had @
(A) ERfEE (B) A=HM
(C) TUs IR@ (D) wfesent
th th

109. If 10 part of a pole is in mud, 3 part is in water and the remaining 2 meters is

above the water surface, then the length of a pole will be
(A) 10 meters (B) 15 meters
(C) 30 meters (D) 20 meters

E;El Th @Y Emﬂmaﬁ%@ﬁ = mmqﬁﬁw‘\ﬁﬂznﬁaqﬁfﬁﬁm%w

EL'@,ﬁ@LﬂﬁﬂWlsé’ﬁ
(A) 10HX (B) 15 #iX

(C) 30 (D) 20 HIeX
(77 C
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110. “Although Maths is not a logical branch yet it is logical language.” Who gave this
statement ?

(A) Bertrand Rusell (B) Gauss

(C) Lock (D) Hogven
o0 “‘Irgfy TITG R i Teh Y@ Tl 7, T ot I8 aehqul Wit & |7 I e fohed
B fe 7

(A) 9T WA (B) mH

(C) wi (D) ®BhmaA
111. The ratio of least common multiple and highest common factor of 16 and 36 is

(A) 36:1 (B) 16:1

(C) 1:36 (D) 72:1

[I%LE]

16 3R 36 % TTEqH HHIYEIE o HEwH GHTUSh 1 LI 8

(A) 36:1 B) 16:1

(C) 1:36 (D) 72:1

112. The quality of a test by which a significant difference can be made between brilliant,
weak and backward students is called

(A) Validity (B) Discrimination

(C) Reliability (D) Clearness

TS T 1 98 07 STEeh gRI HTel, HASR a1 TUee gu fomnfi & o= bl €
T g fopaT ST Hoh, haaATdl @

(A) dgar (B) fasrgarrfaa

(C) feorzaerfiar (D) Fasedl

113. By selling a chair for X 1,080, the shopkeeper suffers a loss of 10%. For how much should
he sell this chair so that he gets 10% profit ?

(A) 1,200 B) 1,400

(€) 1,100 (D) % 1,320
5[5 T BT Bl T 1,080 H S T GHRMEN I 10% BT Biell B | 98 36 H&ff I fehe # sl
Bl B 38 10% @ & 7

(A) 1,200 (B) 1,400

(C) 1,100 (D) T1320

C (78)
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If 12 packets of the pencil are priced at 362 rupees 76 paise, then the price of a packet
of pencil is

(A) 30 rupees 23 paise

(B) 33 rupees 30 paise

(C) 23 rupees 30 paise

(D) 13 rupees 23 paise

[=]#5[=]
afe 12 ke et 1 4o 362 79 76 T4 I, A1 Uk Yok UTHS FI g B

(A) 30%9 23 9%
(B) 33 %W 3099
(C) 23 %W 3009
(D) 13%9% 23 9%

In which of the following mathematics teaching methods, the ‘Principle of learning by
doing’ was given importance ?

(A) Demonstration method

(B) Lecture method

(C) Laboratory method

(D) Heuristic method

ot o o v e o vt 35 R’ 1 e o v 7
(A) e fafer

(B) =& fafy

(C) e fafa

(D) wffifees farfy

‘Param mitra ank’ of 5 is

(A) 3 (B) 4
©) 5 (D) 10
5% T T 3% 7 g%

(A) 3 (B) 4
<) 5 (D) 10
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117. By which of the following tests, the learning difficulties and weaknesses of students in
a particular subject can be detected ?
(A) Diagnostic test
(B) Achievement test
(C) Mental ability test
(D) Intelligence Quotient test

w1 | § form aher § foemiit <6 fafvrse fomw fomiy shi stierm swiearsa aun At

Py

] 7% R UdT ORI 1T 9ehdl & 7

(A) TeHTeHEs Thequ
(B) 3uafey adiegor
(C) U= &mar wiao
(D) dfg wfey wdierm
[=]#3[u]
118. If an angle is twice its complementary angle, then the value of that angle will be EI‘E:;
(A) 35° (B) 45°
(€) 60° (D) 90°
FTG Th IV I T IV H1 AT &I, A I8 101 H1 JH BT
(A) 35° (B) 45°
(€) 60° (D) 90°
119. The sum of all prime numbers between 60 and 80 is
(A) 291 (B) 351
(C) 434 (D) 373
60 | 80 sita |efl 31T @A T AN &
(A) 291 (B) 351
(C) 434 (D) 373

120. For the curriculum development, which of the following should be considered as the
center of education ?

(A) School (B) Teacher
(C) Guardian (D) Child

[=]#[=]
T 9 @ formreht forenm <1 S wiTd g wreershu fmiv R =few ¢ A
(A) feramrer (B) e
(C) AfwTEeh (D) T

C (80)
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SECTION -V/@ug -V
ENVIRONMENTAL STUDIES/ UaIiaRuT 3{e9a-

There are 30 questions in all in this Section.
All questions are compulsory.

3 @S | A 30 I B | “E
Tt we e # | o
121. In how many directions faces of lion are present in National Symbol of Ashok’s pillar ?

(A) One (B) Two
(C) Three (D) Four
s forg oremes Ty | fopat feomati d g s q@ € 7
(A) T (B) @
(C) = (D) =R

122. Wild cock is the main wild animal of which Wildlife Sanctuary ?
(A) Sariska — Alwar
(B) Mount Abu — Sirohi
(C) Talchhapper — Churu
(D) Kailadevi — Karauli

£ STl G - TRASe FWINTT 1 TG Sl St 2 7
(A) HRERT - TS

(B) wswe e - R

(C) TSI - o

(D) heATEt — hifet

H
T
f‘#@

123. Where is the Pandupol fair held ?

(A) Jaipur (B) Ajmer
(C) Alwar (D) Pander
(A) ST (B) 3SR
(C) 3R (D) TU

81) C
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124. Which of the following material is most important to be carried by a mountaineer ?
(A) Sleeping bag
(B) Oxygen kit
(C) Blanket
(D) Torch

Ffciad § & - 9l T Jdarial gl o SIHT 968 Heeaoi & 7 g%
(A) T h
(B) 3t fere

(C) e

(D) <=

125. Following traffic sign indicates : [EIZ[=]

o

=T
—
=
=

(A) Narrow bridge ahead
(B) Narrow road ahead
(C) Wider road ahead

(D) Dangerous deep ahead

1405 =) feam T ATarTd <61 Fehd 3T AT @

P

T
——
=
=

(A) 3T T 9o B
(B) M GehUl TET 2
(C) 3T =T T &
(D) AT WAATH TS 3

C 82)
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126. Disease caused by the deficiency of Vitamin — D is
(A) Night blindness
(B) Beri-Beri
(C) Scurvy
(D) Rickets

E
foreti — D 1 ol ¥ A e AR A

(A) i

(B) sO-af

(C) w=heff

(D) frehea

127. In which season Patasan (Jute) is cultivated in India ?

(A) Winter (B) Summer
(C) Rain (D) Spring
WRd § Jee (S[g) T Wl hiA-H 3Bg & ht At 7 ?
(A) @df (B) Tt

(C) i (D) =&

B

128. Who takes the first step on the moon after Neil Armstrong on 21 July, 1969 ? “E+I‘?:';
(A) Yuri Gagarin
(B) Ellen Shepherd
(C) Kalpana Chawla
(D) Edwin Aldrin

[=]

*r;:,, 21 T8, 1969 i et SHELT % STe SwHT T Ugell heH W J1el i o1 7
(A) 7l i

(B) UeH %S

(C) e =Taa

(D) Tefer Tfega

+
=

(83) C



129. Select the festival from the following, which is celebrated on new moon of the Kartika

13

0.

r o]

aF_
i

13

r+

1.

Gy

e

-'I'

i

PL-1

month.

(A) Holi

(B) Diwali

(C) Dussehra

(D) Raksha Bandhan

frfafad o & 39 ®ER 1 FHT, S Hifdes 718 I STHEET S TFR—T €@ 2 “+‘i"§,,
(A) Breft

(B) feareft

(C) <==U

(D) T&TEEH

4Ei

'il

Who named the ‘technology-ecosystem’ of third sub-complex to create artificial

environment ?

(A) Odum (B) Tansley

(C) Haeckel (D) Haber

. W qAteRor (T o T 3TEEd B Wi -uriiedtae 7@ 9 e fem ¢
(A) 3reH (B) =

(C) ket (D) &R

Which activity is punishable under Section 112 — 183 of the ‘Motor Vehicle Act’ ?
(A) An accident or fast driving

(B) Things of an unsafe manner

(C) Using horn in peace (no horn) zone

(D) Driving without a license

‘YT AEThed T’ o FaRH 112 — 183 o d8d hI-H1 Tid{ae 9 eUg <l IEUH & 7
(A) TR gl A1 4 grsfam

(B) awg3fi @l 3mEfea o S

(C) Imf=d (A1 &) &F H &+ 1 JAM

(D) o1 wIrg@@ & M T
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Which is the largest planet of our solar system ?

(A) Uranus (B) Neptune
(C) Jupiter (D) Saturn
[=]#3[u]
EAR W HUST I o 991 U8 HH-A1 8 7 i
(A) 3”0 (B) ==U
(C) sEwald (D) w4
How will you be related to your mother’s brother’s mother ?
(A) Mami (B) Nani
(C) Sister (D) Mausi
Ukl HTATST o WS T /Y A 3AT9eRT T frwar g 7
(A) =t (B) T
(C) ==& (D) Wit

Which of the following tools is the best use in ICT for visually impaired students ?
(A) Text to speech

(B) Projection Screen

(C) Social Networking

(D) Video conferencing

frferfiea & @ -1 3T gfeeatiod SE1 o fou ICT H T8 311 ST 8 7
(A) TFe g Tf=

(B) RN BhA

(C) =T et

(D) difen swi-wifam

Which chemist’s philosophy became famous by the name of ‘Nihilism’ ?
(A) Neils Bore

(B) Dmitri Mendeleev

(C) Acharya Prafull Chand Ray

(D) Nagarjuna

fore TS 1 G SEETE o AW § UiHg g3 7 g‘;ﬁ
(A) Hrem ar

(B) feftrr Heedta

(C) M Ygedt =g

(D) RIS

(85) C
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e

=15
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Which teeth work to tear and chop the food ?
(A) Incisor
(B) Canine
(C) Molar
(D) Post molar
R[]

HIF-H gid A9 I FHA-HISH o &1 3d 8 7 “+-i';:;
(A) heh

(B) &&=

(C) =Eurh

(D) U TEUh

Which is not a traditional method of diverting water to fields from wells, lakes %%E
and canals ? (=153
(A) Pulley

(B) Dhekli

(C) Rahat

(D) Drip system

311, el T Tell % Tt ! Gdl s TgH T HIA-T1 TR Tl T 2 7
(A) e

(B) <t

(C) e

(D) fguw

Which is the State flower of Rajasthan ?
(A) Lotus
(B) Palash
(C) Rohida
(D) Amaltash
TSTEYT T TsF 57 -1 7 7
(A) Hd
(B) dam
(€) Tfest
(D) IHAdE
(86)



139. Match the following and choose the correct answer.
E;,':_'EI (1) Viral disease (a) Tuberculosis
&S (ii) Bacterial disease (b) Malaria
(iii)) Protozoan disease (¢) Kwashiorkor
(iv) Disease due to malnutrition (d) Chicken pox
®H ) G o (v)
A @ @ (© (b)
B) d (@ (b (c)
© © O (@ (d)
D b  (© (@ (a)
P 1 gifere o @on w3 A | G
(i) oE SIfd T (a) dufees '
(ii) Sfraroy STfra T (b) TeAfET
(iii) TSI SA=a T (c) TR

140.

(iv) HHYOT o HROT B FTAT TAT (d) Taed drem
@  aG) G (v)

A) (@ @ (o (b)

B) d (@ (b (c)

<€ © (b (3 (d)

D) b  (© (@ (a)

Which of the following is a good breed of goat ?
(A) Murrah

(B) Gir

(C) Sahiwal

(D) Jamunapari

frfefea & @ SA-H sl i =S A 7 ? gﬁ%

F=
(A) =

(B) fir

(C) wrfgard

(D) ST

37
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142.

b

143.

A 1L

Which objective is not about organising co-curricular activities ?
(A) Maintaining both physical and mental health

(B) To gain knowledge of virtues to be developed in children
(C) Introductory information of required equipment and tools
(D) To criterion educational program and teaching methods

-1 S AT s 3 ST 2 ¢ S
(A) I Td TS Torar SF ! SHTY Tl '
(B) Tctehi ® fashfad g aTet TQEN 1 S 9T hiT
(C) 39k IUHN AT FTEAT <l TR=—ITeHS SR
(D) Sfeger Hrlshy M freor faftrt w1 wEdt W wE

Which alkaloid is not found in the opium ?
(A) Morphine

(B) Codeine

(C) Sominiferine

(D) Caffeine

AEH H HII-HT Ucehal[sg g1 IH&IT ST & 7
(A) TR

(B) HIEH

(C) TMf%iE

(D) FHMA

When did Bachendri Pal set foot on the peak of Mount Everest ?
(A) 23 May, 1984
(B) 25 May, 1984
(C) 23 May, 1989

(D) 25 May, 1989

[=1=[=]
TB4] I I HISUE URE <hl <t T heH e T AT ? il

(A) 23 W%, 1984
(B) 254s, 1984
(C) 234s, 1989
(D) 257g, 1989
(88)
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144. Full form of ENVIS is

(A) Environmental Information System

(B) Environmental Impact Assessment

(C) Environment Protection Agency

(D) Environment Protection Council
[=]#3[m]

3.09..378. 7. 1 U ®9 8 i

(A) TTEfi AT STt

(B) vATaRufiy quTe 3TTehet

(C) TTaToT TReToT TS

(D) TTERET TRV HISTHe

145. Which fort of Rajasthan is also known as Ajaygarh ?
(A) Sonar fort
(B) Kumbhalgarh fort
(C) Mehrangarh fort
(D) Ranthambore fort

]
“'Er* TS % - G Sl 3TSRAIE o W & o =1 31 8 2
T (A) " e
(B) FwarTe g
(C) wetTe fohemt
(D) TR g
146. Which of the following is a component of man made environment ?
(A) Lithosphere (B) Industry
(C) Community (D) Hydrosphere
frfafea & @ -1 AFa i st &1 geh 8 7
(A) TIHEA (B) 3@
(ORELGE (D) SEwSH
147. ‘Yak’ animal is found in which region of India ?
(A) Ladakh (B) Darjeeling
(C) Arunachal Pradesh (D) None of the above
ri[m]
Pt WA o kMW & T IR U w8 7
(A) T (B) arfsifert
(C) TRV T (D) 39Fd | & HI3 T

89) C
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148. Which teaching material is used to correct the language related errors in students ?

(A) Museum (B) Map
(C) Phonograph (D) Line diagram
R[]

P Shi-T freror Al k1 SwE i <kl W gee ffe gur d fehn wmar @ 7
(A) IR (B) AW
(C) ®FRTH (D) T@i==

149. How many decibel noise has been accepted to be the limit to tolerance in hospital EEE
areas according to International Standards ? (=]
(A) 65dB (B) 90dB
(C) 105dB (D) 140 dB
AU HHehi o TR STEIAT &1 § feha SHieel gat vl wgsfierar &t =i amn
TR 7
(A) 65dB (B) 90dB
(C) 105dB (D) 140 dB

150. It is one of the deepest and largest stepwells in India
(A) Jhalaara of Turji
(B) Chand Stepwell of Abhaneri
(C) Big stepwell of Bhandaro
(D) Stepwell of Panna Meena

57 e w1 e e 3 7 e 68 2
(A) TSI <RI AT
(B) 3mWM{ <t =fe et
(C) el i 5t sl
(D) O HHT hl STeEt
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IMPORTANT INSTRUCTIONS / wgwrqut frier
(Read carefully and comply / &R & U@ 3R UTeiH )

In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
QU 1 (AT1-1) § e 911 o T ol gt AT e & Fore wmen st = areff 3 91 % ®9 4 e teed w H R R

In Section III (Language-1I), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form.
The Language-II will be different from Language-I.

WUg TIT (W1-1T) H S 9T o 31 ol BT Bl ST & 5T Ao ot = sneeff 3 sIi-11 3 9§ SAies 3teed o § fohar & | wmi-1 & smr-11 Rt 2t |
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR
Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.

sreefi giafyem =i i OMR o1 vie # feifta wom w sea-gfemem i i @ P s a8 9 2 | 37U OMR =R 31 i Gedich T9—Jfeieh HHih
IR T ook T9H-gfteent Hilis e Ud e shuTeh o 3MeR wR TR SR |

12.

Read complete instructions carefully and fill the details from SI. No. 1 to 9 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question Booklet. If you fail to fill the details
and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.

it it pof w9 § e 9 3R A 1§ 9 7 OMR TEi e § U6 AT 1 6 4 T Te-qfeas (Fhcie) § faeron &1 W | afg 31 Tera wlek & fewor
W A1 BEATER A & dal OMR 3 sfie 1 ThiT 6 wereaed 84 aTel aiemd o ufd 31w Iwer 2 |

The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the
Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

ToA-GfTR & 96 T8 T 150 A & | 3wt few o ST R Swt & e -gfeaen <1 wfiel @ieh | 98 gifead o foh we-gieaen § 150 T & S R U T 39 e
B 90T & | OMR 31 ¥fie W firde e arvareff 1 Sl fop 731 SrT—oot 3 STgER Sifeh T B 0 S SeA-gfrht o St T o oft sifeha ferm gam 2 1

All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for
Wwrong answers.

i T FgfaeRetia SRR % € | TS TR 1 T fahed & T 2 | T W o T Tt o U R | et e o forg g e e i S |

There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have
to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/, of the marks for such question will be deducted. If a candidate does not mark
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

I TR | ek S o Te70 uie frehed (A, B, C, D, E) BT foheq Yo7 7 H Wi WA & 9N faehed A, B, C, D& | 31t st 3 =R forehedi & & Tl forehed w1 WA
ST H T et <hl el /I 1 8 | T SR T gY 1] o1 siae 1 AN 81 @ | 9Gel BT Fe Tiehr g1 g qe I TTed JH S | 3t sl e
o1 ST TE ST =&l 8, dl IR ofeh oh Uredl fehed E ol Tl et /el <t | Jfe I’ ek § fel 1o uie ferepedi § @ fomet o oft wivem et /et & foRe St &, W
S o T ST 37 1 1/, T Shier ST | A rwreff e AT o6 10 Sfowta & stferen et H ot et § @ i oft faeren JifeRa e 2, @ 39 ST TR SR |
Bubble of correct answer of the question should be darken completely as shown below :

T < Wl 3T o A I A FER I T

Wrong / Tedd ‘Wrong / TTed ‘Wrong / TTed Wrong / Tedd Correct / 9al

XBOO® || O@OO® || ®EOOD0 || @POD® || VBHO@®

All questions other than language questions of Sections II and III shall be bilingual.

YU 3 W TSI @O 11 TS 111 % 991 aft wuet o wvm e g |

In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.

fepelt e & foreft 3fe & ford aneff =it ot srepm <1 Jeper T B | we B araf & woAt § fepelt weRR 1 e T htEmEn SR |

Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.
No additional paper shall be provided.

Toreft e < T R ¥ FeH-YfETRT o 3 H SR & T B | 38 WeA-ufSaent § e Wi | Rt wehr ot srforfier et Sucrey e shtamn S |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use
will result in disqualification.

W 9, hoageret, TES ¥, HEd B, TR, fefent Smll, =gy, ATsshiti a1 fortt 371 SRR 1 SoTarfToh o/ SoRTUT ShT ST aIfSid & | $75h STNT W e
T IR A R ST ekt |

OMR Answer Sheet will be provided along with Question Booklet separately.

eF-gfeqent % @1 OMR 31 ¥fie wer &1 S |

The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately
inform the Invigilator and get it replaced within 5 minutes by the Invigilator.

Feff ol e -gfereRt e e g9 % 10 fide qd & St | sneff savEes €9 & OMR SRR Sfie § Tt wfafeedi w1 @t weer & W | wea-gfeae i dia wlam
e % 5 e qd Eied qun Y- ufSaen % ShE T 1 F 4 R iafsedt s wE wehR & W | S -gfeeht Wie o garq sneff doket I gfvea w e e fuita
T S 2/ T eI AN T 2/BE P 2/F el A G & AT B TS QAN S T 7 | A eA-Yfeent F 36 Wb H HrE Ffe ar St B A dcbrer derep b
gfea {7 5 fire & i ferek & o1 A -gfdeR SeEen o |

Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the
Question Booklet as well as in the OMR Answer Sheet.

JoT-GfEeR T8 OMR 3T e W P wom w am, gdan e &l wie, s&er, Id ., T-yfqew @i #ig, e s va Jea-gfee s ®w |

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make
evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.

OMR 31T e %l PR GRT TR o T2l S 712 7 | 3fe 319 Iwded w6 OMR 3T 3fie & frsdt ges w e m fdei o1 arem 6 &, @ reget gr
SATTHT YT hid & ST | 36 T & 752 i €4 aret ToheH ht iR soeht o <t &nft |

Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination. No candidate should leave the examination hall before
the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the Invigilator before
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.

witer TSy & 5 fime @ SaeH 5 a9t wa st awe S wlan ity o sortt | g sreff sfm g soe % i wdan we § STet T8 1 T | OMR
IR ¥fte e Wed qen srafafy wied & 3o sl O ke fham g3 & | srvefl wmeant & sremeff i wia (safaty) & o wfa @ srem woarts e
off 7% & g wfa 1 8 BT T UgT | wlen wa Bied % qd waeff OMR #i qat it vd seA-gfeqen ek w Gig § | srvaeft hae sttt OMR R ufa @ s
Y TR | T -feereht 1o sToe T TE o S weh |
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B PAPER CODE : PL-1 (SHIFT —1) | Question Booklet No.

Series Code :

Write this code in OMR Answer Sheet.

39 IS I OMR 3 3fe § 3iferd &L |
1. Roll No./ T F. 2. OMR Answer Sheet No./ 311.TH.3TR. 3= 3fe shHTh
* 3, Candidate’s Name/ 315eff &1 180 * 4, 79 gs3 w1 W e m |t fde 6 ue forn 2

Candidate’s Signature/ 31%eff & BERT
* As per Application Form./ 9T e U § 3Afhd TR B |

Invigilators’ Signature/ (1) (i1)

Sierhi < EaTa

S.No. 1,2, 3 and 4 are to be filled by the Candidate himself. No. of Pages in Question Booklet /
A 1,2,39 461 qid T arwrefl gr o o R T giEdehl § $A T3 : 96

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following five Sections : Section — I,
IL, 11, IV and V of 30 — 30 questions each. The candidate has to attempt all Sections. Each question is of one mark. No marks will be deducted
for wrong answers. For unattempted questions kindly see Point Number 4 of important instructions given on last page.

3 Y- § FA 150 TS e Y & | - ol Ui @uel H faaiforg § qen wefi @ug e Aee 7 | S @vs-1 I 111,
IV @1 VH 30— 30 999 & qer T 1 37k 1 B | TTd 3T h o1l SIS 376k hIC el ST | ST ST oh Tyl H gfeceht o 3ifaw
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Total Questions : 150 Time Period : 2.30 Hours Maximum Marks : 150
Sections Contents No. f)f Question Nos. Page Nos.
Questions From To From To
@ Child Development and Pedagogy 30 1 30 3 12
an Language-I (Only One Language)
As selected by the candidate as medium of instruction in the 30 31 60

Online Application Form as Language-I from the Languages
given below :

Hindi 30 31 60 13 18
English 30 31 60 19 22
Sanskrit 30 31 60 23 26
Urdu 30 31 60 27 32
Sindhi 30 31 60 33 36
Punjabi 30 31 60 37 40
Gujarati 30 31 60 41 44

Language-11 (Only One Language)
As selected by the candidate as Langauge-II (other than the 30 61 90

() Language-I) in the Online Application Form from the Languages
given below :
Hindi 30 61 90 45 48
English 30 61 90 49 52
Sanskrit 30 61 90 53 56
Urdu 30 61 90 57 60
Sindhi 30 61 90 61 64
Punjabi 30 61 90 65 68
Gujarati 30 61 90 69 72
(IV) Mathematics 30 91 120 73 80
(\%) Environmental Studies 30 121 150 81 90

Note : In Sections II and III, a candidate has to attempt the questions of Languages compulsorily, selected as Language-I and Language-II in
the Online Application Form. For Hindi version of the above Table and Note refer to Page No. 2

|Read the instructions in English and Hindi at Page No. 96, last page of this Question Booklet.
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SECTION -1
CLC |
CHILD DEVELOPMENT AND PEDAGOGY
e faera ua e it

There are 30 questions in all in this Section.
All questions are compulsory.

39 @S H 3l 30 T 7 |
aft yoa SAfEr € |

What indicates difficulty in understanding or remembering what was read ? E[E“'» :

[=]; EJ
i

(A) Forgetting the book title

(B) Inability to recall basic facts from reading

(C) Reading with high fluency but low comprehension

(D) Excessive note-taking

U T TS Sl FHS AT ATE i T HiSATS bl Hohd FAT & 7
(A) & I F6F YT T

(B) Ue T UIS ¥ A I I Alg W& | rTdan

(C) 3=9 JATE o 1Y UGHT Afehd HH THFHT

(D) AU Fied SHMT

What does the “Comprehensive” aspect of continuous and comprehensive evaluation

focus on ?

(A) Only academic subjects
(B) Holistic development, including cognitive, physical and socio-emotional aspects
(C) Focusing solely on co-curricular activities

(D) Limiting evaluation to classroom activities
(=] [=)

Fed Td A9 Yedieh o JTid AU’ Uge] hl J&I BIhd o1 8 7 [ojlis
(A) haa Reaforeh foe
(B) @y foepmd, frem gxmrenes, Smiftes 3R armTiore - reHTeqes T8e] i 8
(C) ot Tg-Jeqires Tl W eI g e
(D) HcAThd ohi el shi TIAITET Toh HHE ST
3) D
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Which theory emphasizes the influence of environmental contexts on private speech ?
(A) Vygotsky’s theory

(B) Piaget’s theory

(C) Both theories equally

(D) Neither theory

FH-a1 forgrd Fsit 9o w waferfia dewl o TuTE i Hged od1 @ 7
(A) dTgicwsh! 1 fagra

B) T =1 fagra

(C) Tl fagra Tum &9 9

(D) 18 o fagra =

What term did Bandura use to describe learning through observing other’s behaviour ?
(A) Direct learning

(B) Experiential learning

(C) Vicarious learning

(D) Cognitive learning

SGU - G % SIAEN 1 AT Hich HIGH I FAT T el ? IEI'FL
(A) weI& Afm

(B) 3Has AT

(C) TYHM= AfeRm

(D) EAETCHS TR

Which of the following is a characteristic of a backward child ?

(A) Above average educational achievement

(B) Higher intellectual capabilities than peers

(C) Below average mental and educational age compared to peers
(D) Strong language skill H4E
Fresfrr # & e o o3 w1 fadre 2 7 200

(A) 3THd T W i et Iqafey

(B) UHaIEh 1 A 3=9 sifgeh AHATY

(C) 3ftad aHfaes 3R et 1y auases =t @ =

(D) WTST hisret shi Fqorar

“)
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What is the primary focus of “child-centered pedagogy’ as per NCF — 2005 ?
(A) Memorization of textbook content

(B) Giving importance to children’s experience, voices and active participation
(C) Strict adherence to traditional methods

(D) Encouraging competition among students

NCF — 2005 % JIJER ‘‘STei-higd e’ &1 4T wihd F1 8 7
(A) UTSIgEae shi AT i ATG HET

(B) &=l & Ial, STar 3R Afshar yrfierd i mged o

(C) URuith fafert o1 Tt o uTe e

(D) BT % o= gfcrert ot g ¢

In Hull’s formula for effective reaction potential, which symbol represents Q%E“i
reaction inhibition ? P

(A) sHr (B) D (C) V (D) Ir
& & et gfdfskan durerar g3 § wfafsean fue o1 wdies = 8 7
(A) sHr (B) D C) V (D) Ir

What is a key emotional challenge for disadvantaged children ?
(A) Inferiority complex and negativity (B) Overconfidence
(C) Hyperactivity (D) Foresightedness

JATI=Id el & ot q&a WieHTeHs THid! 1 8 ?
(A) EFar Uty 3R THReHhdr (B) 3Afd-3ATcataamd
(C) 3Tcafereh gfsharn (D) &R

What does the NCERT’s document ‘““learning outcomes at elementary stage” state about
purpose of learning outcomes ?

(A) To promote uniform teaching methods across schools

(B) To prioritize rote memorization of concepts

(C) To ensure that students achieve age appropriate competencies

(D) To focus exclusively on theoretical knowledge

.5 3. AR, & s CURITS TR W e % Siaed’’ Hed & Ifaedl & 3w
% R § o1 hEd1 B ?

(A) Terrert o v wmm freror fafern st srgran e

(B) STEURONSTT I Te- <l FaRT ol STATHRAT T

(C) ¥g gHfaa e foh B 319 I G&AaT3Tl il UTed ohi

(D) I AgTf=deh T T M hirgd BT

®) D
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What is the correct explanation of ‘individual differences’ in psychology ?

(A) Variations or deviations among individuals in regards to a single or multiple
characteristics

(B) The resemblance among people of the same species

(C) Similarities in emotional responses among individuals

(D) Similarities in thoughts and behaviors among individuals

(=17 =
mifasa 4 ‘safeama fafi=ast’” <6 g8 S w=n g ? é‘pj}

(A) ST T Tohed A1 3k foranadi & gy d fafaeand = famem
(B) T & YS! & <Nl o sfie FHAT
(C) A B ATaTcTeh JifshaTsTi § o

(D) =afdaat o Tl 3R S¥eEri § gHMdT

Which mathematical model is used to describe the relationship between heredity and
environment ?

(A) Addition (B) Subtraction

(C) Division (D) Multiplication

STARTRAT 3R TATSROT o T T GUH B o ol HIA-F1 T Aiga 39T fobam
a1 8 7

(A) e (B) ==

(C) wm (D) Tom

What does the “basic potential and capability” of the learner include ?
(A) Mastery over the subject matter

(B) Readiness and will power

(C) The inherent abilities and skills of the learner

(D) Adjustments with the teacher

JIRATHeRAT <hl “HEAVA SHAT 3R Jrear’ § a1 ;Wivd 8 7 e

SIS
(A) TI9I W U TR
(B) Al 3T SR
(C) Twremeff i safifea emand 3 wiwe
(D) et o @1y wEESH

(6)



13.

14.

15.

PL-1

What is the formula for calculating Educational Quotient (EQ) according to Burt ?

(A) CA+EAx100 (B) EA+CAx 100
(C) CA+EA (D) EA+CA

O 0
¢ o FTEAR Afereh wfed (EQ) <hl TUMHT ol I AT 8 7 [t
(A) CA+EAx100 (B) EA+CAx 100
(C) CA+EA (D) EA+CA

Which is the primary factor in shaping behavior according to behaviorists learning
theories of motivation ?
(A) Instinct (B) Social interactions

(C) Reinforcement (D) Cognitive skills

AT o STTERATE! AR fagri TR SEER hl JHR ¢ qTell
YOE R HH-TT 8 7

(A) yahEt (B) @I 37d:fsha

(C) YseH (D) HHTH I

What is the main difference between growth and development ?

(A) Growth refers to quantitative changes, while development includes both
quantitative and qualitative changes

(B) Growth is related to mental development only

(C) Development stops at maturity

(D) Growth and development are completely unrelated

;. ghg 3R foed o o9 g&7 ST T8 7

(A) Jfg AmTeH TG Sl G HLAT 8, Talh [oohIE AATCH 3T UM G
afterd= =1 wifiret a2

(B) dfg e MY foshra @ ald 8

(C) Tererr uftugrardt W % ATaT B

(D) Ffhg 3R forehrE Tia: srEafad 8

) D
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16. Which type of imagination is classified under pragmatic imagination of James Drever ?

(A) Practical and Theoretical (B) Aesthetic and Fantastic
(C) Artistic and Creative (D) Constructive and Creative
g%% ST G o STFER TNUMHATE] heddT Sl fh8 YR i Theaql § sfieha fopdl a1 & 7
T (A) SAEETE AR Agiiae (B) Higatcaes 3T 3G
(C) haTcH 3R TS (D) HTEHATCH 3R o1

17. What type of adjustment mechanism attributes frustration to external sources ?

(A) Extrapunitive (B) Intropunitive
(C) Compensatory (D) Sublimation
N N . - . (=14 [=]
HI-H1 THRISH a3 ZdT90 sl 9184 Fidi 9 &9dr @ ? 1:;-'.‘
. [=Irds
(A) SfECusTHs (B) 3Td:cUeTeHe
(C) wfage (D) erieRTor
18. According to Maslow’s hierarchy of needs, what is at the top of the hierarchy ?
(A) Safety needs (B) Physiological needs
(C) Self-actualization (D) Self-esteem needs

el <hl SATIYTehdl YEIshH o IUR, UeTshy o IS W &1 BT 8 7
(A) &I SATE9Thard (B) TRk Frrerggerard
(C) 3TcH HT&ITeehR (D) ITH-TFTE Sl SATATIHATT

19. What does ‘monitoring’ involve in metacognitive skills ?
(A) Deciding how much time to give to a task
(B) Asking questions like “Is this making sense ?”
(C) Completing tasks without feedback
(D) Ignoring the task’s difficulty

T st S % s e § e 2 2
TN (A) Tt R @ R T 3 R TR ol o
(B) WY BT 8 RN AT NS T @R 7

(C) wffshan o fomm Rl g e

(D) I 1 HISTS Sl SHCET HEAT

D @®)
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How does Gardner suggest Schools should implement the theory of multiple I;I:ilﬂ
intelligences ? O
(A) Focus solely on linguistic and logical mathematical intelligence
(B) Train teachers to present lessons using diverse methods like art, music and

role play
(C) Standardize IQ testing to identify intelligence types

(D) Limit the teaching methods to traditional classroom approaches

MER & AR T5g4 g 1 foareat § fra yehR am] e =nfae 7

(A) <hael WTNTS 3R ATfeheh TIUTCTT FfgHAT T €I Hleh

(B) Torereni =i s, wifta 3R fHehr-31hima w9 fafay aliehi 1 3T ek 918
TgH W foru wfufard ek

(C) FfgHTT TR h! Tga™ & o 1Q TiETT sl HHehIhd Hish

(D) Toreqor faftrrt o6t urufies e & gfeeshiv aek wifirg ek

B.F. Skinner emphasized between measurable behavior and Q%E
stimuli to explain learning. e
(A) Fundamental analysis (B) Functional analysis
(C) Basic analysis (D) Language analysis

oft. . THAT T 371 <kl ARSI o TAU A SIagR ae 38Ukl o o=
a1 fean g |

(A) SmEreg fergeror (B) ek fergeiyor

(C) wavg Toweryor (D) T fergeryoT

Which of the following is not included in the Guilford’s three basic parameters of the
structure of human intelligence ?

(A) Specific factors (B) Contents

(C) Products (D) Operations

Ffiad § & -1 AR o AHd gig i 981 o dF gHAE queeEt § e
T’ 7
(A) Ty Tes (B) fowa awg
(C) 3curg (D) H=IeH
&) D
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What does the RTE Act state about teacher responsibilities for assessing students learning ?

(A) Assess the learning ability of each child and provide additional instructions as
needed

(B) Focus only on completing the curriculum without assessing students abilities

(C) Conduct assessments only at the end of the academic year

(D) Limit interaction with students to classroom teaching

IRAE. fafrm Bl o dieH o qearhd o fou fieesi 6 rwerfet 6 o) & @0

FEdl 8 7

(A) TIH T i TG i GHAT T AT bl I STTTLIHRAT o SFTIR TR
[RERI

(B) B FHATS! Sl oAk [hU foHT shadl ITSshH TU i T LM hirgd

(C) <haet &AM a9 o 37T H oo i

(D) BT o 1Y Sra=id =l Hal e a6 Hifna @

What is the primary feature of “Action Research” ? Q%E
(A) Itis adynamic process (=r
(B) It is a theoretical process

(C) TItavoids problem solving approaches

(D) TItrelies solely on self-evaluation

“fopaTcaeh IEYM’ <t e fersivar w7 7
(A) 98 T TIeiiet Sisham &

(B) ¥ T dgifreh ufskam 2

(C) 98 THET THIYM gfSCehlvl § S=dl &
(D) I hadl T-HeATehd T ¥ S &

Which of the following is not included in the concept of personality ?
(A) Psychophysical system

(B) Dynamic organization

(C) Determination of unique adjustment to environment

(D) Static organisation

fedcd shl HehouqT A F=feiRad § & i9-o1 aftrfera 781 2 ?I-Erlrgélf
A) NI N [=]rar:s,
(B) TTcATcHeh A

(C) aTATeR § 3Te FHRISH 1 4R

(D) &R &

(10)



@ PL-1

26. Which ability develops during the pre-operational stage ? I;L"i@
(A) Logical reasoning O
(B) Symbolic thinking
(C) Concrete thinking

(D) Hypothetical thinking

qd -EfshaTcH 3TaedT % S hiH-E awar fashfad gt 2 7
(A) difeheh T

(B) dlehIcHeh i<
(©) wd fo=
(D) U A

=

27. What teaching method is suggested by students with ADHD to help them learn ? E*.IE
(A) Using only verbal instructions o
(B) Providing lengthy assignments
(C) Avoiding use of any visual aids

(D) Using lots of pictures and visual clues

ADHD 91t BT 61 g | Heg o fore sra-an freror qiest ggmn mn g ¢
(A) hadt Hiftges e =1 3T ST

(B) <& 3FETEAHS AT

(C) foreft off oo |l < WM &/ s=T

(D) ¥&d | TEA 3T g3 Hehdl I ITAMT HLAT

28. What is the term for adopting someone else’s behavior or personality traits as one’s own ?

(A) Sublimation
(B) Identification
(C) Projection

(D) Compensation

E:;ﬁ TorEt 311 o SIIgR IT Hfddcd AU bl I gRT 379 hl T had & ?
(A e
(B) UgdA™
(C) 9@
(D) afafd

[§8)) D
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o
Ok

30.

PL-1

According to the principles of development, what does “Cephalocaudal Development”

-
signify 7 et

(A) Development proceeds from the lower body to the head
(B) Development starts from the head and moves toward the feet
(C) Development begins with the limbs and moves inward

(D) Development has no specific directional sequence

foerra = fargr=di & ITER “‘AEdemagEt fas@’” (Cephalocaudal development) 1
F AR 7

(A) Toerma s’k & free feed @ g it 3 sgar 2
(B) foepre iR & 3= Bla1 2 3R 4 i IR el &
(C) Torshr 3T | & BIAT 8 3N 3G hl AR el &
(D) T o1 =13 fafsre feam s 72 g 2

Which one of the following is not a projective test method of personality measurement ?
(A) Word Association Test

(B) Thematic Apperception Test

(C) Rating Scale

(D) Sentence Completion Test

Freffion & 192 T e w1 5 s e faf o @ O
(A) vIsg-FrE=rd e

(B) Tawa-afrenae e

(C) e At

(D) T qfd wdego

(12)
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Qus - 11
qEr-1

et

T @UE H HoA 30 TH B |
avft wo Frfrert § |

31. ‘9T frerur 1 TEY hadl T YGH BT & I JGH BT 0T &1, Sfcsn 9T HieH
arel Wl 37 AR fafay el ¥ g&1 SHET 85 9 FAA1, e Uedn 3R forar |

of1o
ITfer I € TS B Ok
(A) Tae ATEl gl
(B) 9™ g

(C) TH. . RIS G
(D) Wy foard gra

32. TSN AR H 3 |
I | CT R
TE ST TR T TR B

(A) HCE g (B) =o€
(C) faureds (D) 3T

33. IU=RIcHs e & & ° ffafga 4 9 = gaifas som @ 2 Q'Fﬁ
(A) Ve (B) ehferem
(C) HFRIX (D) Tea-fawares o=

34. ‘amT-foer & fou 3= weH 7
(A) ‘vrT-farerr’ & fofw ‘3nqd | gd’ §F W © |
(B) ‘wraT-firegur’ o foiw ‘Sifedt & wX@r’ o1 STEROT 3TTeweh BT ® |
(C) ‘wr-Toeror’ § ‘e @ T g7 foow w8 2 |
(D) ‘WTT-frEr’ @ue | Ul FH % SMMYR T HTAT AT 2 |
(13) D
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i : Frerferfiae T 2 ST W S -G 35 & 42 7% % S G | E,f
JATRAT AN TSI ohl YTeTehtll HIHeRL 3eh] IUTEHT hid & ; ToIs] U1 hid & U1 He¥ g’ id
8 | 39 W fovard ek afg Fuek ot & fawy &g @ g rfaerifaa 7 gnft | s | 3 9T
Tgad ugft, geat W fa=rer S arer 7, J8T do foh o’ Wt wenl W E iR 7 | quen s
T, A ed IR 3R Farid Wed qieem 1 afe == <@ 2 a1 3119 IR e i ¢iay |
IE T A WIeRL GBI ol REATdl 8, T 7 UEht gl ol o GaT & | 38k FTIIH AN 3h1 FHHAT
1 TE T Thdl B | WA Fueh hl 3M7ehier § @ Uedia &ran & foh wi hIg e gt 2 |
S8 7 g o g@ 3N T gE § g@ i WA 2 Y T 39H 8 SAH-TA1 Bidl 8 3 A gRgal
T AT | I8 98 HAAN B S Bt Wifed I ot A e ge Y § dectF & @ |

35. foeifera § & -4 Tg o A} veg 96’ o TAFETE Ieg & 7 @4?
(A) 3TH, 7Y@, TR, & Ir
(B) e, IR, A, T
(C) 31g, aRgM, Isht, HETA
(D) =USI, shiferg, fowa, forsm

36. ‘YR e § UAT B

(A) WR (B) o™

(C) = (D) W
37. T=fafea # 9 =l e 1 ‘foam’ wee B

(A) S arEt (B) 39 ATt

©) TeEd (D) FerEml .

O[O

38. TS H Y FANA g h1 31 B Bt

(A) IR (B) 3

(C) usH (D) 4

39. frifera 3 @ ‘Sfoaree w91 2
(A) e (B) g4

(€) 9% (D) SerT
D (14)
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40. ‘doecii’ Wse o1 Tl ‘wia-fo=ae’ g
(A) T + (B) ad + o
(C) q: + o (D) q@ + Tl
41. ‘Wﬁmww’am%mww%%%g
(A) R (B) I
(C) wlifera (D) v
42. ONgH e H IgE B
(A) > (B) 9T
(OE) (D) Rt
43. Tordt o gra =g T 910 w1 A9 w1 A foret I W) efafga 5 9 o Se e
(=] [=]
%%ﬁ ‘fom o 2
(A) A+ fom (B) T fa
(C) Tice= fom (D) 3Igw fam
44. ‘9gd TG EAT 31 I JTCHAT i Il o 8
(A) Idl T
(B) el @R
(C) 3t Tafgan & wg i
(D) 3g =t

45.

“gH T TG AfeT o qTed-T&deh TGHT & e -Tarer 8l 7, J=fd qrgd-gedeh 4R

IR o1 %5 s 2 1

felrt

ERREUCRE R
(A) T, TH. TS I (B) et =
(C) ®Iad & (D) TS BIE H

15) D
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47.

48.

49.

50.
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e 1 8 oo™ i we Sielt JE S @

(A) T (B) =oreft

(C) e (D) geret

‘wivee e’ § S % e @ R & o 2 E%,ﬂ

(A) 3F 6 a9 % gl hl

(B) 4 W 599 o a=al &l

(C) 49 799 % a=ai &l

(D) 5% 7 a4 &% ==l Hl

IueAfey wieror hl FR@T U LA FAT Idl T Hehd & 7

(A) Taw-a&q 1 316 favrem

(B) wieg-faerior &1 0o

(C) @& % Hgw I fwmd

(D) S &+t

w%ﬁa@mwﬁaqﬁm%ﬁf
ITfed 9T B faga’ 3

(A) T ug (B) STt o fareht

(C) S (D) féme oyt & 78 =@ &
B IUNH o IR G| I ‘T=UG YUITA! H gl T

(A) Hf o g (B) fSert < gr

(C) =oH % g (D) HISd o gHI

TESS T B TAS qUT UH % IR T 6 Fmfor § ferem wom o srgeor fmen

ST & ?
(A) Hi= HIAHE (B) =R | &
(C) o A (D) @ |

(16)
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52. WTST-T3reqor o fou 3remder !

a:"p'

(=1 [=

(A) Foamor gelt 3fedt it sreRer TE S =R

(B) fernfdfari grar fopw Tu a1 s o Sfera wsniem < sATevEeRar 7@ 8
(C) T sieht o wuEl i g & w1 =TT

(D) TTRI-TZHT W IS €I Tl AT =M

Few : faRaa et & YR W T -gEa 53 ¥ 56 9 o ST WU ¢

980 U U, Ueh AW + 3TohEATd Gl Tl i $heal L TIST 3N TR U1 6 | 36 Wb 38
Teh SATIGIH @IS hl; T 89 AT 38 T ol A T8 AHd & | T U oo, fee aret
Uit o S 7R ST W Wl @S H Tk €I H g8 T ST @ar o | foRE | @t -sret
@IS sl | 39 IY IS W@ &l @1 | FHH A 6 & 6 &1 H b HgM INaa 3T | 98 Th
R &9 T 3R 3 @H & fIU 3 3T S0 | 316 3H IS S @IS B -3 qIeh
1 SRt T oft | TRt T % avard foReft 3 ufd b amfesRn oA | EE

53. TfcRad § @ dea ‘Sga=d H TgEd g ara foshed @ i
(A) wm (B) feram
(C) o (D) W=
54, ‘T Tmy gvErqg Rt 3 ufgd 1 amfaser foam | fou e AR § e’ @
(A) wfay g (B) 3Tm&~ YdehTct
(C) I YTehTdd (D) YT YdehTd
55, v e Ay o 2 T

(A) Torees 9ra g1 = gl
B) Tawm FE WA
(C) foreet = aTet
(D) St Ba 91eT W

17) D



56.

57.

58.

59

e B Yfea €9 H WFd 6 TE 8

(A) g@ (B) 3
(©) & (D) ot
o A A R e S

(A) wrerh (B) Aforet
(C) wardht (D) el

HF-araq & fofe 3fad %A 8

(A) TR H WTeHAT Tt 2 |

(B) HWH-IM=F ¥JA 9 Y&H GHI TR o LR H g Bl & |
(C) WH-am=F dMfeesh ar=F o &9 § fohan <1 ehat 2 |
(D) HH-aT= JaTerRd a1 T W FE=mr & @y g =nfew |
. frferfiaa & & e 2 %’.E
(A) FAT-GUET AT
(B) 3T i zedl ot aren

o [aN aN

. T=fafea & 9 ‘gs-vedy’ 1 3 2
(A) YA o JUTEE

(B) I & THN TG

(C) <3 1 U1 98
(D) foreft-7-foreht T
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32.

33.

34.

PL-1
SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

1=
ey
In CCE, the focus remains on Ol
(A) progress, process and product (B) course, test, performance
(C) time, process, assessment (D) formats, product, record
is a drawback in the implementation of the direct method in teaching of
English.
(A) Use of mother tongue (B) Familiar texts
(C) Lack of facilities (D) Charts
“The doctor has given her a good treatment.’ The passive voice of this sentence is

(A) She was given a good treatment.

(B) She gave the doctor a good treatment.

(C) A good treatment was given to her by the doctor.

(D) A good treatment has been given to her by the doctor.

The use of multimedia aids such as T.V., radio, computer etc. in teaching is also E‘%@
known as approach. (=5
(A) wvisual (B) software

(C) audio (D) hardware

Passage (For Q. Nos.35to 41) :

He began to believe that most of the diseases were caused by bacteria. Many other scientists
also treated bacteria as the enemy of man. They could not be seen but are present everywhere to
cause mischief. Dr. Jenner in England had already discovered vaccination for small-pox. Here
Pasteur was trying to discover a cure for a terrible disease called anthrax. It killed lots of cows
and sheeps in France. He tried to give the cows and sheeps some weak germs of the same disease
to make them safe against disease for the future. It must have seemed a very dangerous idea in
those days. Many scientists were angry about it. __I%Iri,:jEl

OlcK

35. The word opposite in meaning of ‘present’ is

(A) everywhere (B) absent (C) attendance (D) gift
(19) D
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39.

40.
41.

42.
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43.

44.

45.

PL-1

‘danger-dangerous’ is a pair of
(A) noun-adjective (B) noun-pronoun
(C) noun-adverb (D) adjective-noun

The noun form of the word ‘discover’ is
(A) invention (B) discovery (C) discovered (D) invented

The correct spelling is

(A) Mischievus (B) Mischievous

(C) Mischeivous (D) Mischieous

e but are present everywhere......” According to the passage, the underlined ITEI:#?
word means [=lret
(A) sold (B) lost (C) found (D) forgot

‘To act or behave in a certain way towards somebody’ is
(A) treat (B) inject (C) cure (D) vaccinate

One word for ‘illness of body or mind’ is
(A) disease (B) healthy (C) bacteria (D) vaccination

‘When we learn a second language, we tend to filter the universe through the language
already known.’ is a principle of

(A) Using mother tongue (B) Exposure
(C) Habit formation (D) Motivation

One of the features of the portfolio in CCE is

(A) Objective tests

(B) It promotes diversity in the assessment method
(C) Partiality

(D) Record maintenance

The correct word with this symbol () sound is

(A) brother (B) laughter

C) great D) higher

© ¢ (D) hig Ey
‘Reading is a process of sight, sound and scene.’ is quoted by O
(A) P.B. Ballard (B) Dr. West

(C) W.S. Gray (D) Jesperson

20
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Passage (For Q. Nos. 46 to 52) :

The old man sighed and picked up the chisel and the hammer. He loved his work and did not want
to change it for any other work in the world. For days together, the man worked continuously
without taking rest. His one desire was to finish the sculpture which would be his last. He worked
till his hands began to tremble and his shoulders started to ache. His arms grew heavy and his

eyes grew tired. And then he couldn’t see anymore. I_Erl"'iIE
, , Ok
46. ‘Continuously’ is
(A) adverb (B) noun
(C) adjective (D) conjunction

47. The comparative degree of ‘heavy’ is
(A) more heavy (B) most heavy
(C) heavier (D) heaviest

.
48. The sentence that is incorrect due to the use of wrong determiner is EHE

(A) He worked till their hands began to tremble. i
(B) He loved his work.

(C) His arms grew heavy.

(D) The old man sighed and picked up the chisel and the hammer.

49. is that incorrect sentence.
(A) He loved his work.
(B) It would be his last work.
(C) His arms grown heavy.
(D) He worked till hands began to tremble.

=
5

50. Cotton is than wood. Choose the correct adjective. ITEI:F:"
(A) heavier (B) lighter o
(C) heavy (D) light

51. In the phrase ‘... any other work in the world’, the word ‘other’ is
(A) noun (B) subject
(C) object (D) determiner

52. is a noun.
(A) Picked (B) Desired
(C) Chisel (D) Tremble

1) D
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There are tests in education system Erl:iEl
- _-P.r
(A) to fail the learners Ok

(B) to pass the learners
(C) to grade and rank the learners
(D) to detain the learners

The phonetic transcription of the word ‘description’ is

(A) /deskripsAn/ (B) /discroplen/

(C) /dr'skripOn/ (D) /diskrip/n/

The correct passive voice of ‘He draws a sketch everyday.’ is -r:iE
(A) A sketch is drawn everyday. o3
(B) A sketch was drawn everyday.

(C) A sketch is being drawn everyday.

(D) A sketch was being drawn by him everyday.

The Communicative Approach develops
(A) the speech and expression ability
(B) grammar skills

(C) knowledge
(D) wvision of learning

‘Unit of teaching is a word’ is a feature of
(A) direct method

(B) indirect method

(C) grammar cum translation method
(D) communicative approach

‘I am sick.” The correct question tag for this sentence is
(A) Aren’tl? (B) Areyou? (C) AmI? (D) Amyou?

In learning English as L2, the following skill is acquired independently E%%

(A) vocabulary (B) listening

(C) none (D) all

‘They will not help their needy neighbour.” The correct question for the sentence is
(A) What did he do ? (B) Why will the neighbour not help ?
(C) Who will they not help ? (D) What did the neighbour do ?

22
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Qus - 11
HTET T9H - 1
HEFA
31 %W'I?[EI?:H afd |
TS I THIGAT: |
k10
31. TEhaeey smEfEfafy geu: ot sife - @i
(A) UTSATEARIT: (B) ScaeArafy:
(C) TRt (D) THemHfafer:
32, WRAEHY IV-TAERE Ifaasha: faed -
(A) 7,3, 49,4 B) 4,%,9,d
(C) 4,d,d, 1 D) 4,3, L, 9

33, Hd fowar: o9 WER gredT: Hafd | 9 g fagra: waq ?

(A) Toramsfierarn: fagma: (B) THTiarehara: fogra:
(C) STARICHTATIHGTI: (D) THEfg:
(=174 =]

34, SHE T GEIUETET: el o fhad 7 %%‘5;
(A) WTYOH (B) g+
(C) AT (D) <A

35. “fed RN = ;| ggfaaue Reded™ q@d -
(A) frdem (B) el
(C) T, (D) govH,

36. ITHTE GEINUTT geIHSHTg foRrd -
(A) FFIHITH (B) SATehISIETU
(C) TreomE: (D) AHfEm

37. E&hdA ITIAE HEA -

%‘E “fyreTeR ! YeHT =BT AT B |

(A) Torererm™ ured U=ad | (B) Torerered 41 U= |
(C) Tareteh: Uad T=d | (D) faretep uTeq T=rd |

(23) D



38.

39.

PL-1

WIS ISTATT HAISST-ehshAISTEd -
(A) WO, G, 9EUg, 939 (B) 9, WU, U3Tq, o@q
(C) YIYUM, U4, 9@H, 50 (D) aud, 9N, oREay, 93

. e OF:[O)
‘I U’ | 3o e STed e $ed - IEI:FE:?
(A) &1 S 9 | (B) &1 9id: Tuard |
(C) = I Frd | (D) <& S 9= |
40. HEHd HEHAWTTIE stetEn | 3fd arertig o fafimr wefey 7
(A) Tcaeres: (B) THTERfI:
(C) =AM (D) SaTEATad:

frafaRaay smfed mems ufsan gwar: (41-45) T@mem: |

TSI SFTIHEHATSH i Toaptc e forard | quory Isehidieied sgag aftfaafed | 3 wirad:
s faatag Afcmfed | fod It -"TR Ta qUaH S "ieel aad | 37 9§ Wit afeefor
fy af=r | geeRt aftd: udan: af, e ufas gstet: faed | o wfhad sifdeamesr gt
foedt T wald | 31 89 e AT=s i |

41.

42.

43.

4.

45.

“agf it wfeufor iy wf= | sem tErfgaue R Al - g’;ﬁ
(A) TAR-THN: (B) TC-ThR: N
(C) TA-TBN: (D) g eI

“sreror: fagufag afemfea |7 scafom o faemvmeata -

(A) HAfeq (B) EII:

(C) fea (D) fagviegn
“yfqasy’’ I : THE: ?

(A) T (B) TcLEN: (C) I=rRivmE: (D)HEFJ-II?JI'ITJ:
“37 wEd: Wieehl: ATT=si | A S fhaded ifed —%ﬁ

(A) IS (B) Wi

(C) ga: (D) 3

gt 3o Toh foagw 7

(A) gfeasH (B) TgEshieraq

(C) whfagn (D) Syafergq
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TSI Ve Wafd -

(A) wfee: (B) U=

(C) i (D) wwaf:

e IR g S arEfe weie - ?{E

(A) @ R g e | 2

(B) e Ul I e |

(C) <oy ITYUi §q&: 3fed |

(D) iehIq IYUR TF: fE |

“37g B HAM | FRIHE AG-SThR THEdd -

(A) 3718 SR FHEH | (B) 318 %[ @ |

(C) 318 & ity | (D) 378 & AW |
TSTEhISICTY TSl ShISTATTETE foer -

(A) USThISIEH (B) WTYUThIITTY

(C) STavTehiSTIeTy (D) THEhIAY

U VU] U3 g 91 hH: WU & g ¥ gveg: 7 a%%‘
(A) w9 fagraa (B) wfsparara: fagra )
(C) TamaTfareharan: g (D) Tifgererie g

FYIARGaH 3Tafed TR STEhe T (51-55) TEIET: |

THR ThaT: AATaeehdl ddd | fowiwd: sfoemstor gafa: e | aa f& aaameae
TG AHTRSh e T Sianafed ; T8 i W&o = Feed THEsTR | 3Tac g9 I
TS ThaRT: AMEISTEd, Tq TS qE Ud WAAdUEeg Jafd | STYAT Alhd-ATcHehaeHTh T8

FESTSE Tl fagfa 31d Tdredd - @6 wfekd: et 0 || EFE

51.

52.

fej
“fom”’ 3o U & 7

(a) f (B) | € & (D) ™

“qHTERIRY | I oh: |iFd: 7
(A) Ju-mfRr:  (B) <e-@fn (C) TEr-H|f: (D) Ffe-afa:
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60.

“Iafa:” s gistEa -

(A) = (B) o ©) 3 (D) forfa
“helt’” goad o1 fawfed: ¢ EI';F

(A) =t (B) qdrn (C) Tt (D) fgdtn
“‘pfergn Hefd: e o’ e o faersaeg faea -

(A) wEld: (B) Rl

(C) i (D) I
TEHATNUIINTE TEqaHT ToT: o freorepor w8 wrafudisiea 2

(A) quIee wifd (B) fargerumq deor gfy
(C) Fraresd gfd (D) T &4 i

i ot | A -t ofad - S

(A) o frad = | N

(B) o fuadl 3w |

(C) =3 Tt T=m: |

(D) =¥ Ut = |

Tieh B SAGTAEUY IS higel e iy ?

(A) SUIRICHITEY (B) Tiasrevenehireqormy
(C) YHUTTCHR ST (D) THUTHATCHRIITAY
“80” TAT HEAT &R for@d -
(A) Ffifa: (B) 3nfwrfar:
(C) fi: (D) 3T

=
‘ST Rrweisa | ahequeny e SRR Bed - g5
(A) & fawnsay 7 (B) e fawisay ¢
(C) ey fowaisag 7 (D) F7 fawnisay ?
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SECTION - II1

LANGUAGE - 11

ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory. [
T
The remedial teaching strategies include [=lrés
(A) Peer support programme
(B) Reward scheme
(C) Feed back to the students, parents and teachers

(D) All the three

According to the nature of obstruction, the following are the fricative sounds
(A) p,b,t (B) m,n ©) frs D) tf,d3, [

While working with communicative approach, the Indian students lack Q%g
(A) Confidence (=5t
(B) Adequate exposure to the target language

(C) Facilities

(D) Audio visual aids

A sonnet is a short poem of lines.

(A) fourteen (B) sixteen (C) thirteen (D) fifteen

The correct transcription of ‘soon’ is

(A) /un/ (B) /su:n/ (C) /son/ (D) /samn/

The officer is keenly the murder mystry.

(A) looking into (B) looking after

(C) looking for (D) looking out

Ours is a'country of many languages, so is the suitable approach 'r:F;.‘
for teaching of English. at
(A) Project approach (B) Communicative approach

(C) Multilingual approach (D) Situational approach

The following is not an objective of remedial teaching.

(A) to segregate the students

(B) to prepare suitable assignments including easy to difficult tasks
(C) to prepare items to test the learning that should take place

(D) to highlight the weaknesses of the students

(49) D
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69. ‘In the nick of the time’ means

(A) when the time was over (B) when they needed time
(C) just at the right moment (D) just after the accident
70. 1s an example of velar sound.
(A) z (B) 0 (C) h (D) 1
Passage (For Q. Nos. 71 —77) : g‘%@
(=]

For better relationship the first and foremost factor is mutual interaction and regular
communication among the members of a family because through communication only we can
understand each other’s aspirations, expectations, desires, strengths and weaknesses in a better
way. It is essential that parents should spend time with their children. They should give them
freedom and opportunities to express themselves. Parents should give them respect and due
attention to boost their self esteem and self confidence. Children don’t like when parents/elders
thrust their view point and decision on them. This attitude curbs their free thinking, creativity,
independent decision making ability, in other words the spontaneous development of personality
gets hampered. Another important factor affecting relationship is that each member-child or
parents should feel the necessity of fulfilling responsibilities towards one another. Otherwise
things don’t work and there cannot be mutual understanding and comfortable atmosphere in the
family. I;I:ili

O
Choose the appropriate option :

71. The suitable title of the passage is
(A) Good family
(B) Healthy family
(C) Necessities of a better relationship
(D) Making peace

72. The parents the needs of their children.
(A) are fulfilling (B) fulfil
(C) has fulfilled (D) is fulfilled

73. If the parents lack to fulfil their responsibilities, they cannot expect the same — Zzi=»
o Ofk
from their children .
(A) either (B) neither (C) or (D) nor

D (50)
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Mutual interaction and regular communication can make atmosphere in
the family.
(A) needful (B) developing (C) comfortable (D) sad

Mutual understanding an important step in building healthy relationship.
(A) have (B) has (C) are (D) is
It is the imposed decision of the parents that responsible to spoil the
child’s free thinking.
(A) can (B) is (C) held (D) would
1=
A number of factors for better relationship. l}ﬁ}
(A) make (B) need (C) contribute (D) makes

In order to learn a foreign language

(A) One must adopt many approaches judiciously and rationally
(B) One must master many foreign languages

(C) One must select the students

(D) One must be subjective

o
You pay your debts. [=Ir:
(A) will (B) can (C) ought to (D) may

1s an example of cluster-sound.

(A) L (B) sk ©) s (D) k
The robbers the defenceless travellers.
(A) setup (B) setupon
(C) setin (D) set out
1=

is a merit of objective type test. %ﬁlj}
(A) Deeper surface knowledge (B) Answers are short and definite
(C) Short term preparation (D) Descriptive answers
I don’t think I be able to go there.
(A) can (B) shall (C) must (D) should

(D D
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Poem (For Q. Nos. 84 — 90) :

Sticks and stones may break my bones
But words can also hurt me.

Stones and sticks break only skin
While words are ghosts that haunt me.

Slant and curved the word sword fall

To pierce and stick inside me.

Bats and bricks may ache through bones
But words can mortify me.

Pain from words has left its scar
On mind and heart that’s tender.
Cuts and bruises have now healed;

It’s words that I remember. EHI.E
Oty
84. ‘Pain from words has left its scar’ is an example of
(A) Simile (B) Personification
(C) Alliteration (D) Rhyme
85. Identify the literary device used in the line ‘Slant and curved the word sword fall’.
(A) Personification (B) Assonance
(C) Alliteration (D) Rhyme
86. The correct example of alliteration is
(A) Bats and Bricks (B) Slant and Curved
(C) Cuts and Bruises (D) Mind and Heart
87. Identify the literary device used in the line ‘Stones and sticks break only skin’. I'Erlﬁ,‘
(A) Simile (B) Metaphor [=Iret
(C) Alliteration (D) Rhyme
88. ‘The words fall like swords,’ the device used in this line is a
(A) Alliteration (B) Simile
(C) Personification (D) Hyperbole
89. The rhyming words in the poem are
(A) Tender-Remember (B) Fall-Bones
(C) Bones-Skin (D) Scar-Healed
(=] [=]
90. ‘While words are ghosts that haunt me’ the literary device used in this line is %%%
(A) Metaphor (B) Simile B
(C) Alliteration (D) Assonance
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68. aAfEY WTE YeheHd foh hivem 3=ad ?

(A) WTHTUThITEY (B) USTehISIeH
(C) TG (D) SFUThISIeH
69. ‘3N 3fq IR IR ddd
(A) FUS-dIq (B) &wirsaH,
(C) Hvaren ©) W
70. g AT ysaudl’ seaferq fadt fa: A yaf=g 2 i
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SECTION — IV/@uE - IV
MATHEMATICS/ Tiford

There are 30 questions in all in this Section.
All questions are compulsory.

3 @S | A 30 I B |
asft ww Frfe 2 |

th th

If 0 part of a pole is in mud, 3 part is in water and the remaining 2 meters is

above the water surface, then the length of a pole will be
(A) 10 meters (B) 15 meters
(C) 30 meters (D) 20 meters

Th @Y %‘oﬁ&m@%rsjﬁ, % af 97T I e A9 2 HeX It Skl Gdg & IW

g, O T 6 Trarg gl
(A) 10X (B) 15HX
(©) 30X (D) 20 HieX

By which of the following tests, the learning difficulties and weaknesses of students in
a particular subject can be detected ?

(A) Diagnostic test (B) Achievement test

(C) Mental ability test (D) Intelligence Quotient test

= 1 9 forg qheror o foenfla < fofsrse fawa faw i stftrm sicarsat qen sasiaE
ST IdT TTET ST Hehel & 7

(A) TrgmHTeTes Thetor (B) 3vafey wdieror

(C) HHfes erar adieqor (D) gfg afey wleo

In how many years, a sum will triple itself at the rate of 10% simple interest per Q%g
annum ? (=]
(A) 20 years (B) 15 years (C) 10 years (D) 25 years

10% aTfteh |TEROT ST sl € ¥ his &4 fohad asi | oA T[T &1 SITem 7

(A) 2099 (B) 1599 (C) 10=¥ (D) 254
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The evaluation process has been displayed triangularly by

(A) 1. K. Davis (B) Dr. Bloom
(C) Skinner (D) Ross
e e B e E A Rk g el e T R 7 Ei'ﬂ
(A) 3E. . sfom (B) . =M™ o
(C) fepm (D) U=
Who among the following developed micro-teaching ?
(A) Burton (B) Crow and Crow
(C) Dwight W. Allen (D) Henry More
=1 # 9 foren gem-foreror w1 o fomem 2
(A) W& (B) 3l @ 3l
(C) I3 ¢, T (D) &0 AR
‘Param mitra ank’ of 5 is
A) 3 (B) 4
(G (D) 10
51 ‘T 1 3 7
(A) 3 (B) 4
< 5 (D) 10
The system of presenting data in a systematic form in columns and rows is called
(A) Tabulation (B) Mean
(C) Bar diagram (D) Median
o = . . - . S CE | O
JAThe] ol TPl 7R IfFaal | hHag T H T i hl STTLAT i Had & I-ErIIFf.""
(A) HROMRH (B) WeawH
(C) T8 M@ (D) TTfEeht

The numerical form of five crore fifty two lakh twenty one thousand three hundred
five is

(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305
Uie S ST ARG SFhIT B oI Gl Uid 1 37hI &9 8
(A) 52521305 (B) 55221305
(C) 53052125 (D) 52152305
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99. If the cost of four dozen pens is X 120, then how many pens can be purchased for

3352

(A) 10 (B) 12

(C) 24 (D) 14

e R oS 3 G 1207, W35 F e Wm0 S
(A) 10 (B) 12 ol
(©) 24 (D) 14

100. In the given figure, the value of ZAOD is

D<
(A) 60° (B) 90°
(©) 100° (D) 20°
oo i
e fer ™ g § LAOD &1 9 B
D<
(A) 60° (B) 90°
(C) 100° (D) 20°

101. The sum of all prime numbers between 60 and 80 is g%%
My

(A) 291 (B) 351
(C) 434 (D) 373
60T 80 o o= Tt 39T TEATIT 1 I B

(A) 291 (B) 351
(C) 434 (D) 373

(75) D
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If each side of the square is reduced to one-third, then the area will be

1 1
(A) 3 B) 5
1 1
© 3 D) ¢
=1
Ife ot 61 e YT U fogs 1 ) S, a1 e g S L
1 1
(A) 3 B) 3
1 1
© 3 D) ¢

If 12 packets of the pencil are priced at 362 rupees 76 paise, then the price of a packet
of pencil is

(A) 30 rupees 23 paise (B) 33 rupees 30 paise
(C) 23 rupees 30 paise (D) 13 rupees 23 paise
. . (=134 [=]
¢ 12 ke URTa 1 Iod 362 T 76 9 &I, T Teh Uohe U 1 Iod & Tk
O]y
(A) 30%9F 23 9% (B) 33%9% 309%™
(C) 23 %W 3099 (D) 13 %W 2399
The average of the cubes of the first five natural numbers is
(A) 40 (B) 64
(C) 45 (D) 50
T i JTehideh T3 o A1 1 HEd 8
(A) 40 (B) 64
(C) 45 (D) 50

By selling a chair for X 1,080, the shopkeeper suffers a loss of 10%. For how much should
he sell this chair so that he gets 10% profit ?

(A) 1,200 (B) X 1,400

(C) % 1,100 (D) ¥1,320

Tk HHT I T 1,080 H = T GHMGR 1 10% B BIdl 8 | 98 36 HH| hl foha H o<
fop 38 10% @ &1 7

(A) 1,200 (B) 1,400

(C) 1,100 (D) T1,320

(76)
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106. In which of the following mathematics teaching methods, the ‘Principle of learning by
doing’ was given importance ?
(A) Demonstration method
(B) Lecture method
(C) Laboratory method
(D) Heuristic method

ﬁmﬁamw&mﬁmﬁm‘mm@ﬁm’aﬁmﬁmwﬁﬁ
(A) e fafy

(B) =mEam faf

(C) wamTeTTer fafer

(D) wefifeesh fafy

1 1 1 1
— 4+
107. The value of 20 T30 1 36 is

(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120
o111

— 4+

20 30 42 56wm%

(A) 0.152 (B) 1.125 (C) 0.125 (D) 0.120

108. The length of a rectangular plot is 10 meters more than its breadth. If the cost of fencing

El:;éE around the plot is X 1,550 at the rate of X 15.50 per meter, then the length of the plot will
- be
(A) 20 meters (B) 30 meters
(C) 40 meters (D) 10 meters

Teh ITIATHR TATE <hl TFaITS, 3Th! Tiers 4 10 Hiet 31fYres 2 | Ife wie & = 3R 91

(=134 (=]
M 1 @9 T 15.50 Ufd HeX ki e 8 T 1,550 7, @ T hl AFg g2t %%3;
(A) 20HiR (B) 30X

(C) 40HR (D) 10 Hiex
(77) D
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The average of four consecutive even numbers is 23. The largest number among
them is

(A) 26 (B) 24
©) 20 (D) 18
TR SHANTA EH ST 1 3ed 23 8, 398 de8 91 § 1 8 L
(A) 26 (B) 24
(©) 20 (D) 18
The author of the book named Lilavati is
(A) Brahmagupta (B) Bhaskaracharya Il
(C) Roger Bacon (D) Galileo
SHeATadt ITeh & o @ &
(A) SET (B) wTERt=m fgdi
(C) TS Fhd (D) Trefifern
P

In the form of 6 , 1.27 will be equal to

17 11

14 1
P -
) % ®9H 1.27 UK BT

17 11

14 1

The development of recall and recognition is done in which of the following teaching
objectives ?

(A) Analyse (B) Understanding

(C) Synthesize (D) Knowledge

TeITERUT AT TeATiyeT= 1 feepra f @ fopa fremor sevar o fepam Sman & 2
(A) Tergersmn (B) &g

(C) |z (D) ™

(78)
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The ratio of least common multiple and highest common factor of 16 and 36 1s EL"iE

(A) 36:1 (B) 16:1 Ot
©) 1:36 (D) 72:1

16 3 36 TALIH FHIG o HeqH FHTIE 1 T &

(A) 36:1 B) 16: 1

(€) 1:36 D) 72:1

In mid-day meal, at the rate of 150 gm wheat and 100 gm rice per child per day,
the total quantity of wheat and rice for 30 days for 60 children is

(A) 450 kg (B) 180kg (C) 270 kg (D) 400 kg
HeATE WIS H Afd fed afd sTetsh 150 T g deT 100 U =16 o 8 | 60 sl %
e 30 fe7 < foQ 78 9 =mew 1 Fa w2

(A) 450TRmm  (B) 180 fehum (C) 270 femm (D) 400 ferm

“Although Maths is not a logical branch yet it is logical language.” Who gave this
statement ?

(A) Bertrand Rusell (B) Gauss

(C) Lock (D) Hogven

“Irgfy TG kT i Teh Y@ 1 7, T ot I8 aehqul Wit & |7 I8 e fohed
feam 7

(A) W8 WA (B) e

(C) «Th (D) BFTeH

What is the loss percentage when a watch is bought for X 1,260 and sold for El:il,a

31,1972 it
(A) 4% (B) 5%

C) 7% (D) 10%

Teh g€l il T 1,260 1 @iie T 1,197 § 99 T W 7 faqera fham g 2

(A) 4% (B) 5%

C) 7% (D) 10%

(79 D
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For the curriculum development, which of the following should be considered as the
center of education ?

(A) School (B) Teacher

(C) Guardian (D) Child

. (=174 =]
1 1 9 fopeep! 181 1 oheg WA BY TIS=I5RH HHI0T AT AMRY 7 I*jp{‘
(A) forare= (B) foers '
(C) Afu9TEeh (D) ek
13 15 17 19

Which fraction among 5°17°19 and 21 is the largest fraction ?

o 1 SE o 17 SE

)71 ® 1 © 19 ®) 17

13 15 17 19 «

—, =, —H¥en-d g e o= 7 ¢

1517 19 21

o NSE o 7 SE

()21 ()15 ()19 ()17
The quality of a test by which a significant difference can be made between brilliant,

weak and backward students is called
(A) Validity (B) Discrimination
(C) Reliability (D) Clearness

Tk G0 I g 0T ek g Hrell, SR qe fuss g foeniiE o s wrh €
T e fRaT ST 6, HEdTd 2

(A) dgar (B) Tasigeritar

(C) foraraHiaar (D) Easeal

If an angle is twice its complementary angle, then the value of that angle will be
(A) 35° (B) 45°

(C) 60° (D) 90°

F¢ T HITT 31T T 101 1 AT &1, q1 38 101 61 HH BT %%%

(A) 35° (B) 45° :

(C) 60° (D) 90°

(80)
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SECTION -V/@ig-V
ENVIRONMENTAL STUDIES/ UaiaRut 31&=a-
There are 30 questions in all in this Section.

All questions are compulsory.

3 @S | A 30 I B |
Tt wo Srfrer # |

When did Bachendri Pal set foot on the peak of Mount Everest ?
(A) 23 May, 1984
(B) 25 May, 1984
(C) 23 May, 1989
(D) 25 May, 1989

T2l UT o HISUE T <hl =Tl U heH she TET AT 7
(A) 23T, 1984
(B) 25T, 1984
(C) 2378, 1989
(D) 254, 1989

Which objective is not about organising co-curricular activities ? EI%%;
(A) Maintaining both physical and mental health

(B) To gain knowledge of virtues to be developed in children

(C) Introductory information of required equipment and tools

(D) To criterion educational program and teaching methods

HIH-TT IeTT UTST-FTH Tttt o STIISH 1 el 3 ?EHE'
(A) T Td A Tl gHl Sl ST W]

(B) Tctehi | foehfed B aTet FQUN T ST TS hiT

(C) 3TTa¥Ish IYHN YT FIEAT <l TR SR

(D) Sifere wrishA 3R freror faferit =t wEld | we

t2Y
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123. Which of the following is a good breed of goat ?

(A) Murrah (B) Gir

(C) Sahiwal (D) Jamunapari
ffefaa # @ wH- 9w 1 3Dt T B 2

(A) T ®) fir

(C) wfeara (D) AT

124. Who named the ‘technology-ecosystem’ of third sub-complex to create artificial
EI%EI . o

Tz environment

[=]rd':

(A) Odum (B) Tansley
(C) Haeckel (D) Haber
HEM FAreRy (T i o Ao 398 i aifeh-driiefas @ W fre fea ?
(A) 3AsH (B) ¢t
(C) T (D) &
125. Which of the following tools is the best use in ICT for visually impaired students ?
(A) Text to speech (B) Projection Screen
(C) Social Networking (D) Video conferencing
%’-‘E frfIied § ¥ -1 3TVl GieeaTad S o 00 [CT H Fed 3791 ST & 7
(A e g e (B) e GhH
(C) HISTA et (D) <ifear shi-mife

126. Which chemist’s philosophy became famous by the name of ‘Nihilism” ? Q%E
(=] rat:
(A) Neils Bore (B) Dmitri Mendeleev

(C) Acharya Prafull Chand Ray (D) Nagarjuna

fore RS 1 GF SEETE o AW § THG g3 ?
(A) Hreg a1 (B) fefim dgetia
(C) = Tped =g X (D) ST

D (82)
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“Yak’ animal is found in which region of India ?
(A) Ladakh (B) Darjeeling
(C) Arunachal Pradesh (D) None of the above

IRd o HH-8 & H e’ 93] I=T 01 8 7

(A) <R (B) grftferm

(C) 3TEUT= A Y& (D) 39 H ¥ HIE Tl
Which is the State flower of Rajasthan ?

(A) Lotus (B) Palash

(C) Rohida (D) Amaltash

TS T TST 59 hIA-T1 8 ?

(A) A (B) a1
(C) ufest (D) SFHITE
Which teeth work to tear and chop the food ?
(A) Incisor (B) Canine
(C) Molar (D) Post molar
- GId WIS I FRA-FIS o HMH A & 7
(A) F=T (B) T
(C) =dueh (D) Uvd IdUTh
EIHE
Which fort of Rajasthan is also known as Ajaygarh ? Eﬂ;}
(A) Sonar fort (B) Kumbhalgarh fort
(C) Mehrangarh fort (D) Ranthambore fort
TS % hIH-H G ol 3SATE o AT § Wl 1 ST & 7
(A) MR fpen (B) Fwerg g
(C) HETTG ferett (D) TR g

(83) D
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131. Which of the following is a component of man made environment ? Q%E‘.i
[=]r:
(A) Lithosphere (B) Industry

(C) Community (D) Hydrosphere

frefeifigd § @ s-a1 gme i watew = gew g 7
(A) TUeHed (B) 3@

(C) dH<™ (D) SieHEd

132. In which season Patasan (Jute) is cultivated in India ?
(A) Winter (B) Summer

(C) Rain (D) Spring

YRA ® 928 (S[2) s Gt - Hg 7 H A B 7

(A) @ (B)

(C) (D) &d
13_'3. How many decibel noise has been accepted to be the limit to tolerance in hospital areas
E:F;E according to International Standards ?

(A) 65dB (B) 90dB

(C) 105 dB (D) 140 dB

OISR WehI o IR ITEIATE &A1 § foha SEHISA & I AgA=iictdl shi ST HHT

(=17 =]
TR 7 Feiis
(A) 65dB (B) 90 dB
(C) 105dB (D) 140 dB

D (84)
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134. Match the following and choose the correct answer.

(1) Viral disease

(i) Bacterial disease

(ii1)) Protozoan disease

(iv) Disease due to malnutrition

(iii)
()
(b)
(a)
(d)

(iv)
(b)
(c)
(d)
(a)

(a) Tuberculosis
(b) Malaria

(¢) Kwashiorkor
(d) Chicken pox

frferftaa =1 gafera i aen ad St =1 =20 Il |

g%:g @ (i)
A) @ @
B) @ (a
©) (© (b
D) ) (o)
(i) arE SfHa
(ii) Sffamy SAfa T

(iii) SIS SA=a T

(iv) U e HROT EH AT T

%%g (i)
(A) (@)
B)
©) (©
(D) (b)

135. Where is the Pandupol fair held ?

(A) Jaipur
(C) Alwar

UTgUI WAl el aIal 8 ?

(A) ST
(C) 3R

(i)
(d)
(a)
(b)
(©)

(iii)
(©)
(b)
(a)
(d)

(iv)
(b)
(©)
(d)
(a)

(a) ddfech
(b) TR
(c) TR
(d) Teera T

(B) Ajmer
(D) Pander
(=14 [=]
i
(B) 3T
(D) U
(85) D
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136. Which is not a traditional method of diverting water to fields from wells, lakes and

canals ?
(A) Pulley (B) Dhekli
(C) Rahat (D) Drip system
E‘Fﬁ 37, Fficil @ Tal % Tt I Al % TG B HIA-TT TRENS TR T2l 2 7
(A) Hie (B) @it
(€) w®e (D) fgu =

137. Which of the following material is most important to be carried by a mountaineer ?

(A) Sleeping bag (B) Oxygen kit
(C) Blanket (D) Torch
Ffctiad § & - 9l T Jdarial gl o SIHT 968 Heeaoi & 7
(A) AT o (B) 3fesH fohe
(C) e (D) 2fd
138. In how many directions faces of lion are present in National Symbol of Ashok’s pillar ?
(A) One (B) Two
(C) Three (D) Four
g fors it e B et fenatt § fire % gw § 7 gig
(A) T ®) 2 ‘
(€) = (D) =R
139. It is one of the deepest and largest stepwells in India
(A) Jhalaara of Turji (B) Chand Stepwell of Abhaneri
(C) Big stepwell of Bhandaro (D) Stepwell of Panna Meena
'734'? Ig YA 6! gag Tl o 9 dEredi § § U 8
2 (A) T = 3merm (B) w1 9fg arad
(C) Werl I 5l et (D) W= HHT T sreret

D (86)
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140. Wild cock is the main wild animal of which Wildlife Sanctuary ? Q%‘I?‘
(A) Sariska — Alwar [l
(B) Mount Abu — Sirohi
(C) Talchhapper — Churu
(D) Kailadevi — Karauli

ST G -8 FISld STHIRO 1 Y@ el a7 7
(A) HIERT - 3T

(B) TR 379 - fawE
(C) dqrIsm™ - <%

(D) <haredt - et
141. Which alkaloid is not found in the opium ?
(A) Morphine (B) Codeine
(C) Sominiferine (D) Caffeine
g'%% W T H-T1 Yeohellse T&l =T @1 3 7
BIES T (A) mih (B) HIEH
(C) wmiBi (D) FHH

142. Full form of ENVIS is
(A) Environmental Information System
(B) Environmental Impact Assessment
(C) Environment Protection Agency

(D) Environment Protection Council

[=IAE
st o w ol ww R g
(A) vaTaRef™ g=aT yomet
(B) TGl guTE 3Thet
(C) TTaRoT TRETOT TS
(D) UITeRUT TV H13fae

(87) D
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143. Following traffic sign indicates : EHE

Oh%y

—
=
—

=

(A) Narrow bridge ahead
(B) Narrow road ahead
(C) Wider road ahead

(D) Dangerous deep ahead

i fean T AT W Hehd ST AT R Eﬂg

/N

=
—
—

=7

(A) 3 HHU I 8
(B) M WYl TET 2
(C) AT =gl Tl &
(D) AT TS TETS 8

144. Who takes the first step on the moon after Neil Armstrong on 21 July, 1969 ? jmﬂm

(A) Yuri Gagarin (B) Ellen Shepherd (et
(C) Kalpana Chawla (D) Edwin Aldrin

21 S8, 1969 @l et JMHEE o S T5HT T TEeT SHeH TG Tl i AT 7

(A) F{ e (B) TeH %S

(C) HeudAT Freell (D) Tsfaa ufega

D (88)
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Disease caused by the deficiency of Vitamin — D is

(A) Night blindness (B) Beri-Beri

(C) Scurvy (D) Rickets

faerfim — D <t =it & g9 aren U B

(A) Tl (B) -t

(C) Tondf (D) TeheE

How will you be related to your mother’s brother’s mother ? I-Erl:ilf

(A) Mami (B) Nani i

(C) Sister (D) Mausi

9T ATaTSt & Wr$ 1 Af F 3maeet w1 fgar gom ¢

(A) = (B) At

(€) =& (D)

Which teaching material is used to correct the language related errors in students ?
(A) Museum (B) Map

(C) Phonograph (D) Line diagram

HI-Tt freror grmft 1 Iu= BE Ay geet JfE gur § fh Smar 7 7
(A) HUEH (B) HMMH

(C) ®HETR (D) T@if==

Which activity is punishable under Section 112 — 183 of the ‘Motor Vehicle Act’ ?
(A) An accident or fast driving

(B) Things of an unsafe manner

(C) Using horn in peace (no horn) zone

(D) Driving without a license

“TTeT JEIehel T’ o UM 112 — 183 o d&d hiH-HI AR W U ol IO & 7
(A) TR gl A1 grsfam

(B) aeq3fi l 3 o ST

(C) =mf=d (A1 gH) & § g+ o1 =M

(D) o1 wIrg@@ & M T
(89) D
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Which is the largest planet of our solar system ? E;'%E'
E [
(A) Uranus

(B) Neptune
(C) Jupiter
(D) Saturn

TR HR AUSH 1 o9 91 U8 hH-91 8 7
(A) 3180
(B) =&ul

(C) JeEufd
(D) WA

Select the festival from the following, which is celebrated on new moon of the Kartika
month.

(A) Holi

(B) Diwali

(C) Dussehra

(D) Raksha Bandhan

frefeTiea o 9 39 @8R 1 FHW, S Hifdeh AT 1 STHEAT Sl FHRT 1T 2 | E%%
(A) et

(B) fearcft

(C) <=l

(D) &Y

90)
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IMPORTANT INSTRUCTIONS / wgwrqut frier
(Read carefully and comply / &R & U@ 3R UTeiH )

In Section II (Language-I), a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the Online Application Form.
QU 1 (AT1-1) § e 911 o T ol gt AT e & Fore wmen st = areff 3 91 % ®9 4 e teed w H R R

In Section III (Language-1I), a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the Online Application Form.
The Language-II will be different from Language-I.

WUg TIT (W1-1T) H S 9T o 31 ol BT Bl ST & 5T Ao ot = sneeff 3 sIi-11 3 9§ SAies 3teed o § fohar & | wmi-1 & smr-11 Rt 2t |

The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the OMR Answer Sheet. Your OMR
Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not Question Booklet Number.

sreefi giafyem =i i OMR o1 vie # feifta wom w sea-gfemem i i @ P s a8 9 2 | 37U OMR =R 31 i Gedich T9—Jfeieh HHih
IR T ook T9H-gfteent Hilis e Ud e shuTeh o 3MeR wR TR SR |

12.

Read complete instructions carefully and fill the details from SI. No. 1 to 9 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question Booklet. If you fail to fill the details
and sign as instructed, you will be personally responsible for the consequences arising during scanning of your OMR Answer Sheet.

it it pof w9 § e 9 3R A 1§ 9 7 OMR TEi e § U6 AT 1 6 4 T Te-qfeas (Fhcie) § faeron &1 W | afg 31 Tera wlek & fewor
W A1 BEATER A & dal OMR 3 sfie 1 ThiT 6 wereaed 84 aTel aiemd o ufd 31w Iwer 2 |

The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Question Booklet, only then the candidates will open the seal of the
Question Booklet. Check whether the Question Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in OMR Answer Sheet will be
as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.

ToA-GfTR & 96 T8 T 150 A & | 3wt few o ST R Swt & e -gfeaen <1 wfiel @ieh | 98 gifead o foh we-gieaen § 150 T & S R U T 39 e
B 90T & | OMR 31 ¥fie W firde e arvareff 1 Sl fop 731 SrT—oot 3 STgER Sifeh T B 0 S SeA-gfrht o St T o oft sifeha ferm gam 2 1

All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one mark. No marks will be deducted for
Wwrong answers.

i T FgfaeRetia SRR % € | TS TR 1 T fahed & T 2 | T W o T Tt o U R | et e o forg g e e i S |

There will be five options (A, B, C, D, E) for each question in the answer sheet but there will be four options A, B, C, D for each question in the question paper. Candidates have
to choose the correct option from these four options and mark the corresponding circle blue/black in the answer sheet. Once darkened, changes are not permitted. Modified
mark will not be accepted and the answer will be treated wrong. If a candidate does not want to answer a question, he/she should blue/black the circle of the fifth option E on
the answer sheet. If none of the five options given in the answer sheet is circled blue/black, 1/, of the marks for such question will be deducted. If a candidate does not mark
any of the five options in more than 10 percent of the total questions, he/she will be considered disqualified.

I TR | ek S o Te70 uie frehed (A, B, C, D, E) BT foheq Yo7 7 H Wi WA & 9N faehed A, B, C, D& | 31t st 3 =R forehedi & & Tl forehed w1 WA
ST H T et <hl el /I 1 8 | T SR T gY 1] o1 siae 1 AN 81 @ | 9Gel BT Fe Tiehr g1 g qe I TTed JH S | 3t sl e
o1 ST TE ST =&l 8, dl IR ofeh oh Uredl fehed E ol Tl et /el <t | Jfe I’ ek § fel 1o uie ferepedi § @ fomet o oft wivem et /et & foRe St &, W
S o T ST 37 1 1/, T Shier ST | A rwreff e AT o6 10 Sfowta & stferen et H ot et § @ i oft faeren JifeRa e 2, @ 39 ST TR SR |
Bubble of correct answer of the question should be darken completely as shown below :

T < Wl 3T o A I A FER I T

Wrong / Tedd ‘Wrong / TTed ‘Wrong / TTed Wrong / Tedd Correct / 9al

XBOO® || O@OO® || ®EOOD0 || @POD® || VBHO@®

All questions other than language questions of Sections II and III shall be bilingual.
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In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
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Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Question Booklet. Do not tear it off from the Question Booklet.
No additional paper shall be provided.
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Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument etc. is not allowed. Their use
will result in disqualification.
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OMR Answer Sheet will be provided along with Question Booklet separately.
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The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR Answer Sheet. The
Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to 4 entries correctly on the Question Booklet. After opening
the Question Booklet, ensure that any page/question is not missing/not printed/torn/repeated. In case, you find any defect anywhere in the Question Booklet, immediately
inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
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Write your Name, Exam Centre Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Booklet Number in the space provided in the
Question Booklet as well as in the OMR Answer Sheet.
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OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the OMR Answer Sheet, it may make
evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
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Warning Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of examination. No candidate should leave the examination hall before
the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s
Copy (Duplicate) so that the Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the Invigilator before
leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not allowed to be taken by the candidate.
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